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� �� ����������� ���
 

������
� 
���� ��� �
�����


���� 
��� �
 ��
� �� ���� 
�������

��� �����

� ���� �� � ����
� ������ ������
� �� ��������
 �
!�
��
 �� ������� ���
� ���� � ����


����
�	�� �
�� A� ����
� �� �����	
�� "�
 
�
�
��� �� A ��
 ����
� �
��
��� #�� ��� 
���

w ��
� ��
 ��	���
� A� �
���
 Alph(w) = B ⊆ A �� �
 ��
 ����
� �� �
��
�� �� A ����

��
 ��
� �� ���� ��
 
��� w� �� 
��� �����
�� �� w �� � 
��� ��
� A� ��
� Alph(w) = A
���
�� ���
�
��
 ���
��

����� ������ 	
��


� 
���
 ���� ��
� A �� �� 
�
�
�� �� ��
 ��

 ������ A∗� �
�
���
� ���� A �� ������
�

������ �� ��
 �
��
�� �� A ��� �� �
	�
�
��
� �� $����	������� �� �
��
�� ��� 
����� #��


���	�
� �� u = ����� ��� v = ��� ��
 ������
������ �� u ��� v �� uv = ��������� ��

������ �
 ���
� ���� ���� �	
������ �� ��� ����������
� �
����
 vu = ��������� %���

���
������ �� �� ����������
 �	
������ �
����
 (uv)w = u(vw) = uvw ��� ��� u, v, w ∈ A∗�

"�
 ��
����� 
�
�
�� ε �� A∗ �� ����
� ��
 
���� ����� ��� ��
 ��

 �
������	 ��
� A ��

�
��
� �� A+ = A∗ \ ε�

� ����
 
��� u ∈ A∗ ��� ��
 ���� u = a1a2 . . . an 
��� 
��� ai ∈ A ��� n ≥ 0� ���

��
 �
���� �� u �� ��
 ����
� �� ������� �� ��
 �
!�
��
 ��� �� �
���
� |u| = n ��� n = 0�

��
� u = ε ��� |u| = |ε| = 0 �

&
���
 ∼ �� �
 ��
 �
�
���� ��
������ �� A∗� '
� ε̃ = ε ��� ��� u = u1u2 . . . un ∈

(



A+ ��� �������� �� u �� ��	���� 
� ũ = un . . . u2u1� 
�� ������� �� u = ������ �	�

v = �������� ���	 ũ = ������ �	� ṽ = �������� � ���� u ∈ A∗ �� ���� �� 
�

� ����	
���� �� u = ũ� 
� ���	����	 ��� ���������� ε �� � ����	������ ��� ���� v �	

��� �������� ������� �� � ����	������ �� ��� ��� �	����� ����� 	�
�	� �������� �	�

��
�����
�� ������ �� ��� ���� �� ����	������ �

����� ������	 
��
�

� 
������ �	�	��� ���
 ���� A �� � ���� �� ������� �	 A �	����� 
� N� �	 �	�	��� ���� ���

��� ���� ω = ω0ω1ω2 . . . ���� ���� ωi ∈ A� ��� ��� �� ��� �	�	��� ����� ���� A �� ��	����

AN� �	� ��� A∞ = A∗ ∪ AN� � ���	�	��� ���
 �� � ���� �� ������� �	 A �	����� 
� Z �	�

��� ��� �� ��� 
��	�	��� ����� �� ��	���� AZ� !	 ���� �������� ��� �	�	��� ����� ���� 
�

��	������� �� 
� ����� �	�	��� ����� �	���� ��������� 	�����

� ���� ω ∈ AN �� ���� �� 
� �����
�� �� ������ p �� p �� ��� ����� �	����� �� ����

ωi = ωi+p ��� ���� i ∈ N� � ���� ω ∈ AN �� ���� �� 
� ���	������ �����
�� �� ������ p �� p

�� ��� ����� �	����� �� ���� ��� ���� N ∈ N� ωi = ωi+p ��� ���� i > N � !� ������ 
� 	����

���� ��� �������� ����� ��� ���	������ ��������� � ���� ω ∈ AN �� ���� �� 
� ������
�� ��

�� �� 	�� �������� �� ���	������ ���������

����� �������

� �	��� ���� x �� � ������ �� w ∈ A∞ �� w = uxv ��� ���� u ∈ A∗ �	� v ∈ A∞� ���

���� x �� � ������ � ����� �� ω �� u = ε� �	� �� ������ � ������ ����� �� ω �� v 
= ε� ���

���� x �� � ������ � ���� �� ω �� v = ε� �	� �� ������ � ������ ���� �� ω �� u 
= ε�


�� �	� ���� ω ∈ A∞� ���	� F(ω) �� 
� ��� ��� �� ��� ������� �� ω �	� Fω(n) �� 
�

��� ��� �� ��� ������� �� ω �� ��	��� n ����� |ω| ≥ n�

� ������ u �� � ���� ω �� ���� �� 
� ����� ������� ������ ���� ������� �	 ω �� ����� ���

�� ����� ��� �����	�� ������� a, b �� ���� ua �	� ub ������ au �	� bu ��� ���� ������� �� ω�

� ������ ���� �� 
��� ����� �	� ���� ������� �� ������ ����������

��� �	�	��� ���� ω ∈ AN �� ���� �� 
� �������	� �� ��� �	� ����� p �� ω ����� ������

� ����� q �� ω �� ���� q = pvp ��� ���� v ∈ A∗� �"������	���� � ���� ω �� �������	� ��

���� ������ �� ω ������ �	�	����� ����	 �	 ω� ��� ���� ω ∈ AN �� �	������� �������	� ��

���� ������ ������ �	�	����� ����	 ���� 
��	��� ����� ���� �� ω �� �	������� �������	��

��� ���� �	����� n > 0 ����� �� � �������� �	����� N �� ���� ��� ���� ������ v �� ω ����

|v| = N � Fω(n) ⊂ F(v)�

#



����� ����	
��
���	 �����

������� ��� 	����
� �� A �
� �

�
�
 ���� � 	����
 �

�
 <� ���� �		 ��� �	������ ��

A∗ ��� �� 	����
	� �

�
�
 �� ��� ��������	
��� ������ <� ��
 ��

� u, v ∈ A∗� ��

��� u < v �� ��
 ��	� �� �����
 u �� � �
���
 �
��� �� v �
 u = xau′ ��
 v = xbv′�

��
 x, u′, v′ ∈ A∗ ��
 a, b ∈ A ���� a < b� �� ��� �� �����	� �� ���� �

�
���� ���

	������
����� �

�
 �� ��� �

�
��� ���
 �� � 
�������
� �
 ����� ���� ���� ��� ���������

�

�
��� a < b < · · · < y < z �� ��� 	����
�� ��
 � ��
� ���	���� �����	� �����
�
 ���

���	��� ��

�

���� < ������� < ������,

���
� ��� 	�
��
 	����
� ���� ���
� ��� ��

 �� �
����
 ���� ��� �
������ ��

 �� ���

	����

���� �

�
��� ��� �� ����
�		� �����
�
 �� �	������ �� AN� ��� u, v ∈ AN� ���
�

u = u1u2 · · · ��
 v = v1v2 · · · � �� ��� u < v �� ��
 ��	� �� ���
� �� ���� i ≥ 0 �� ����

ui < vi ��
 uj = vj ��
 ���� 0 ≤ j < i�

����� �
�������� 
� 
 �
��

��������� |A| = 2� �
 A = {0, 1} �� � 
��	�� 	�
�	
��� �� ��� 
���� ������
 ���
�����

�� A∞�  ����� − �� �� ��� ���
������ �
��	���� �� A∞� ��� a 
����� ��� ���
������

�� a ∈ A� ���� �� 0 = 1 ��
 1 = 0� ��
 �����	�� �� u ∈ A∗ ���� u = 101001 ����

u = 010110� !� ω = ω1ω2ω3 · · · ∈ A∞� ��� ���
������ �� ω �� 
����
 �� �� ��� ��



�������
 �� ��� ����	����� �� ��� 	����
� �� ω� ���� �� ω = (ω1ω2ω3 · · · ) = ω1ω2ω3 · · · �
��
 � ��

 ω ∈ A∞ �� ��� ��� ��� �� �����
� �� ω �� ������ ����� ���
������	���� �� ��


���� u ∈ F(ω) ���� u ∈ F(ω)�

��� ������	
	

��� A ��
 B �� ��� ����� �	�������� " ��� ϕ : A∗ �→ B∗ �� ���� ϕ(uv) = ϕ(u)ϕ(v) ��


��� u, v ∈ A∗ �� ��		�
 � ���
���� �� A∗ ���� B∗� ��
 ϕ �� 
����
 �� ��� ����� �� ����

	����
 �� A� #��� ���� ϕ(ε) = ε�

������� ��� A = {a, f, s, t}� B = {a, e, f, i, r}� ��
 ϕ : A∗ �→ B∗ �� 
����
 ��

ϕ :

⎧

⎪

⎪

⎪

⎪

⎪

⎨

⎪

⎪

⎪

⎪

⎪

⎩

a �→ a

f �→ fer

s �→ rr

t �→ i.

$



���� �� ���� ϕ(����) = ��������

	 �������� �� A 
� � �
���
�� ��
� A∗ 
��
 A∗� ���
 ������ �� 	�
��������� 
�

A� 	 �
���
�� ϕ 
� ��
� �
 �� ����	�����
 
� ��� 
���� 
� ��� �
������� �
�� 
� �
�

������ 	�� �
���
��� �
���
��� 
� ��
� ����� �
�� �� �
��
����� �
 �� �
������
�� ������


�����
�� �
����

	 �
���
�� 
� A �
��� �
�
�� ���� 
� ��� 
������
 ���� d� ������ ��

d : a �→ aa

�
� ���� a ∈ A� ��� �
���
�� ��� �
�� �� �
������� �
�� 
� ����

� 5.3�

�� ����� 
� � �
�
�
�� 
������ N �
 ���� |ϕ(a)| = N �
� ���� a ∈ A� ���� ϕ 
� ������

�� N �������� ��������� ��� �
���
�� µT 
� A = {0, 1} ������ ��

µT :

⎧

⎨

⎩

0 �→ 01

1 �→ 10


� � ����
�
�� �
���
���

��� ���

� 
� � �
���
�� ϕ 
� A ��� ��������� �� �������� ��
� A∗ �
 AN�  
� ���

ω = ω0ω1ω2 . . . ∈ AN� �� ����� ϕ(ω) = ϕ(ω0)ϕ(ω1)ϕ(w2) . . . �� 
� ��� ���� �
� �
��� 
�

A∗� !� ��� ���� � �
�� ω 
� � ��	
 ����� 
� ��� �
���
�� ϕ 
� ϕ(ω) = ω�

��� n���	������ 
� � �
���
�� ϕ 
� �
�� a ∈ A 
� ���
��� ϕn(a) ��� 
� ������ ��

ϕ0(a) = a, ϕn(a) = ϕ(ϕn−1(a)) �
� n ≥ 1.

�� ϕ 
� � �
���
�� 
� A ��� 
� ϕ(a) = au �
� �
�� a ∈ A ��� u ∈ A+� ϕ 
� ��
� �
 ��

������
���	 
� a� �� ϕ 
� � �
���
�� 
� A ���� 
� ��
�
������ 
� �
�� a ∈ A� ���� ϕn(a)


� � ��
��� ����� 
� ϕn+1(a) �
� ���� n ∈ N� ��� �
�
� 
� ��� ��"����� {ϕn(a)}n∈N
�
��

�� ��� ��
"�� 
���
�� �
��

ω = lim
n→∞

ϕn(a) = ϕ∞(a) = auϕ(u)ϕ2(u) · · ·

����� ω 
� � ���� �

�� 
� ϕ� ��� �� ��� ���� ω 
� 
	�	���	
 �� ϕ� 	 �
���
�� ϕ 
� A 
�

��
� �
 �� ��������	 
� ����� 
� � �
�
�
�� 
������ k �
 ���� �
� ���� a ∈ A� ϕk(a) �
���
��

��� ��� ������� 
� A�

��� ���� ��	
��
���

��� ����� 
� �
��
���
�
�� 
� �
��� ���������� ��� �
 ��� 
�����
���

� 
� �
� �
�����

� �
�� ��� ��� ����� ���� ���� �
#����� ���� �
 ����� ��� �
�����
�� 
� � �
��� 	

$



������� ��� �	 
���� �
� �	�������� 	� � �	�
 ω �� �	 �	��� �
� ������ 	� 
�������

����	�� 	� ω 	� ���
 �����
� �
��
 �� ��	�� �� �
� ����	� �	�������� 	� � �	�
� ��������

� ������������	� 	� ����	� �	�������� ��
 �	 �	������ �
� ������ 	� �������� �	���������

���������� ����	��� �	������ �	�����
 �� [� ]� ��	�� �� �
� ������� �	�������� 	� � �	�
�

!�
�� ���� �	 ������� �
� �	�������� 	� � �	�
 
��� ���� 
����	��
 	��� �
� ������

��
 ���� �������	�� ������� 	� �	�
� 
��� ���� ��������
 ����� 
�"����� 
������	�� 	�

�	��������� #
� $������� �	�
� 
��� ���� ��������
 �� �
� �	�
� 
����� ������� ����	�

�	�������� ���
	�� ����� ����	
��� ��� �
�� ���	 
��� ������� ������� �	���������

% �	��	� ������	� �	� ��� �	��	� 	� �	�������� �� �	 ��
 �
� �	�������� 	� �	��

�������	�� �	�
�� &	� ������� � �����������	� 	� $������� �	�
� 
�� ���� ����� ��

�����
�	��� �	��������� ����	
���
 �� '�	���� ��
 (�����	 �� [)*]� &	� �� ������� �	�


ω� ��� hω(n) �� �
� ������ 	� �����
�	��� ����	�� 	� �����
 n 	� ω�

������� ��	�
 +[)*], ��� ω �� �� ������� 	
��
 ���� ω �� �������� �� ��� 
��� ��

hω(n) =

⎧

⎨

⎩

1 �� n �� ����

2 
����	���

-� �
�� �����	� �� ��� �	������
 ���
 �	�� 
�"����� 
������	�� 	� �	�
 �	���������

-� $����	� 2.3.1 �� ������� �	�� ���
������� ������� 	� ���
��� �� ����	� �	���������

$	�� 	� �
� �������
 	� �
�� ���
	� 
�� ���� �	������
 ���
 ������� �	�������� ��


������� �	��������� �	 �
��� ����� 	� �	�������� ��� �	���
���
 �� $����	�� 2.3.2 ��


2.3.3� ������������� (��������	� �	�������� �� ���� 	�� 	� �
�� �����	�� ��� �� �����������


�� .
����� 5�

����� ����	
 �	�
������

&	� � �	�
 ω ∈ A∞� ������ ��	� $����	� 2.1.3� F(ω) �� �
� ��� 	� ��� ����	�� 	� � �	�
 ω�

��
 Fω(n) �� �
� ��� 	� ��� ����	�� 	� ω 	� �����
 n� �
��� |ω| ≥ n� /� ��� �	� ���
� �	


���� �
� �	��	� 	� ����	� �	��������� '���� �
� ������	� ρω ��

ρω(n) = |Fω(n)| .

#
� ������	� ρω : N �→ N �� �����
 �
� ����
� �
�������� ������
�� 	� ���	
�� �
��������

������
�� 	� ω ��
 �� �	���� �
� ������ 	� 
������� ����	�� 	� ω �	� ���
 �����
�

% ������� �����������	� ��
 �	 �
� �	������ �	��
� 	� ����	� �	�������� �	� �	�
��

0���� �	�� �� �
� ���� 	� ����	� �	�������� +��� [)1, 1*], �
����������
 �
� ��������� +�����

���
� �������, �	�
� ���
 �	��
�
 ����	� �	�������� �� �
� ����	
�� +����� ����������

����	
��, �	�
��

2



����������� 	
�
	 [��] �� ������� ��	
 x ∈ AN �� �����
���� ��	��
�� �� ��
 ���� ��

ρx(n) ≤ n ��	 ���� n ≥ 1� � ��������� ��	
 y ∈ AZ �� ��	��
�� �� ��
 ���� �� ρy(n) ≤ n

��	 ���� n ≥ 1�

��������� 	��
��
� 
�� ������
��� 	��
��
� ����� �
�� ������� �
���� ���	���
��� ��� 


���� ω ∈ AN� ����� |A| = k� ��� �
�
�
� �
��� ��� ��� �
���� ���	���
�� ��� 
 ������ n

�
�� �� kn� ���� ��� 
� 
	��
��
� 
���
�� ���� ω� ��� ������ ��� �
���� ���	���
�� 
��

n + 1 ≤ ρω(n) ≤ kn

��� 
�� n ≥ 1�

��� ����
���
�
�� �� �
���� ���	���
�� 
�� ����� �
�� �
�
�
� �
���� ���	���
���
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���� ������� �� B(k, n) 
� ��� ��
(��� ��� �� !��
"� ������ �
�� �� �
������� ������� 
�

����
�� 2.4.1�  � 
���
�� ���� ���� A �
�� �
�
�
� �
���� ���	���
�� �
� �� ���
���

�� ����
���
�
�� 
�� ����� �� ������ n� ��� �
�� n ≥ 1� ��� ��
�	��� ��� �
�
�� ����

C = 01 00011011 000001010011100101110111 · · ·

����

�� 
�� �
�
�� ����� �� ������ n 
� 
 �
����� 
�� ���� ρC(n) = 2n ��� �
�� n ≥ 1�

 	��
��
� ����� �
�� �
�
�
� �
���� ���	���
�� 
�� ��� ��
	���� ��	
�� ���� ����
��


� [�)]� �
�
�� n + 1 �
��
��� �
����� �� ������ n� ��� �
�� n ≥ 1� �
��� �� ���� ��
�

�����

� ����� 
�� �
�
�� ����� �
��� ���� �
�� & �
��
��� �
����� �� ������ �� ���� ���
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�,� ���� ���� A� �
�� |A| = k�

�/



��� k ������� �� 	
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��
 �������� 
� A = {0, 1, 2} ��� u = 0102010 ∈ A∗ ���� Ψ(u) = (4, 2, 1).
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 ���� ����
 i ∈ A� Vi = 0� ��
� ���	� ��	 ��

�� �����
�

������ 	��� ����
��

�� �	� �������
�� �����
� �� ��� ���� ������ �� � 	�
� ω� �����

����
���
��� �

����� 
���� ��� �����	
�� �����

���� ����� "[#$]% �
 �� �����
� ���� ω ��� 
�� 
�	
��� � ��� � �
 ���� ����
� � 
�� ���	�


�� i�
� ��
�� �
 
�� ������ ��	
�� ��� p ��� p+ c �����	
����� 
�� ���� p ��� c > 0� 
���


�� ��� l = 0, . . . , c� 
���� ����
 
�	
��� ul �
 ω ����� i�
� ��
�� �� p + l�

&�
�� ��� �����
�� �
�� ���� 2.3.3� 
� ������ �� ����
 ���� ρab
ω (n) ≥ c + 1� ��
 ��


���
�� 	�
� ω ∈ AN 
� 
� ��
� ���� ω 
� �������	�� "	��
� C 
� � ���
�
�� 
�����
% 
� ��


��� �����
� u ��� v 	
�� |u| = |v|� ||u|a − |v|a| ≤ C ��
 ���� a ∈ A� �� ������ �� ����
 ����

� � 	�
� 
� C'�������� ���� 
� 
� (C + 1)'��������� �� � 	�
� ω 
� ('��������� 	� ���

���� ��� 	�
� ω 
� �����	��� )� 
�
�
�� �
�� ���	��� C'������� ��� ����
�� �������
��

��� �� ���� 
� ��� ���� ������

�	

� ����� "[#$]% ��� � ���� ω ∈ AZ ∪ AN� 
�� ������� 	�������
� 
��	
��� ρab
ω ��

������� �
 ��� ���� �
 ω �� C������	�� 
�� ���� ����
��� ��
���� C�

�
��� �� ρab
ω 
� ������� �� ���� K� ���� 
� 
� ���� �� ��� ω 
� (K − 1)'��������� *��'

��
����� 
� ω 
� C'�������� ���� ��
 ��� ���
�
�� 
�����
 n ��� ��

�� �����
� �� �����
� ��

������ n ��� ���� �� �� ���� C + 1 �
��
��� ������� ���� ρab
ω (n) ≤ (C + 1)|A|�

) ����
�� +����
�� 	
�� 
���
�� �� ����
�� �������
�� �� � 	�
� ω 
�� 	��� �
� ���

���
��� ��� �
�
��� ������ ��
 ��� ����
�� �������
�� �� ω, -
�
��� ������ ��
 ����
��

�������
�� �
� ���
���� �� ��

��
� 	�
���

�	

� ����� "[(.]� /���
� #�$0%  �
 ω ∈ AN ∪ AZ� !��� ω �� �������	 �
 ������ p �


��� ���� �
 ρab
ω (p) = 1�

(1



��� ������� 	��
�� �
 �����	�� �
 Ψω(n) ��	 
� ���������� ���� �������� �����
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����� ��� ������� ���� �
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����	 �����������

��� �
����	 ���������� �
 ��� �����*���� ���� ��� ���� 
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ρab
ω (n) =

⎧

⎨

⎩

2 ��� n ���

3 ��� n 
= 0 ����
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ω = 0
∏

i≥0

13i
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= 010111000 · · · .
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�

����
���� �� � ����� �	��������

�����
�� �� ��� 
��	�� �� ��	
���� ��
�� ������ �������� ������� ����������� ,�

-�	.� ����� �� ���
� ������� �� ������� ��
� ω �� ���� ρab
ω (n) = 3 ��
 ��� n ≥ 0  [&/]!�

�� ����
��� �� �� �������� �� �
���� � ��
� ���� �������� ������� ����������� 0�
 �������

 ��� ["#]!� ��� k ≥ 3� ��� ��� s �� � ��	
���� ��
� �� ��� �������� {0, 1}� ���� ��� ��
�

ω′ = (k − 1)(k − 2) . . . 2s ���� ���� ρab
ω′(n) = k ��
 ��� n ≥ 1� ��� ���� ���
� k = 3 �����

�� �����
 �� -�	.�1� %	������� �	� �� �� � �
����� �����
 ����� ω′ �� ��� 
��	

���� *�

������� �� �� ������� 
��	

��� ��
� ω ���� ρab
ω = 3 �� � ��
� ω� ���
� ω �� ��� �����

�� � ��	
���� ��
� s �� {a, b} 	���
 ��� ��
����� ϕ ���
� ϕ(a) = 012 ��� ϕ(b) = 021�

 ["#]!� �� ��� 
������� ���� �����  ��� [)"]! ���� ��
 k ≥ 4� ���
� �� �� 
��	

��� ��
�

���
 � k �����
 �������� ���� �������� ������� �����������

)"



����� ������	 
��
������

��� ���� �� 	�
�	�� ��

��� ��	���
�
� ��� ��
������� �� �� ��	�� � [��]�� ��� �	

���


�������
� ���

��� �� ������ 	� �������� ��
 k �� 	 ����
��� ��
����� � ��������� P �� 	

������
� �� k ��
����� ��
�

0 = P0 < P1 < · · · < Pk−1

� (k +1) �	

��� P ′ �� 
	���� 	� 	

��	��� �����
	�� �� 	 k �	

��� P �� P ′(i) = P (i) ���

0 ≤ i ≤ (k − 1)! 	�� �� 
	�� 
��� P 	� 	

��	��� ��
��	��	�� �� P ′�

"�� ��
 ω �� 	� �����
� ���� ���� 
�� ���
� 	���	��
 A� #�� �	
� k �	

��� P �����

Fω(P ) =
{

ωn+P0ωn+P1 · · ·ωn+Pk−1
| n ≥ 0

}

	�� ��
 p∗ω �� ������ 	�

p∗ω(k) = sup
P

|Fω(P )|

����� 
�� �������� �� 
	$�� ���� 	�� k �	

���� P � ��� ���

��� p∗ω : N �→ N �� 
	���� 
��


��	
�� ������� ��
����	�� �����	��� � k �	

��� P ���� ����	� p∗ω(k) �� |Fω(P )| = p∗ω(k)�

��� �	���	� �	��� ��� 
�� �	

��� 
�������
� �� 	 k �	

��� ���� �� |A|k! ���
� ��� �	
�

�� 
�� k ������� 
���� 	�� |A| �������� ��

��� 
� 
����� ����� ���� ��� 	� �����
� ����

ω ���� A! �� �	�� p∗ω(k) ≤ |A|k

%	���	� �	

��� 
�������
� 
	� �� ���� 
� 
�	�	

���&� ����
�	��� �������
 �����
�

������

������� ��	�
 '[��]� �� 	���	�� ���� ω 	
 ���������� ���	��	� 	� ��� ���� 	� ��� 
�
�

n� p∗ω(n) ≤ 2n − 1�

��� 
�	�� �� �����
� ����� �	���� �	���	� �	

��� 
�������
� p∗ω(k) = 2k 	�� 
	����

������� ����
	�� ����
� "�
� 
�	
 	 �	

��� (
����	� ���� ω ���
 �� ���	��! ���
�

p∗ω(1) = 2�

)� [��]! �
 �� ����� 
�	
 ��� 	�� ���	
���	� 0 < α < 1! 	�� ��
���	� I ⊂ [0, 1] ��
�

0 < |I| < 1 	�� 	�� x ∈ [0, 1)! 
�� ���� ω = R(α, I, x, Z) ������ ��

ω(n) =

⎧

⎨

⎩

0 x + nα ∈ I'��� Z)

1 �
�������

�� 	 �	

��� (
����	� ����� ���� ����� (
����	� ���� �� �	

��� (
����	� ' [��]�! ��


�� |I| /∈ {α, 1 − α} 
��� ω �� ��
 (
����	��

)� [�*] 	� ��
����
��� ������
� �� ����� �� 
�� ��
 I ������ 	���� �� ��
 	� ��
���	�

��
 �� 	 �	�
�
��	� 
����� ��
�

+*



������� ��	�
 �[��]� ��� ��� ���������	 �������� α
 ����� �
���� � �	���� ��� S �� [0, 1)

�� ���� p∗ω(k) = 2k
 k ≥ 1
 ��� �	���� �		 x ∈ [0, 1) ���� ω = R(α, S, x, Z)

��� �	
�	� 	� 
�

��� �	�
����
� ��� �� ��
������ ��
����� 
	 ������� 
�

��� �	��


����
�� �	� � k�
�

��� P ��� �� �����
� �	�� ω �� �	������ 
�� ��


{

Ψ(ωn+P0ωn+P1 · · ·ωn+Pk−1
) | n ≥ 0

}

,


�� ��
 	� ������  ��
	�� 	� 
�� 
�

��� �	���� ���� �	��
��! 
�� ��"� 	� 
��� ��
 ����

!� � 
�� ��
���	 ���	��� ������� ����	�
���� #������ ������� 
�

��� �	�
����
� ���� ��

��������� ���
��� �� $��
�	� 4.1�

��� ���� ��		
���
� �����

#��� �������	�� �	��� �� � ���� �
����� ��
���� ���� %��� � ��� �	
�	� 	� ���� 	�

�	�����
	���� 	� �	��� �� ��
�	�����& � ���
 �
�
 �� 
	 ��� ���
 ��

��� ��
� �	�� 	� 
��

�������	�� �	���� �	� ����
�� �� � ��� 
�
� 	� �	�
����
� �� ��
�	�����& �	�� �
 ��������

�	�� 	� 
�� �������	�� �	���& 	� ����� � ��� ����� 	� �	���' #���� � ��� ������ 	�

�	�
����� �	�� �	��
���! ��
����
��! 
	 � ����� 	� �	����

(�
�����! �	�� 	� 
�� �	
�	�� 	� ������� ���
	� �	�
����
� ��� 
	 
�� ����	 ���

	� 	
��� ������� 	� �	���& ������ 
�� )��	���*��"� �	��� �	� �
���
 �
��
������� ���


�� �
��
������ �	���� ����� ������� 	� �	��� ���� �� ��������� �� �	�� ��
��� �� 
��

�	��	���! ���
�	��� ����
 �� ���� �		� �
 �	�� �������	�� ���
� �	��� ��� 
��� �	������

�����
� �	����

����� �����	 
��
�

��� ���
 
�
� 	� ���
� �	��� 
	 ������� ��� 
�� ������ ������ ���� �	
�
�	� ��� 
�����

�	�	!� ��� �� �	��� �� [�+]

) �	�� �� ��������� �� �
 �� �	
 � 
	��� 	� ��	
��� �	��� ���� �� x �� 
����
� � ���

x = zn �	� z ∈ A∗& 
��� n = 1 ��� x = z� ��� ���
� �	��� x, y ∈ A∗ ��� ���� 
	 ��

��������� �� 
���� ����
 �	��� u, v ∈ A∗ �	 
��


x = uv y = vu

) ���	�� ����������� �� � ��
 σ �	 
��
 �� a ∈ A ��� v ∈ A∗& 
��� σ(av) = va� ���� 
�	

�	��� x ��� y ��� �	�,�!�
� �� 
���� �� �	�� n �	 
��
 σn(x) = y� -	�,�!��� ������ ��

�.�� ������ ����
�	� 	� A∗& ����� 
�	 �	��� ��� �.�� ����
 �� 
��� ��� �	�,�!�
��

/� �� ����� �� 	���� 	� 
�� ��
����
 A = {0, 1, . . . , k−1}& ������ 0 < 1 < · · · < k−1&

�� ��� ��� �����	!��
����� 	������! 	� 
�� ������
� 	� A∗� ��� ������ ����� ��� 
��������

01



��� ��� �� ���	� ��
�� ��� 

�

�� 
� ���
� ��������� ������ �� l 
� � ���	�� ���	 
� ���

���� 1 ≤ n ≤ |l| − 1 ���� l < σn(l)� �� ���
������ ��� �� 	���� ���	�� ���	� 
� ����

� ���	 l 
� � ���	�� ���	 
� ��	 ���� 
� ��� ��� ������
���
�� l = uv� �
�� ���� u ��	 v

�����
���� ���� l < v� ���� l 
� ���� ���� ��� �� 
�� ������ �� !��� "� ��
� 	���
�
��

���	�� ���	� 
��� �� ��


�
�� ���	�� �� ���� 
� l = xx ���� ��!
�������
����� x < l

��	 l 
� ��� � ���	�� ���	� ��� ���� ��� ���	�� ���	� �� ��� �������� A = {0, 1}
�
�� 0 < 1 ���# 0, 1, 01, 001, 011, 0001, 0011, 0111, · · · � ��� ������� ���
��� ��� Lk(n)� ���

��
��� �� ���	�� ���	� �� ������ n �� �� �������� �
�� k �������� 
�

Lk(n) =
1

n

∑

d|n

µ
(n

d

)

kd.

��� ��
 
� ��$�� ���� ��� d ��
�� 	
�
	� n ��	 µ(m) 
� ��� %&�
�� �����
��� ��
�� 
�

	����	 �� �� ' 
� m 
� � ����������� ���
�
�� 
������ �
�� �� ���� ��
��� �� 	
��
��� ��

�

�������� ( 
� m 
� ��� ������������ ��	 �' ������
���

������� �����$���� ����� �� ��
�� ���	� ��� ��� �� ������ 	
	���� ��� 	� "��
��

������� B(k, n)� ��� ��� 

�

�� ������ ����
� ���	� �� �����
� ��� kn 	
��
��� ���	� ��

������ n )[*+, *,]-� ��� ������ �� � 	� "��
�� ����� B(k, n) 
� kn ��	 ���� ���	 �� ������

n ������� ���� �� � ������� ����� ��� � ����� �� k−n(k!)nk−1
���� ������� �� B(k, n) 
�

��� ��
���� ��� ���������
�� ��	 ���
����
�� �� ���� ���	� ���� � �
���� �������� ���

���� ��
�����	 �� .�
����%��
� [*,]� ��	 ��� �!����
�� �� � ������� k������� �������� 
�

�����	 ��	 �����	 �� ��� ���	�����/�������� ��	 	� "��
�� 
� [*+]� ��� ������� �� ������

n �� � ����
� ���	 B(k, n) = b1b2 . . . bkn ��� �� ��� ���
 bibi+1 . . . bi+n−1 ��� i ≤ kn −n + 1

�� bibi+1 . . . bknb1 . . . bi−kn+n−1 ��� kn − n + 1 < i� 0�� �!�
���� 
� 
� ���	
�� ���
��	 ����

��� ���	�

B(3, 3) = 000111222012022110021210102

B(2, 5) = 00000100011001010011101011011111

�����
� ��� ���	�� �� ���
� �������
�� �������� �� ������� �!����� �����

��� ��!� ��� �� ��
�� ���	� �� ����
	�� ��� ��� 
������� ������ ��
�� ��� ���	 ��

��������� ��� ��������	 
������� ������	��� 
� �������
�� �� � ���������� �� 0����$�� )���

['1]-� � ��
�
�����
�� ����
�� �� ��� ���������� )���
 [23]- ��� �� ���	 ��#

��������	� 
���
 )0����$��- 
�� � k ������ �������� {1, 2, . . . , k} ���� k ≥ 3� �����

�� � ������ �����	�� ����� �� �� ������ ������������ ��� ������� ���� ��� ������	� ������

�������	����

��
� ���	 
� �����	 
��������� ������	� ��	 
� ��
���� �� (Fk)
∞� ����� ��� 
������� �����

��� ��� Fk ��	 ��� 	����	 ������
���� �� F1 = 1 ��	 Fn = Fn−1nFn−1 ��� n ≥ 2� 0����$��4�

���������� ��� ���� ���
��	 ��� �� �������� �� �
�� �� �� + ) [*, +, ,,]-�

'+



��� ���� ����	
���� ���

 �� ����� ����
 �� �� ��
��

�� ���� ��� ��� ����� ��������

����
� ��� 
�� �� ����� �������� ����
 �
 ��� 
�� �� ��� �������� ����� ������ ����
�

��� ������� ��� ���� ������ �
 � ����� �������� ����� ����� ��� ���� ������ �
 ��� �

����� �������� ���� ��� �� �� ��������� �� ��� ������
 ��� ��� ���� ������� ���������

��� ��� ����� �������� ����
 �
� � ���� u �
 � ����� �������� ���� �� ��� ���� �� �� �
 �

������ �� 
���  �������! �������� ���� s�

����� �����	
� �
���

�� ������� ���� s �
 � �������� 	
�� �� ��� ���� n ≥ 0� s ��
 ������� n+1 ��
����� ������


�� ���"�� n� �� ρs(n) = n + 1  ��� ���� ������ �� ���"�� n = 0 ����" ��� �����	����!�

���
 
���� ρs(1) = 2� �� 
����� �� ����� ���� �������� ����
 ��� ������ ����
�

������� �� ������� �� � �������� ���� �
 ��� ��

����� 	
��� t� �����

t = 01001010010010100101 . . .

��� ��������� ���� ��� �� ���
������� �� � ������ �� ���
� #�� ��� �� ���
����� t

�
 �� ��������� �� ��� ������
� τ : 0 �→ 01; 1 �→ 0� ���
 t = τ∞(0)� ��� t �
 � ����

����� �� τ � $
 �
 "��� �� ���� ���� ��� ���� n ≥ 0 �� ��%� τn(0) �
 � ����� �� t� ���
�

����� ���������
 �� τ ��� ������ ��� ����� ��

����� 	
���� fn = τn(0)� ��� ������
� τ

�
 ������ ��� ��������� ������
� �����
� ��� ���� n ≥ 0 ��� ���"�� �� fn = τn(0) �
 ���

n	�� ��������� ������� ���
 ���� ��� ��
� �� ������ �����
�%���� fn+2 = fn+1fn �����

fn−1 = 1 ��� f0 = 0� &�� ������� ��� �� %��� ��� ��������� ���� �
 �
 � ����������

����  ������ �����! ���� ���������� 
���� α = 1/φ2� ����� φ = (1 +
√

5)/2 �
 ��� "�����

������

�
 
����� ���%�� ����� ��� ���� �'��%����� ���������
 ��� ��� ���

 �� �������� ����
�

(����� 
��� �'��%����� ���������
 ��� "�%��� ���)
 ���
 �� ����
 ������� "������������ ��

�� ���������� 
����� ���
� ��
��������
 ��%� ���� "�%�� ���� ����
 �� ��� ����������  
���

��"� [*+]� ,������ *!�

-�%�� ��� ���� ������
 α ��� ρ ���� 0 ≤ α ≤ 1� ����� ��� ����
 sα,ρ ��� s′α,ρ ��

sα,ρ(n) = ⌊α(n + 1) + ρ⌋ − ⌊αn + ρ⌋
s′α,ρ(n) = ⌈α(n + 1) + ρ⌉ − ⌈αn + ρ⌉

��� ���� n ≥ 0� ��� 
��������� �� ��� �

��� 0 ≤ ρ < 1 �� 0 < ρ ≤ 1� $� �
 �������

%������ ���� ��� ����
 sα,ρ ��� s′α,ρ ��� �%�� ��� �������� A = {0, 1}� ��� ���� sα,ρ �


������ ��� �
	�� ���������� 	
��� s′α,ρ �
 ��� ����� ���������� 	
��� ���� 
���� α ���

��������� ρ� $� 
����� �� ����� ���� s0,ρ = s′0,ρ = 0∞ ��� s1,ρ = s′1,ρ = 1∞� 
� �� ����

�+



������ ���� 0 < α < 1 ��	��� 
�����
�� �
���� ��� �
��
�

� 
� 0 < α < 1 
� �
�� 
�

� �
��	
����

�� �� �� 	�� α > 0 ���� �� �
�	� ���� ⌊α⌋ ≤ sα,ρ(n) ≤ 1 + ⌊α⌋� ��� sα,ρ

�
�	� �� � �
���� �
�� 
��� ��� �	������ A = {⌊α⌋ , 1 + ⌊α⌋}�
� ������
��	 �
�� 
� ��
� �
 �� ���������� 
� �������� ���
��
�� �
 
� 
�� �	
�� 
�


����

��	 
� ���

��	� ���� αn + ρ 
� �
� �� 
������ �� ���� 1 + ⌊αn + ρ⌋ = ⌈αn + ρ⌉�
�
 sα,ρ = s′α,ρ ������ ���� αn + ρ 
� �� 
������� ���� 
� α 
� 
����

��	� αn + ρ ��� �� ��


������ �� �
�� 
��� �
 sα,ρ ��� s′α,ρ ��� �
��� �� �� �
�� 
�� ����
� 
� 	����� �� �� α 
�

���

��	� ��� α = q/p �
� q, p ∈ N �
�� p 
= 0� 
� 
� ���� �
 ��� sα,ρ 
� ���

�
� 
� ���

� p�

 
 �
� ���� n �� ����

s q
p
,ρ(n + p) =

⌊

q

p
(n + 1 + p) + ρ

⌋

−
⌊

q

p
(n + p) + ρ

⌋

=

⌊

q +
q

p
(n + 1) + ρ

⌋

−
⌊

q +
q

p
(n) + ρ

⌋

=

⌊

q

p
(n + 1) + ρ

⌋

−
⌊

q

p
n + ρ

⌋

= s q
p
,ρ(n)

��� ���� ����� 0 < α < 1 ��� ρ = 0 
� �

�� �
 �
�� �� ���
�� �
 	��!� �
�� ����

���� �
�� �� ��
� ���� �� ���� sα,0(0) = ⌊α⌋ = 0 ��� s′α,0(0) = ⌈α⌉ = 1� ��� 
� α 
�


����

��	 "���� αn 
� 
����

��	 �
� �		 n ≥ 1# �� ���

sα,0 = 0cα, s′α,0 = 1cα

�� 
� �	�
 ��	���	 �
 �
�
��

sα,α = cα, s′α,α = cα

����� cα 
� ��		�� ��� �	�����
������ ��
����� ���� �
�� �	
�� α� $��������
��
� �
���

�
		 �� �
������� �
�� 	�����
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���� ��
���
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� s �
 �� ������
 ����� �	
 ��������� ��
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���

�� s �� ��
������

�� s �� ������
� ��� ��
�������

�� s �� ���������� �
�	�������

���� ��� �	��� 
�  ����
�� �
��� �
�����
��� �
 ��� �
��� ��������� �� 
����

��	 ��+

����
��	 �
���� �� 
�������
�� �

�� 
� ���� ����� ��� ���
�����	� ���� �
��
���  ����
��

�
��� ��� �
 ���
�����	� ���� 
����

��	 ������� 
� ��� 
������	 [0, 1]� � �
�� 
� ��
�
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�� �� � ����� ����	�
� ���
 �� �� �� � ��	��
 �� ���� ��

���� ��
�� ��
�� �� ������ ��

��� ��� �� ��	���� 2.4.1� ��� ��� �� ����� ��

���� ��
�� �� ��� ���

{u ∈ {0, 1}∗| u �� �����	��}

��� ��

���� ��
�� 	������
�� �� ���� �
����� ���� �� ������� ��

���� ��
��� 
�����

����
���� ������

���
� ���� ������ � 
������� ������� ��� ����� �� � ��

���� ��
� ��� ��� �
��
��	�

�� ��� �����
� �� ��� ��
�� ��	��� �
�� ��	���� 2.3.2 ���� ��� �
��
��	� �� ��� �����
 a ��

� ����� ��
� �� ��� �
���
 �� �		


��	�� �� a ������� �� ��� ������ �� ��� ��
�� �� ���

	��� �� �� ������� ��
� ω� ��� �
��
��	� �� ��� �����
 a �� ��� �����  �� ��� ����� ������! ��

��� �
��
��	� �� a �� ��� �
����� �� ω� "�� s �� � ����
 ��	����	�� ��
� ���
 {0, 1} ����

�

������� ����� α ��� ����
	��� ρ� ���� ��
 ��	� m ≥ 1 ���
� ������ �� nm ∈ N ���
�

0 ≤ nm ≤ m − 1 �� ����
nm

m
< α <

nm + 1

m

��
� ��
 ��	� m� ��� ��	��
 u �� s ���
� |u| = m �� #���

⌊nm

m
m + ρ

⌋

≤ |u|1 ≤
⌊

nm + 1

m
m + ρ

⌋

nm ≤ |u|1 ≤ nm + 1

��
� ��� �
��
��	� �� ��� �����
 $ �� s ���� �� ��
���� �� nm

m
��� nm+1

m
� �� �� 
������

��
���� ���� ��� ���
��	�� (nm

m
)m∈N ��� (nm+1

m
)m∈N ���� ���� ����� �� α� ��� ��
� ���

�
��
��	� �� ��� �����
 $ �� s ���� �� α� ��� �
��
��	� �� ��� �����
 % �� s ���� ���� ��

1 − α�

&�	����	�� ��
�� 	�� �� ����
�
���� ����
 ����� '�
 ��(�
��� �����	������ �� ��
���

��(�
��� ����
�
�������� ��� �� ��
� 
���
�� ���� �
�� ����
������ ����
�
������� ���� ��

��������� ����� �� ��	���� 4.2.1� ��� 	�� �� ��
�� �� [)*]� '�
 ���� �� ���� 	������
 ���

���� y = βx + ρ ���� β > 0 ��� ��� ρ ∈ R� ��� ���� �� ����
 
���
�	����� �� β ��� ρ�

���� ���� ���� ���� ����� � ���
��	� �� ������ Q0, Q1, . . . ���
� ��� ���� ����
��	�� ���

����� �� ��� �
�� �� ���+�������� ������
 ������� ��
� �� �� ��� Qn = (xn, yn) ��
 ��	�

n ≥ 0 �� ���� x0 < x1 < · · · � y0 < y1 < · · · � ��� �� ����� ��� �� xn �
 yn �� ������
�

,� 	��� Qn ��������
� �� yn �� �� ������
� ��� ������
� �� xn �� �� ������
� �� ���� xn ���

yn �
� ������
� �� 	
���� �� ���������� ����� Qn−1 ����
� Qn ��� ��� Qn−1 �� ��
�-�����

��� Qn �� ��
��	��  �� 	�
�� ��� Qn−1 �� ��
��	�� ��� Qn �� ��
�-������ �
� ��
�� ������


�� ��� ���� 	���	�!� ��� ���� 
����� �� ���� �����
 ���� ���
 ���� xn ��� yn �
� ����

������
��

�� �� ����	���� � % �� ��	� ��
��	�� ����� ��� � $ �� ��	� ��
�-����� ����� �� ���

��� ��
� Kβ,ρ 	����� ��� ������� ������� �������� ���� ����� β ��� ����
	��� ρ� &�
�

)%



��������� 	� 
��� Qn �

����	
 	�
 ����	 In = (un, vn) ��
�
�

(un, vn) =

⎧

⎨

⎩

(⌈xn⌉ , yn − 1) �� Qn �
 �������	��

(xn, ⌊yn⌋) �� Qn �
 �
�	����

��
 In ����	
 ��
 �
��� ��

�� �
��� ��� 	� 	�
 ����	� �� Qn �� Qn �
 �
�	���� ��

��

�������	���� ������� ����	
 Jn ��� �
 �
��
� 	� 	�
 �
�	 ��

�� ����
 ��� 	� 	�
 �
�	� ��

Qn �� Qn �
 �������	�� ��

�� �
�	����� 	� �
��
 	�
 ���
� ��		��� 

��
��
 K ′
β,ρ�  	 �


�
����� �
���
� 	��	 un + vn = n ��� 
��� n ≥ 0� ��� 	�
 ��		��� 

��
��
 Kβ,ρ �
 �
��
�

���

Kβ,ρ(n) = vn+1 − vn = 1 + un − un+1

!
 ��	� 	�
 �
�������� ����
� 	�
 ���
� ��� ���
� ��		��� ����
 ���� ���� ��"
�

��
�
 βn + ρ �
 �� ��	
�
�� #
	$
 ���% �	 	�
 
�
���� ��

 ��
�
 ρ = 0 ��� β �
 ����	������

��� �
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	 �����	
 ����
 ��
�
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� �
 ��"
�
�	� ���
 �
 ���
 	�
 ���� Cβ

��
�


Kβ,0 = 0Cβ, K ′
β,0 = 1Cβ

��� Cβ �
 
������ 	� � ������	
��
	�� ���� ��� �
�������� ����
� &�		��� 

��
��

 ��


�
��	
� 	� �
�������� ����
 �sα,ρ� �� 	�
 ��������� ��
�	�	��

Kβ,ρ = s β
1+β

, ρ
1+β

���
 �	�
� ��	
���
	�	���
 �� �
�������� ����
 ��� �
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��� 	��	 �
�������� ����
 ��� �
 �
����
� �� ������ 	�
 ����	 �� � ����	 ��

	�
 �����
 �� �������
�
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���� 	� ��
 ���
� � 
���	 �� ����
 0 < α < 1� ��
�
 	�
 �����


�
 ���	�	���
� ��	� 	�� ��	
����
 �� 
��
 α ��� 1−α� �	������ ����
 ���
 ��
� �

� 
����

	� �
 �
��


�	
� �� ������ 
����
 �������� ����
 �
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-�� �
	$
 ���
��
� 
��
 ����
�	�

 �� 	�
 ���	��
 �� �	������ ����
�

����������� 	
�
� �[.,]� ��� ��� F(s) �� ��	��
� �� � ���

��� ��
� s �� 	����� ����



���
����

����������� 	
�
� �[.,]� ��� s ��� t �� ���

��� ��
���

�� �� s ��� t ���� ��� ��
� ������ ���� F(s) = F(t)�

�� �� s ��� t ���� ������	� ������� ���� F(s) ∩ F(t) �� ������

���
 ��� 	�� �	������ ����
 sα,ρ ��� sα,ρ′ � �
 %��� F(sα,ρ) = F(sα,ρ′)� )��
��
�� �


%��� ��� ��� �	������ ���� sα,ρ� F(sα,ρ) = F(sα,0) = F(cα) = F(Cα/(1−α))� ���
 ��
�

	��%��� ����	 	�
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	 �� ���	��
 �� 	�
 ������	
��
	�� �	������ ���� ��	� 	�
 
��
 
���
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����� ��� �	
�� sα,0 = 0cα 
�� s′α,0 = 1cα �
�� ��� �
�� ��	��� ���� �
�� ��� �
��

��� 	� �
��	
�� ���
��	
�� �	
 �
�� n ≥ 1 ��� �
��� pn 	� ������ n 	� cα �� 
 ���� �����
�

�
��	
� ��
� ��� �	�� 0pn 
�� 1pn 

� �
��	
� 	� cα� �	
� �	
�
����

����������� 	
�
� �[��]� ��� ����� ��	�
��
 ���� s� ������ 0s �� 1s �� ��	�
��
� �

��	�
��
 ���� s �� �������������� �� �
� �
�� �� 0s �
� 1s ��� ���� ��	�
��
�

����� 
�	�� ����  
	�	����	� 2.4.3� ������� ��
� ��� ��� 	� 
���� �����
� �
��	
� 	� 
 ��!
"

��
� �	
� s ���� ��	�� α 

� ��� 
���
�
� 	� ��� �
����� 	� ��� ��


���
����� ��!
��
�

�	
� cα�

 
	�	����	� 2.4.3 �
� !��� �	 ����
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��	
 �	�������� �
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��
�	��� ���

� �	
�� �	 
��
�	��� �	
�� 	��
 
� 
���
��� ���� k �����
�� �	
 k ≥ 3�

����� ��
���� 	� �	
�� 

� ��� $
�	!�"%
!#� �	
�� �	
 ��
��� �����!
��
� �	
��� 
��

��� �����!
��
� �	
��� ����� ���� �� ����!���� �	
� �� �����	� 2.4.3�

&	� ���'� �		( 
� 
�	���
 �
	��
�� 
��
���� 
� �


��	�
� �!���
 α 
�� ��� ��

"


���
����� ��!
��
� �	
� ���� ��	�� α� ���� ����
�
��	� 
��	 �	��� �
	� [��]� )��
�

�


��	�
� �!���
 α �
� 
 !��*!� ���
���	� 
� 
 �	����!�� �

���	�� �	

α = d0 +
1

(1 + d1) + 1
d2+ 1

···

���
� �
�� di 
� ������
� d0 ≥ 0� d1 ≥ 0� 
�� di > 0 �	
 �
�� i ≥ 2� +� ���� �
���

α = [d0, (1 + d1), d2, . . .]

,� ��� ��*!���� (di)i∈N �� �����!
��� ��
�	��� ���
� di = di+p �	
 �
�� i > N � �� �
���

α =
[

d0, (1 + d1), . . . , dN , dN+1, dN+2, . . . , dN+p

]

-	
 ��� �
�� 	� ��


���
����� ��!
��
� �	
�� ���� �


��	�
� ��	�� α� �� �
�� 0 < α < 1�


�� ��!� α = [0, (1 + d1), d2, . . .]� �	 ��� ��*!���� (di)i≥1 �� 
��	��
�� ��� ��*!���� 	�

�	
�� (sn)n≥−1 ���
�

s−1 = 1, s0 = 0, sn = sdn

n−1sn−2 (n ≥ 1)

��� ��*!���� (sn)n≥−1 �� 
 ���
���� ���	�
��� 
�� ��� ��*!���� (d1, d2, . . .) �� �
���� ���

��������� ���	�
��� ,� ��	!�� �� ���

 ��
� �
�� sn �� 
 �
��� 	� sn+1 �	
 �
�� n ≥ 1�


������ ��� ��
������ ��*!���� (1, 1, 1, . . .) = (1) ����� ��� ��
��

� ��*!���� ������

�� s1 = 01� s2 = 010� s3 = 01001� · · · � sn = sn−1sn−2� ����� 

� ��
���� ��� �����

-��	�
��� �	
���

��� �
	��
�� �� �
�� �	
 ��� ��
������ ��*!���� �� ��
� ��� ����� 	� ��� ��*!����

(sn)n≥−1 ����� ��� ��
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��
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� cα� -	
�
����
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����������� 	
�
� �[��]� ��� α = [0, (1+d1), d2, . . .] �� ��� ����	�
�� �
���	�� ������	��

�� ���� 	

��	���� α� �	�� 0 < α < 1� ��� ��� (sn)n≥−1 �� ��� ������
� ���
���� �����	����

�� ��� �	
���	�� ���
���� (d1, d2, . . .)� ���� ���
� sn 	� � �
��� �� cα ���

cα = lim
n→∞

sn.
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� �������
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� �� ����
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��� α ��� �� ���� 
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�� 
� ω 
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���!���� "� ���
��� 2.4.7	 
�� �#��������� 
� �$�	 ���	 ��� �%� �� &���� �� [$']	 ����� 
��

�#��������� ��
���� �%� ��� �(� �� &���� �� [%)]� ��� 
	��� ���	��
��	� ����

� 
� 
�� !��
�

�
�� u	 ���

�� (u)+	 �� 
�� ��
�
��
 �������
�� 
��
 ��� u �� � ���!�� *
� �������	

(01011)+ = 01011010 ��� (11001)+ = 110011� � �������
�� u �� � ����
�� �����
 
� 
��

�������
�� w �� w = vuṽ �
� �
�� v ∈ A∗�


������ 	
�
� �[$', %)]� ��
 �� ���
	��	� ��
� ω �� ��� �	��
� �������� A = {0, 1}�
��� ������	�� �
� ��
	�������

�� ��
 ��� �
��� v �� ω� (v)+ 	� � �
��� �� ω�

 � ��� �������� ���


���� �� � ���	��
��	� �����
 �� ω 	� � ����
�� �����
 �� � ���	�!

�
��	� �
��� �� ω�

"� ���
� ��	�� �� 	���	�� ���
���� �� ���	��
���� u1 = ε� u2, u3, . . . ��� �� 	���	��

��
� ∆(s) = x1x2 · · · � ���� xi ∈ A� ��� ∆(s) ∈ AN\(A∗0N ∪ A∗1N) �� ���� ��� ui

�
� �
����� �� ω ��� ui+1 = (uixi)
+ ��
 ��� i ≥ 1�

#� ��� ��
� ω 	� � ���
����
	��	� $�

�	�� ��
��

��� �
�� ∆(s) �� �%� 
� ���
��� 2.4.7 �� ������ 
�� �	
���	�� ��
� ��
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��� 
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��� 
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�

�
�
� �� 
�� ��
���
��� ���
 ��� 
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� �� ���
��� 2.4.7 �� �� �
��
��, x = x1x2 . . . xn	 ���� xi ∈ A	 u1 = ε	 . . .	

un+1 = (unxn)+	 
��� PAL(x) = un+1�
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���� ��� �� �����	� �� �
� �
�	����	����� ��	
 �� �
� ���� ������ ���	���� ��	
� �	�

�����	��� 	���		��� �� �����

�
� �
�� �� ��	�
���� 	�����
 �� ���	���� ��	
� �� ����
�	 ����� �
�� 
�� ���� ��

����	��� �� �
� �	�� �� ���������	��� �� ��	
� ���� [��, ��]�� � ��	�
��� f �� �����
 �

�������� �	�
���� �� f(s) �� � ���	���� ��	
 ��	 ���	� ���	���� ��	
 s� �
� ��� �� ���

���	���� ��	�
���� ��	� � �����
 ���
 �
� ���	����� �� ������������ �� �� ���� ����

�
� ����
�� ����!� �� �
� ���	���� ��	�
���� �	� �
� �������� �
	�� ��	�
����"

τ : τ(0) = 01, τ(1) = 0

τ̃ : τ̃(0) = 10, τ̃(1) = 0

θ : θ(0) = 1, θ(1) = 0

�
� #�������� ��	�
��� ���
 �� �
� �$����� �� �
� �� ����� �� �
�� ������� �� �$�����

�
� ��	�
��� τ �����
 
�	��

����������� 	
�
� �[��]� 
�� �	�
����� τ ��� τ̃ ��� ���������

�� ���� �� � ��	�
��� ϕ �� � ���	���� ��	�
��� ����
 �� � 
�%���� ���! �� �� 	�����

���
�
 �� ���� �� ϕ �	���	��
 ��� ���	���� ��	
�� #�	��������� �
�� ���
 ��	! �� ���

�������	� �
��!� �� �������� 	������


������ 	
�
� �[��]� � �	�
���� ϕ �� �������� �� ��� 	��� �� ��� �	��

ϕ(10210210102101)

�� 
�������� ��� ��������� �	��	���� �� �� ��������� ������� � �	�
���� �� ���������

�
�� �� ���� �� � ��	�
��� �� ���	����� �� ��%��� �� ����� �
� ��	�
��� �� � ��	
 ��

��� �
 �& ��
 ��� �� �� �� �	������� ��
 �������
� #�	 �$������ τ(10210210102101) =

0010100101001001010010 �
��
 �� 	��
��� ��	�'�
 �� �� �	������� ��
 �������
�

� �
�	����	�(����� �� ���	���� ��	�
���� ��� �� ���� �� �
� �������� �
��	���


������ 	
�
�� �[��]� � �	�
���� ϕ �� �������� �� ��� 	��� �� ϕ �� � �	�
	����	� 	�

��� �	�
����� θ� τ � ��� τ̃ �

�
�� ���������� �
� ��	�
���� �
�� �	���	�� �
�	����	����� ���	���� ��	
� �� 
��� �
�

�������� 	������


������ 	
�
�� �[��]� ��� ϕ �� � �	�
����� ��� ��� 0 < α, β < 1 �� ��	 ������	���

������� �	 ���� cα = ϕ(cβ)� 
��� ϕ �� � �	�
	����	� 	� ��� �	�
����� θ ��� τ �

�
�� ��� ����������� �� �
� ��	�
���� θ� τ � ��
 τ̃ ����  ��� � ���	���� ��	�
���� ���

���� � ����������� �� ���� �
� θ ��
 τ ��	�
���� ���� �	���	�� �
� �
�	����	����� ���	����

��	
�� �
�	���	� �
� ��� �� ���	���� ��	�
���� �	� � �����
 ��
�	 ����������� ���


 ���	���	� θ� τ � ��
 τ̃ � �
��� �
� ��	�
���� �
�� �	���	�� �
�	����	����� ���	���� ��	
�

�	� � ��������
 �� �
� �����
 �� ���	���� ��	�
����  ���	���
 �� θ ��
 τ �

�&



����� ����	
���
� �����

�� ������ ���	
� ��� ��

���� �	
�� �
� ��� �	
�� ���� ������� n + 1 �������� ����	
� 	�

������ n� ���
��	
�� ��

���� �	
�� ���� ������� 	�� ���� ������� ��� 	�� 
���� �������

����	
 �	
 ���� ������� ����� ��� ��� 	� ����	
� 	� � ��

���� �	
� �
� ��	��� 
���



���
��� �� ��	� �� u �� � 
���� ������� ����	
 	� ��� ��

���� �	
� s� ���� ũ �� � ����

������� ����	
 	� s� ��������� ��� ����
��
 ���� ��� 
���� ������� ����	
 �
	��
�� �	 ��

�������� A� ���
� |A| = k ≥ 3� �� ���� ��� �	��	���� �������	� 
���� ��
���	�	�� �
	�

[� ]� ��� ���
	�
��� �� [!"]�

��������� �� ������� �	
� s 	� ��� ����� �������� A �� ���������	
 �� ��� ��� 	� ����	
�

	� s �
� ��	��� 
���
 
���
��� ��� s ��� �� �	�� 	�� ���� ������� ����	
 #�$
��������� 
����

������� ����	
% 	� ���� ������� �� �����

���� �	
� s �� ��	
�	�� ���������	
 �� ��� ���

���� ������� ����	
� s �
� �
����� 	� s�

��� ������
� �����

���� �	
�� �
� � ����
���&���	� 	� ��� ���
����
����� ��

���� �	
��

�	 �� �������� 	� ��&� k ≥ 3� '� ���	 ���� ��� �
	��
�� ���� �� � �	
� ω �� �����

����

���� F(ω) ( F(s) �	
 �	�� ������
� �����

���� �	
� s #[!"]%� ��� �������	� 	� �����

)

���� �	
�� �	�� ���	� �	
 ��
�	��� �	
��� ��� ��
� �� ��� ���� �� �����

���� �	
� ��

���
�	��� #
���� ��
�	���% �� ��� ���	������ ������
� �����

���� �	
� �� ���
�	��� #
����

��
�	���%� ��� �����

���� �	
�� �����	��� ��
� ���� �� ���
�	��� �����

���� �	
���


����� 	���
���� �	����

��	���
 ����� 	� �	
�� ���� �
� �	������� �� ��� ����� 	� �����

���� �	
�� �
� ���

�
�	
�)*�
&� �	
�� #	
 ������ ���������	
 
����%�

��������� � �	
� ω �� �� ��
�����	��� 
��� �� ��� ��� 	� ����	
� 	� ω �� ��	��� 
���



���
��� ��� ω ��� ������� 	�� 
���� #
���� ����% ������� ����	
 	� ���� ������� ��� �� u ��

� 
���� #
���� ����% ������� 	� ω ���� ua #
���� au% �� � ����	
 	� ω �	
 ���� a ∈ Alph(ω)�

+� ��� ���� ���
� ω �� � ��
��� �����

���� �	
� ��� Alph(ω) = B ⊆ A� ���� ω �� ���� �	

�� B)��
���� ��� �� B = A ���� ω �� ���� �	 �� ��
��� 	
 A)��
����

� ���
����
�&���	� 	� ������
� �����

���� �	
�� ������� ���� ������
	��� �
�����

������� ������
 �	 ���	
�� 2.4.7�

�	��
�� �
�
�� #[!"]% ��� 	
 �
�
��� 
��� ω ∈ AN� ��� �����
�
� 	�� �����	��
��

� ��� 	
� ����� v �� ω� (v)+ �� 	 ����� �� ω 

! "�� �������� �������
�� �� 	 �	��
������ �	���� �� ω �� 	 ��
��	� �	���� �� 	 �	��
�

������ ����� �� ω 

�"



�� ����� ���	
 �� ��
��
� 	������� �� ����������	 u1 = ε� u2, u3, . . . ��� �� ��
��
�

���� ∆(s) = x1x2 · · · � ���� xi ∈ A� 	� 
��
 ui+1 = (uixi)
+ ��� ��� i ≥ 1 ��� ��� 
��

ui ��� ���
��	 �� ω�

�� ��� ���� ω �	 � 	
������ ���	
������ �����

��� ���� ∆(s) �	 
�� �
 ������� 2.4.12 �� ������ ��� �����
��� ���� �
 ��� ���	����

����������	 ���� ω� ��� 	������	 ∆ = x1x2 · · · ���� �� ��� ��������� ���� �
 � ���	����

����������	 ����� �	���� ��������� 	����� �� ������ �
��� ������� 2.4.7� ����� �����
��	�

����� 
��� 
��� �	� 
�� �	 ������� 2.4.12 ��� �	�
����� �������	�� �����
��� ����������	

����� ��� �	�
����� �������	�� ����� ���	������ �������� ����������	 ����� ��� ������

���������

������� ��� ���	���� ����������	 ���� ���� �������� ���� ∆ = (012)∞ �� �	��	 ��

��� ���������� ���� 
�� ����� ����� [� ]�� ��� ���� ����	� �� 
������!

r = τ∞
3 (0) = �	0
010�102010	020100102010
01001 . . .

����� ��� ���� ������� 
����� ��� ����	������ ���"#�� ui� �� 
�� ∆ = x1x2 · · · �� �� ������	
uixi� �	����� ��� �� ���� ��� �����	���� ���� r �� �� ��� �	�$�� "#�� ���	� �
 ���

�������� τ3�

τ3 : 0 �→ 01; 1 �→ 02; 2 �→ 0

�� ��	�����%� ����� 
�� �	 �������� A = {1, 2 · · · , k}� 
�� k ≥ 2� ��� k&������� ���� ���

�������� ���� (12 . . . k)∞ �	� �� ��� �	�$�� "#�� ���	� τ∞
k (1) �
 ��� �������� τk �����

1 �→ 12� 2 �→ 13� · · · � k �→ 1� '
 k = 2 �� ��� ��� (���	���� �����

�� ������ �	 ��� �������� ������	� ��� ��� �
 )������	 ��������� �� ��� ��	��� �


��������� ���� �������� )������	 ������ ��� ��������� ���� ��	����� ��� )������	

��������� ��� ������ ��	�����%�� �� � ��	���� �������� �
 ��%� k ≥ 3� ��� ��	��� �


��� ���	
������ ������	�	 E 
��� [�*, �+, �,]� �� ��	������� ���	� ����������	� �� ���


������	� ����� ���������!

ψa : ψa(a) = a, ψa(b) = ab 
�� �	� ������ b 
= a

ψa : ψa(a) = a, ψa(b) = ba 
�� �	� ������ b 
= a

θab : θab(a) = b, θab(b) = a, θab(x) = x, 
�� �	� ������ x /∈ {a, b}

(�� �	� �������� f ∈ E � ��� ������������	 �
 f 	��� 	�� �� �	�$��� '	 [�*] �� �� ����	

���� ����� ��������� �����
� ��� �������	 θabψa = ψbθab� �	� ���� ψa = θabψbθab� ���

��	��� �
 	
������ ���	
������ ������	�	 S �� ��� �����	��� �
 E ��	������ �� ��� ψa

�	� θab� ��� ��	��� �
 ���� ���	
������ ������	�	 Ep �� ��� �����	��� �
 E ��	������

�� ��� ψa �	� ψa� -���������%�	� ��� ����������	 �	� ���	���� ����������	 ����������

�� ���� ��� 
������	� ��������

�.



������� ��	�
� �[��]� � �������� ϕ �� 	���
�����
 ��	��� �
�
���� 	���
�����
� ��


�	�	 	���
 �
���
 	���
�����
 ��	��� �
�
���� 	���
�����
� ����� � �
� � �� 
��
 � �

ϕ(�)�

�����	��
 ��� �
��������� ����
� �������� �
���������� ���
����� 
�����	� ��� ��� ��

�
��������� ����
� �������� �
���������� ������

��� ��������� ������� ����� � ���� 
��
���� �� ��� �������� �
��������� �����


������ ��� ������������ �� ��� ���� �������� �������

������� ��	�
	 �[� ]� �
 �
�
�
	 ���� s ∈ AN �� � �
�
���� 	���
�����
 ���� �� �
�

�
�� �� 
�	�	 	���
 � �
�
���� 	���
�����
 ���� t �
� a ∈ A �� 
��
 s = ψa(t)� ���	��	��


�	 ���
 �	

	� �� s �� a� t �� �
���	 �
� 
�	 ���	�
��	 ����� ��
���� ∆(s) = a∆(t)�

����
 ��� � �������� �
��������� ���� s �	�� A ����� �� � ������ a ∈ A �� ���� ��� ����

������ u �� s ���� |u| = 2
 ���� |u|a ≥ 1� ���������
 �������� �������� �
��������� �����

��	� � ������ ���� �����!�� ��� ���������� �� "���� 3.2.2 ���� �������

#��� ��������$��� %������� ����� �� �� ��������� !���� ��
����� �� 
�����	��� ���

�������� ��� �� ���� ���� �
����� ������ �� �� 
������� �� ���� �������� ���� ����� ���

�������� �
��������� ����� �� ���� �� ���������� �
��������� ������ &�� �'��
��
 ���

���������� ���� t = 0102010010201 · · · �� ��� ��������
 ��� �� �(�������� ���� [��]�� )�

[*+]
 ,����� ��� -������ ������!�� ��� �������� �������� �
��������� ������

������� ��	�
� �[*+]� �
� ����
�	� �
�
���� 	���
�����
 ���� s ��	� �
 ������	
 A =

{1, 2, . . . , k}� ��	�	 k ≥ 3� ��� � ���	�
��	 ����� �� 
� � �	

	� �	���
�
��
� �
 �
	 �� 
�	


��		 �������
� ������	� 

!� ∆(s) = 1n

(

k−1
∏

i=2

i

)

(k)∞ = 1n23 . . . (k − 1)(k)∞, ��
� n ≥ 1;

"� ∆(s) =

(

j−1
∏

i=1

i

)

1

(

k−1
∏

i=j

i

)

(k)∞ = 12 . . . (j−1)1j . . . (k−1)(k)∞, ��
� 3 ≤ j ≤ k−1;

#� ∆(s) =

(

k
∏

i=1

i

)

(1)∞ = 123 . . . k(1)∞;

���� ��� �������� �
��������� ����� ���� �������� ������ ����������� ������� &����.��/�

���0������ ����� [*+]
 ��� ������ �� ,��
������� 3.1.1 ������� ���� ����������� ����

������� ���� � ������ ���� [� ]
 �� ��	� 1�������� 2.4.17�

������� ��	�

 �[� ]� � �
�
���� 	���
�����
 ���� s �� 	�	

����� �	������ �� �
� �
��

�� �
� ���	�
��	 ���� ∆ ��� 
�	 ���� ga∞� ��
� g ∈ A∗ �
� a ∈ A� ���	��	�� s �� �	�������

�2



����� ��� �	

	��
� �	�	

��� �	��� ������ 
�����

��

��������� ��	�
� �[��]� ����� ����	
�� �
�	���� ����
�����	 ���� ���� � �� ���� ��
�


��� �� �������
�

�	� � ����	��� �	�� s� ����� ��

 �� �
 n ∈ N �	 ���� 
	 ����	� 	� 
�
��� n ��
 �� �����

������
� ����� 
	
� 	� ��� ��
	�� !��"� �	��� ��� ��
�
���� #
 ����� �� ��� ���
 ��	�


�
 [$%] ���� �
 ��
	�� !��"� �	�� ��
 �� �	
�������� ���� �� 
	� C ��
�
��� �	� �
�

�	����&� �
����� C�

%�



������� �

	��
�� 
��� 	����

�� ���� ���	�
� �
 ��

 ���
������
 �
��
� ���� ������ ��
 ��	�� �� [��] ����
�
� �������

���� �
����
�� ��
���
� �
��
� ���� ����� ��
 �
�
�����
� ��
���
� 	
������ 
	���������

������ ����� �
����
�� ��
���
� �
��
� ���� ����� ���� �������� 

��
� ��
��
���
� ��
�

���
��

 � ���!
����
�

����" #
��
�� �� ���� ���	�
� �		
�� �� [��]�

��� �����	�
�����

$��
� � %&���
 �� ��&���
' ���� x ��
� A ��� ��� a ∈ A� � �������� 	��
	� �� a �� x

�� � ������ �� x �� ��
 ���� aya� ��
�
 |y|a = 0� (
 ��� ���� �� ��&���
 ���� ω ��
�

A �� ��
��� 	��� �� ��� 
��� a ∈ A� �

 ���	

�
 �
����� �� a �� ω ��
 	�
������
�� ���


)��	

� ��
 ��&���
 	
������ ���� (acbcaacbc)∞ ��� �
 �
��&
� �� �
 �
��
� ����� ��

����
� �
 �

�� ���� 
��� ������ ���� �� �
��
� ����� ����
 ���	

�
 �
����� �� ������

����� ���
� 
��� 
��
 
���
� 01k0 �� 10l1 ��� ���
�
�� k, l ≥ 0�

*� �
�����
� �� +
����� 2.4.3� ��
��
� 2.4.15� ��
���
� 
	��������� ����� ��
 ����,

���
��-
� ���� ���

 �
���
�� ��
 �� ��
�
 �
���
� ����
�
� ����� ���� �������� 

��
�

��
��
���
� ��� ��
�� �	 �� 

��
� 	
��������� ��� ������� ����
�	��� �� ��
 ���
��



�
��
��
��

����������� 	
�
� %[./]' �
����� � �� 
 �
�
���� �����
	��
� ��	� ���� Alph(�) =

{1, 2, . . . , k}� k ≥ 3� �� � �
� �
�

��� �������� �	��
������� ���� 
� �� 
 �����	 ��	�

�
�
����� � �� 
 ����� �� (Fk)
∞

�0



���� ������ 	��
 ����
�� 2.4.3� ��� ��
����

�� 
����
�
 ψa� ������ ���

ψa :

⎧

⎨

⎩

a �→ a

b �→ ab 	�� b 
= a

��
� 
����
�
 �
�� ���� � 	����
����� ���� 
� ��� ���������
�� �	 �������� ������ �
��

������

��� ���� �	
��


�� ���� ��� 
�
� ������ �	 ��
� ����
��� �� ���� ��� 	�����
�� �����
���

��������� ��� x = x1x2x3 . . . ∈ AN ��� ��� a �� � ��� ��
��� ��� 
� A� ���� �����

σa : AN �→ (A ∪ {a})N ��

σa(x) = ax1a
ǫ1x2a

ǫ2x3a
ǫ3 · · ·

����� ǫi ∈ {1, 2}� �
�� ǫi = 2 
	 ��� ���� 
	 xi = xi+1�

��� ������
 �� �� ����� 
� ���� ������ �� 	�������

�	��
�� �
�
� �[� ]! ������� ω �� � 	�
�		��� 
����
�� ������ 	�
� ��	� ���	 A =

{1, 2, . . . , k}� k ≥ 3� ����� �� �� � �����	 ��	��������� ω �� �����	�

��� � ����� �� ��� ��	����
 ��	�

ψn
1 ◦ ψ2 ◦ · · · ◦ ψk−1(k

∞)� ��	 ���� n ≥ 1�

��� �	 � ����� �� ��� ��	����
 ��	�

σ1 ◦ σ2 ◦ · · · ◦ σj ◦ ψ2
j+1 ◦ · · · ◦ ψk−1(k

∞)� ��	 ���� 1 ≤ j ≤ k − 2.

��� ����	 �	 ������
 3.2.1 �
�� ��"�
�� ��#���� ��

��� $�� ��� 	�����
�� ��

��� ��

�
�� ����
� ���� ω ∈ AN ��� |A| ≥ 3� $�� ���� a ∈ A ������ ga = sup |u|� ����� ���

�����
�
 
� ����� �#�� ��� 	������ u �	 ω ��� �����
�
�� a ��� �����#� ���� ���� ga 
�

��
���

����� �
�
� �[%&]! ������� ω ∈ AN �� 
����
��� ��� ��� a ∈ A 
� ��
� ���� ��� �	� 

!���
� �� a �� ω �� �� ����� 1/3� ���� ��� ��	� ω′ ∈ (A\{a})N �
������ �	�� ω 
� �������"

��� �

�		��
�� �� ��� �����	 a �� ω �� ���� 
����
���

��� 	�����
�� ���

�� 3.2.3� 3.2.4� 3.2.5 ��� '�������
�� 3.2.6� 3.2.7! ��� ������ ���

���#�� 
� [� ] ���
����� &�(� &� )� &�  � &� �� &� * �������
#���!�

����� �
�
� ������� ω ∈ AN �� � 	�
�		��� 
����
�� ������ 	�
� ��	�� ��� ��� a ∈ A

� ��
� ���� ga ≤ gx ��	 ��� x ∈ A� ���� ��� ��	� ω′ ∈ (A\{a})N �
������ �	�� ω 
�

�������" ��� �

�		��
�� �� ��� �����	 a �� ω �� ���� � 	�
�		��� 
����
�� ������ 	�
� ��	��

*)



����� ����� ������� ω ��	 ω′ �
� �� �� ��

� 3.2.3� ������� ω′ �������� ��� �����


bb ��
 ��
� b ∈ A\{a}� ���� ω �� � ����� �� σa(ω
′)� �� ��
������
� ��� ��
����� 
���
��

�� b �� ω �
� �� ��� ��

 baab �
 baxab ��
 ��
� x ∈ A\{a, b}

����� ����	 ������� ω ��	 ω′ �
� �� �� ��

� 3.2.3 ��	 ��� b ∈ A\{a}� ���� bbb ��

��� � �����
 �� ω′�


���
 �������� 3.2.1� ��� ����� �� ������� 3.2.1 	
 ���� 
� 	�����	�� �� k� ���

���
�� �� ������
 	� ��� �����
��� �����
� ω 	
 � ��������� 
������� ������ �	�� ���� ��

��� �����
�� A3 = {1, 2, 3} ��� �	����� ��

 �� �������	�� �� ��� �

��� g1 ≤ g2 ≤ g3�

��� ω′ ∈ {2, 3}N 
� �
��	��� ���� ω 
� �����	�� ��� ����������
 �� ��� ������ 1 	� ω�

�	�
� 
����
� ���� ω′ ���
 ��� �����	� ��� ������ 22� ���� ω′ = (23)∞ = ψ2(3
∞)�

���
� ��� ���� �������� ������ �� � 	� ω′ 	
 ���� ���� 
����
� ω 	
 ������ �	��� �����

��
� 
� 
��� m ≥ 0 
� ���� ��� ���� �������� ������ �� � 	� ω 	
 21m31m2 ��� ���


ω = ψm
1 (ω′) = ψm

1 ◦ ψ2(3
∞)� ����� 
����
� ���� ��� ������ �� ���
 ����� 	� ω′�  �

��� !�
� ������
 �� � 	� ω′ ���� �� ��� ���� ��� ��� ���� ����� 3.2.4 	���	�
 ����

�"�"� ��� �"�""�"� �	�� 
� �������� ������
 �� � 	� ω� �������	��	�� ��� ���� ���� ω 	



�������� ���
 ω′ 	
 � 
�	�� �� ��� ���	��	� ���� (223)∞ = ψ2
2(3

∞)� ���� ω 	
 � 
�	�� ��

σ1(ω
′) = σ1 ◦ ψ2

2(3
∞)� ��������� ������� 3.2.1 ����
 ��� k = 3�

����� ��� k > 3 ��� 
����
� ω 	
 � ��������� 
������� ������ �	�� ���� �#�� Ak =

{1, 2, . . . , k}� ���� 
� ��� 	�����	�� �������
	
� �

��� ���� ������� 3.2.1 ����
 ���

��� ��������� 
������� ������ �	�� ����
 �#�� � k − 1 ������ �����
��� $	����� ��



�� �������	�� �� ���	� �

��� ���� g1 ≤ g2 ≤ . . . ≤ gk� ��� ω′ ∈ {2, 3, . . . , k}N 
�

�
��	��� ���� ω 
� �����	�� ��� ����������
 �� ��� ������ 1 	� ω� %� ����� 3.2.3� ω′ 	
 �

��������� 
������� ������ �	�� ����� %� ��� 	�����	�� �������
	
� ω′ 	
 � 
�	�� �� �	����

ψn
2 ◦ ψ3 ◦ · · · ◦ ψk−1(k

∞) ��� 
��� n ≥ 1� �� σ2 ◦ σ3 ◦ · · · ◦ σj ◦ ψ2
j+1 ◦ · · · ◦ ψk−1(k

∞)� ���


��� 2 ≤ j ≤ k − 2�

�	�
� 
����
� ���� ω′ ���
 ��� �����	� ��� ������ ��� ���� ω′ ��
� 
� � 
�	�� ��

ψ2 ◦ψ3 ◦ · · · ◦ψk−1(k
∞)� ���
 ��� �������� ������
 �� � 	� ω′ ��� �� ��� ���� 2a2 ��� 
���

a ∈ {3, 4, . . . , k} ��� ����� ��	
�
 
��� m ≥ 1 
� ���� ��� �������� ������
 �� � 	� ω ���

�� ��� ���� 21ma1m2� ��������� 	� ��	
 ��
� ω = ψm
1 (ω′) = ψm

1 ◦ ψ2 ◦ ψ3 ◦ · · · ◦ψk−1(k
∞)�

���� 
����
� ���� ω′ ���
 �����	� ��� ������ ��� ���� ω′ 	
 � 
�	�� �� �	���� ψ2
2 ◦

ψ3 ◦ · · · ◦ ψk−1(k
∞) �� σ2 ◦ σ3 ◦ · · · ◦ σj ◦ ψ2

j+1 ◦ · · · ◦ ψk−1(k
∞)� ��� 
��� 2 ≤ j ≤

k − 2� ����� 3.2.4 	���	�
 ���� ω 	
 � 
�	�� �� �	���� σ1 ◦ ψ2
2 ◦ ψ3 ◦ · · · ◦ ψk−1(k

∞) ��

σ1 ◦σ2 ◦ · · · ◦σj ◦ψ2
j+1 ◦ · · · ◦ψk−1(k

∞)� ��� 
��� 2 ≤ j ≤ k−2� ��������� 
� ��� 	�����	��

�������
	
� ������� 3.2.1 	
 �����

���
 ���� �� ��#� ������� 3.2.1� �� ��#� ��� ������	�� ��������	�
�

�"



��������� ��	�
 ������� ��	� ω 
� 	 �������
� �	�	
��� ��	��� �
�� ���� ���� A =

{1, 2, . . . , k}� k ≥ 3� ���
 ω 
� 	 �	�	
��� ���
��
� ��
�����
	
 �����

���� �� ���� 	
 �����
�

σ1 ◦ σ2 ◦ · · · ◦ σj ◦ ψ2
j+1 ◦ ψj+2 ◦ · · · ◦ ψk−1(k

∞) =

ψ1 ◦ ψ2 ◦ · · · ◦ ψj ◦ ψj+1 ◦ ψ1 ◦ ψj+2 ◦ · · · ◦ ψk−1(k
∞)

��������� ��	�� ������� ��	� ω 
� 	 �������
� �	�	
��� ��	��� �
�� ���� ���� A =

{1, 2, . . . , k}� k ≥ 3� �� ��� ������� 

 ω �	�� �
��

�� ������
�
��� ���
 �� �� 	 ������

������	�
�
� ω 
� 	 ��
�� �� (Fk)
∞�

���� �� ���
 ���� 	
 ����������
 3.1.1 �
� ��������
 3.2.6�

��
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��� ������
� �
� 	����
�� �
���
� �� ��
���� ���	�
����� ������ ��

�
����� 4.1 

 
��� ���
������
 �� ��
���� ��������� �� ������� 	���
�� ���	�
����� ��


���� �
���� 
��� �
 �� �������� ��
 �
� �� ������ �
����
�� �	
������ 
���� ����� �������

��
���� 	���
�� ���	�
�����

�� �
����� 4.2� 

 
��� ���
������
 ��
 ���� �
�


� ��
���� ���	�
���� ��� ��
 C�

������
 	��	
���� ����� 

 
��� �
�
��	 � �
���� �� ��������
 ��
 ������� ����
 ���

��
���� ���	�
���� �� ������
 ������
� 
�����  
�� �� �		
� ����� ��� ��
 ��
����

���	�
���� �� ������
 �
����
�� C�������
� 
���� �� ���
�� !
 
�� ���� ���	�
� 
��� �

���"
����
 ����� 
���� 
���� ����
�
 ��
 ������� ��
���� ���	�
���� ����
�

��� ������	 
��	��
 ������
 ����	�����

��
 ���� �� ���� �
����� �� �� �������� 
�
������� 	
������ 
���� ����� ������� ��
����

	���
�� ���	�
����� #
���� ���� �
����� 2.3.3 ��
 ������ �� 	���
�� ���	�
����� $ k�

	���
�� P �� � �
%�
��
 �� k ���
�
�� 
��� 0 = P0 < P1 < · · · < Pk−1� ��� �
���
 ��

|P | = k ��
 ����
� �� �
��� �� P � ��
� �
� Fω(P ) �� �
 ��
 �
� �� 	���
�� 
���� ��
�

� k�	���
��� ��� p∗ω(k) = supP |Fω(P )|� ��
 ������� ������� 	�

��� �
�	����
� ����
�
�

�� �
��
� ��

p∗ab(k) = sup
P

∣

∣

{

Ψ(ωn+P0ωn+P1 · · ·ωn+Pk−1
) | n ≥ 0

}∣

∣


�
�
 ��
 ��	�
��� �� ���
� ��
� ��� k�	���
��� P � ��
 ������� ����
 ��� p∗ab(k) �� ��

������
 ������ 
��� 
��� �
 k + 1�

$� �����
� 	�

��� P �� �� ������
 �
%�
��
 �� ���
�
�� (Pi)i≥0 �� ����

0 = P0 < P1 < P2 < · · ·

&&



� ����� �� ������� 	
����� P ′ = N0 < N1 < N2 < · · · �� 
 ���������	
 �� P �� �
� ��������

(Ni)i≥1 �� 
 ����������� �� �
� �������� (Pi)i≥0� 
�� �� ����� P ′ ⊂ P�
��� ω �� 
� ������� ���
�� ����� ��� 
� ������� 	
����� P 
�� ���� 	������� �������

k� �� �
�

ω[P ](k) =
{

ωn+P0ωn+P1 · · ·ωn+Pk−1
| n ≥ 0

}


��

ω[P ]∗ =
⋃

k≥0

ω[P ](k)

����� 
 ����� ����	
����� P = (Ni)0≤i≤k ⊂ P = (Pi)i≥0 �
�

ω[P ] = { ωn+N0ωn+N1 · · ·ωn+Nk
| n ≥ 0 }

����� ����� ��� ω �� �
 �


��� 	���		�
� ��
�	� ��	�� ���	� ������ �
 �


��� �����	


P �� �����

(∗) u1u2 . . . un ∈ ω[P ]∗ ⇒ u1u2 . . . (un)m ∈ ω[P ]∗ ��	 m ≥ 1

�	

� ��� ω �� 
� ������� ��������� ���
�� ����� �
� ������� 	
����� P ���� �� �
�

����� �� �
� 	
������ nP � ������ 
� ������� ��� �
�
 n�

��� nP �� 
� n�	
������  ���� ω[nP ] �� ����� �
��� �� 
 	���! �� ω �
��
 ����
��� 
��

	
����� ����� ����� �� nP �� ω� �� ��� Un �� 
 	���! �� ω �� �

� ω[nP ] = Un[nP ]�  ����

ω �� ��������� �
��� ���� �� 
���
�� ���������� �� Un� ��������� �
�� �� �� 	������� ��

�

� ω = UnvUn · · · ���
 z = |Unv| ≥ |Un|� "��� �

� ��� �
�
 0 ≤ i ≤ |Un|� ωi = ωi+z�

#� ��� ����� n+1P 
� �
� ������
�� �!������� �� nP � �� n+1Pi = nPi ��� �
�


0 ≤ i ≤ n − 1� �
��� n+1Pn = n+1Pn−1 + z� �
�� ��� 
�� u1u2 . . . un ∈ ω[nP ]� �� �� ����

�

� u1u2 . . . un ∈ Un[nP ] �� �
��� �� ���� 0 ≤ i ≤ |Un| − nPn−1 ��

u1u2 . . . un = ui+nP0ui+nP1 . . . ui+nPn−1 .

��� �
�
 0 ≤ j ≤ n − 1� i+ nPj = i+ n+1Pj� 
�� n+1Pn = n+1Pn−1 + z ��

ui+n+1Pn−1 = ui+n+1Pn
.

�
�� u1u2 . . . unun ∈ ω[n+1P ]�

 � P = lim nP � 
�� �� ��� ���� n� u1u2 . . . un ∈ ω[P ]∗ �� ������� �

� u1u2 . . . (un)m ∈
ω[P ]∗ ��� �
�
 m ≥ 1�

����� ����� ��� P �� �
 �


��� �����	
 ��������
� ��� ����� ��
�����
 (∗)� �
� ��� P ′

�� �
� �


��� ���������	
 �� P� ���
 P ′ ���� �����
�� (∗)�

$%



����� ��� u1u2 . . . un ∈ ω[P ′]∗ ��� ��� m′ ≥ 0� 	
�� ���
� P ′ ⊂ P� �
��� �� � ����

v1v2 . . . vl ∈ ω[P ]∗ �� �
�� P ′
n = Pl ��� ��� ��

 1 ≤ i < n �
��� �� ���� j �� �
��

P ′
i = Pj� 	
�� ��� ��

 m ≥ 0 v1v2 . . . vm

l ∈ ω[P ]∗� 	
�� �
��� �� ���� m �� �
��

P ′
n+m′ = Pl+m ��� �� �
�� ��� ���� x ∈ N� v1v2 . . . vm

l = ωx+P0ωx+Pa
. . . ωm

x+Pl−1
� ��� �
��

ωx+P ′

0
ωx+P ′

1
. . . ωm′

x+P ′

n−1
= u1u2 . . . um′

n ∈ ω[P ′]∗�

����������	 
���
 ��� ω �� �� ������� ����	
 ��	
 ��
 ��� P �� �� ������� �����	��

���� ��	 ���� �������� ������	 K� ���	� ������ �� ������� ���������	� P ′ = PK ⊂ P ��

���� ��	 ��
 ��� ����� ���������	�� P, Q ⊂ P ′ ���� |P | = |Q| ��
 1 ≤ |P | , |Q| ≤ K� ����

ω[P ] = ω[Q].

����� 	
�� ���� �� ���� �� ����
����� 
������� � ������ �� ������ ������� ��������

P ′ = PK ⊂ PK−1 ⊂ · · · ⊂ P1 = P

�� �
�� ��� ��

 1 ≤ i ≤ K �� 
��� ω[P ] = ω[Q] ��� ��� ����� ������������ P ��� Q ��

Pi ���
 |P | = |Q| ��� 1 ≤ |P | , |Q| ≤ i�

����� �� 
������
���� P2� ��� ��� ������������ P, Q ⊂ P1 ���
 |P | = |Q| = 2 ���

�
��

P ∼2 Q ⇐⇒ ω[P ] = ω[Q].

	
�� ∼2 ����� �� ���������
� �������� �� ��� ������������ �� P1 �� �����
 �� ��� �
��

��������� ������ � ����� 
�������  ���
� �
��� ��� ������� ���� ���� �� ����� �� � �����

�����
! �� �
� ��� �� ��"� � ������������ �� P1� #����������� �� 
�� ��� �� 
��� �

����� 
������� �� �
� ��� �� ��� ��������� ������� �� N$ �
��� ��� �������� % ��� &

��� ����

������
 �� ��� ���� �� P ∼2 Q� '�
��� �
� ��������� �����(���� �
����� ��

'�����)

������� 
���
  '�����! ��� k �� � �������� ������	� ���� ����� ��
 ����� ����	��� ��

��� ��� �� ��� k�������� ������ �� N� ���	� ������ �� ������� ��� A ⊂ N ���� ���� ��
 ���

k�������� ������� �� A �	� ������	�������

	
�� �� �
� ����� �
������ �
��� �*���� �� ������� ����������� P2 ⊂ P1 �� �
�� ��� ���

������������ �� P2 ��� ∼2 ����������� 	
��� 
����� 
������
��� Pn ⊂ Pn−1 ⊂ · · · ⊂ P1

�� 
������
� Pn+1 �� �������� ��� ������������ P, Q ⊂ Pn ���
 |P | = |Q| = n + 1 ���

�
��

P ∼n+1 Q ⇐⇒ ω[P ] = ω[Q].

	
�� �
�� ������ � ����� 
������� �� �
� ��� �� ��"� n + 1 ������������� 	
��� �����

�� '�����+� 	
������ �
��� �*���� �� ������� ����������� Pn+1 ⊂ Pn �� �
�� ��� ���

������������ �� Pn+1 ��� ∼n+1 ����������� ,���� ��� ��� 1 ≤ i ≤ n + 1 ��� ������������

�� �����
 i ��� ∼i ���������� ���
� Pn+1 ⊂ Pi�

-.



�� � ��������� 	� 
������	��
 4.1.3� �� ���� 	�� �������
�

��������� ��	�
 ��� ω� P� K� ��� P ′ �� �	 
� ��
�
	
�

� 4.1.3� �� u ∈ ω[P ′] ���

|u| < K� ���� au ∈ ω[P ′] �
� 	
�� a ∈ Alph(ω)�

��� �� 	�� ���
 �����	 	�� ���������	��
 �� ���
	����� �������� ����� �� ������� ������


��		��
 ��������	�� 
����� 	�� ����� ��	� ������� ������
 ��		��
 ��������	� p∗ab(n) ≤
n ��� ���� n ≥ 1�

��
��
� ��	�� ��� ω ∈ {0, 1}N �� � ��������� ����

�
� �
��� ���� ��� ���
��� ����
��

������� �
�����
�� 
	 p∗ab(n) = n + 1 �
� ��� n ≥ 1�

����� �� ����� 4.1.1 	���� ����	� �
 �
�
�	� ��		��
 P ��	�����
� (∗)� ��	 K �� �

����	��� �
	����� �
� 	��
 �� 
������	��
 4.1.3 	���� ����	� � ������		��
 P ′ ⊂ P ��

	��	 ��� 	�� ������		��
� P, Q ⊂ P ′ ��	� |P | = |Q| �
� 1 ≤ |P | , |Q| ≤ K ��  
��

ω[P ] = ω[Q]� !�������� �� ����� 4.1.2� P ′ ���� ��	����� (∗)�
��� ���� 	��	 ��� ���� ���� �� 
�
�
���	��� �
	����� (k, l)� ����� 1 ≤ k + l ≤ K�

	���� ����	� � ���� u ∈ ω[P ′] �� 	��	 Ψ(u) = (|u|0 , |u|1) = (k, l)� "��� ���� �� ��
� ��

�
���	��
 �
 k + l� #�
�� ω �� ���������� ω[P ′] ���� ��
	��
 ��	� 0 �
� 1� �� 	�� �����	 ��

	��� ��� k + l = 1�

���	� ������� 	�� �����	 �� ������ ��� ��� ����� (k, l) ����� k + l = n� �
� ��
�����

	�� ���� (k, l + 1) ����� k + l + 1 = n + 1� k ≥ 0� �
� l ≥ −1� $�
����� 	�� �������
�

	���� ������

$��� %& l = −1� #�
�� 0 ∈ ω[P ′]� �
� P ′ ��� '()� 0k ∈ ω[P ′]� �
� Ψ(0k) = (k, 0)�

"��� 	�� �����	 �� 	��� ��� l = −1�

$��� *& l = 0� #�
�� ��	� 0, 1 ∈ ω[P ′]� �
� ���� (∗) ��	� 00, 11 ∈ ω[P ′]� "��
 ��
��

ω �� ���������� ��	� 01, 10 ∈ ω[P ′]� �� (∗)� 10k ∈ ω[P ′] �
� Ψ(10k) = (k, 1)� "��� 	��

�����	 �� 	��� ��� l = 0

$��� +& l > 0� �� 	�� �
���	��
 ����	������ 	���� ����	� � ���� u ∈ ω[P ′] �� 	��	

Ψ(u) = (k, l)� �
� 	���� �� �	 ����	 �
� �������
�� �� 1 �
 u ��
�� l > 0� ,� u �
�� �
 � 1�

	��
 �� (∗) u1 ∈ ω[P ′]� �
� Ψ(u1) = (k, l+1) �
� �� ��� ��
�� "��� ������� 	��	 u �
��

�
 � 0� �� $�������� 4.1.5 ��	��� 0u �� 1u �� �
 ω[P ′]� ,� 1u ∈ ω[P ′] 	��
 Ψ(1u) = (k, l+1)

�
� �� ��� ��
�� "��� ������� ω[P ′] ���� 
�	 ��
	��
 1u� �� 0u ∈ ω[P ′]

��	 u′ = 0u0−1� "��
 u′ ∈ ω[P ′]� Ψ(u′) = Ψ(u)� �
� u′ �� � ������ ����	 �� u� ,� u′ �
��

�
 � % 	��
 u′1 ∈ ω[P ′] �
� �� ��� ��
�� �	������� u′ �
�� ��	� � -� ,� 1u′ ∈ ω[P ′] 	��


�� ��� ��
�� �	������� �� $�������� 4.1.5 0u′ ∈ ω[P ′]� ,
 	��� ����� ��	 u′′ = 0u′0−1 �
�

�����	 �� ������ #�
�� 	���� �� �	 ����	 �
� �������
�� �� % �
 u 	���� ���� ���
	����� ��

� ��
.���	� �� u ����� �
�� �
 � %� ��� v1 ∈ ω[P ′] ��	� Ψ(v1) = (k, l)� "��� v11 ∈ ω[P ′]

�
� Ψ(v11) = (k, l + 1)� "��� 	�� �����	 �� 	��� ��� l > 0�

+/



���������� �� ω �	 
 ���
�
 ��������� 
�������� ����� ���� �� �
	 �
���
� 
����
� �
�����

���������
 p∗ab(n) = n + 1 ��� 
�� n ≥ 1�

��� �����	
 ��
������� �� C��	�	
��� �����

�� ���	 	������ �� ���� ����	���
�� ��� ���� ������� ��� ������	 �� 
����
� ���������



�� C��
�
���� �� �� ���� 	������� �� ���� ����	���
�� ��� ����� ����� ��� 
����
�

���������
 �� C��
�
���� ����	�

�	 	�
��� �� ������� 2.3.2� ��� ����� ����� ��� 
����
� ���������
 �� 
 ���� ω ����


 k������� 
���
��� �	

ρab
ω (n) ≤ lk(n) =

(

n + k − 1

k − 1

)

.

� �
���
�  ��	���� �� 
	� �	� 
�� ����� ����	 ����� 
������ ���	 ����� �����! ��� 
�	���

�� ���	  ��	���� �	 
�	� 
	 
�
 ���� ���� �
���
� �
���� ���������
 ���� �
�� �
���
�


����
� ���������
�

"��
�� #���
 2.3.4 $[%&]'( )�� 
 ���� ω ∈ AZ ∪ AN� ��� �������� ρab
ω �	 ������� ��


�� ���
 �� ω �	 C��
�
���� ��� 	��� ��	����� ������� C� �
���
 ��� 
����
� ���������


�	 ������� �
 (C + 1)|A|� ���	 
� �����
� ���� �	 	��� ������� 
����
� ���������
 
��

��� C��
�
��� �������
� ��� ��	�  ��	���� �� 
	� �	 �� ��� ����� ρab
ω (n) ≤ (C + 1)|A| �	

�����
�! ��� 
�	��� �� ���	  ��	���� �	 �� ���
�	� ���	 ���� �
��
���� �� ��� �
���	 ��

��� *
���� ������	 ���	 ��� �
�� ���� 
������ ��
� ��� 	�� �� ��� �
���	 �� ��� *
����

������ ��	� �� � �
� �� n�

�� ������� 4.2.1 �� ������� 
 �

 �� �
����
�� ��� 
����
� ���������
 �� 
��������

�
�
���� ����	� ���	 �
����
���� ���� ������� ��� ���������� ������� 
�������� �
�
����

���
�
 ����	 
�� ���	�
�� �
� 	� �����	� ���	 ����� 
 �
�
���� ���� ω ���� 
 k�������


���
���� �� �
� ��� ��� �
���
� �
��� ��� ��� 
����
� ���������
 �� ω� ���� �� �������

4.2.2 �� ���� �
����
�� 
� ����� ����� ��� 
����
� ���������
 �� C��
�
���� ����	� ��

������� 4.2.3 �� �
����
�� ��� �
���
� 
����
� ���������
 �� �
�
���� 
�������� ����	


	 ���� 
	 	��� �
�
���� �������� ����	� +� 
�	� ���� 
 ���,������ 
���� ����	 �����


������ ��� 
����
� ���������
 ����� ����� ����� �� ������� 4.2.2�

����� ����	
� �
�����	�� 
� �
�
���� ����	
�	� �
���

��� ��
� �� ���	 	������ �	 �� ��������� ��� 
����
� ���������
 �� �
�
���� 
��������

����	 ���� 
� 
���
��� A� ����� |A| ≥ 3� )�� ���	 �� ���� ���� 
 ��� ���������� � ����

G ∈ AN �	 �� �������� ��� �� ��� �
�� a ∈ A ����� �	 
 ������ pa 	� ��
� �� Gi = a ����

Gi+pa
= a� ��� ��������� �����	����� 	����� �� ���
��

����������� 	
�
� $[%]' 	 �������� ��� �
��
��
 G ∈ AN 
� �
�
��
� ��� ������
��

-.



����� ��� p �� ��� ����� 	
��
� �
������ 
� ��� ��� 
� �������� { pa | a ∈ A }� ����� pa

�� ��� ����
� 
� a ∈ A� ���� �
� ��	� i ≥ 0 �� ���� Gi = Gi+p� �
 G �� ����
��	�

���� �
� ��� ��	�
� u 
� G� ���� |u| = n� �� ���� �
� ��	� a ∈ A
⌊

n

pa

⌋

≤ |u|a ≤
⌊

n

pa

⌋

+ 1

��
� �
� ��� ��	�
�� u, v 
� G ���� |u| = |v|� �� ���� ||u|a − |v|a| ≤ 1� ��� G �� �����	���

�� [�]� ��� �
��
�� ���	���� ��� �
������ ����
��	��� �
� ��� ������� �� � 	
������ ���

���
��	�� �
� ��	� k ≥ 1� ����� ���� �� ������� ���� 	
������ ��� ���
��	�� 
��� k

�������� ���� �� � ���� 
� ��� 	
������ ��� ���
��	��� 
� �
 � ����
����
� 
� ������ 
� k

������� �
� k = 1, 2, 3, 4 

k = 1 (1)∞

k = 2 (12)∞

k = 3 (123)∞; (1213)∞

k = 4 (1234)∞; (121314)∞; (12131214)∞; (123124)∞

!� �
���	� ���� ����� ��� "# 	
������ ��� ���
��	�� 
��� � $ ������ ��������� ��� ��

����� %� 
��� � & ������ ��������� ��� �
���� 
� 	
������ ��� ���
��	�� ���� �'��� 
���

�� �������� 
� ��(� k� �
� �� ��������� k� �� ����� �� 
��� ��
����� ��� [�]�

�
� � 	
������ ��� ���
��	� G = (g)∞ = (g1g2 · · · gp)
∞� 	��� g ��� ���� 
� G� ��� u

�� � ��	�
� 
� G �
 ���� |u| < p� )��� ��� ��	�
� v 
� G ��� ����	
���� 
� u �� G �� uv ��

� 	�	��	 ����� 
� ��� ���� g�

*�
���� �
�� �
 ��+� �� ��

� ��� ������� 	
����'��� 
� � 	
������ ��� ���
��	�

G� �
� ��� n ≥ 1 ����� �'���� �
����� m ≥ 0 ��� b ≡ (n mod p) �
 ���� n = mp + b�

��� �
� ��� ��	�
� u 
� ������ n 
� G� u ���� 	
����� m 	
���� 
� � 	�	��	 ����� 
� g�

��� ���� � 	�	��	 ��	�
� 
� ������ b 
� g� ��
� ρab
G (n) = ρab

G (b)� ��
� ��� ���
��	� 
�

������� 	
����'��� ���
�� (ρab
G (i))i≥1 �� ����
��	� ���	� ρab

G (i) = ρab
G (i + p) �
� ��	� i ≥ 1�

,
��
���� ��� ���
��	� (ρab
G (i))1≤i<p �� � �������
��� -
��
�� ���� ub �� � ��	�
� 
� G 
�

������ b < p� ��� ��� vb = Ψ(ub)� ��� u′
b �� ��� 	
�������� 
� u� �
 |u′

b| = p − b� ��
�

Ψ(g) = Ψ(ubu
′
b) = Ψ(ub) + Ψ(u′

b)� �
 Ψ(u′
b) = Ψ(g) − Ψ(ub)� ��
�� � .���+� ��	�
� 
� �

��	�
� 
� ������ b ���� ��������� � .���+� ��	�
� 
� � ��	�
� 
� ������ p − b� ������
���

ρab
G (b) = ρab

G (p − b)�

�� [%%] ��� [%/] ��� �
��
���� 	����	����(���
� 
� �����	�� �
��� ���
����� 	
������

��� ���
��	�� ��� �����	�� ������ �
��� �� ������ ���
 ������ ��� ��
��� �� [�]�

������� 	
�
� 
�� s �� � ��	����� ���� ���� {0, 1}� ��������� � ��� ���� ω �� ���

�	��
�� 
� s� ��� ����������� �� ��� �� � �������� ��� �������� G �� �	������ A1� ���

/0



��� ���������	� 
� �
� �� � 	
������ ��� ������	� H 
� � ����
��� �������� A2� ���� ω

�� �����	�� 
� ��� �������� A1 ∪ A2�

������� ��	�
 ��� ω ∈ AN �� � �����	�� �����
��	 �
��� ���� ����� ������ � �������
�


� A ���
 ��
 ���� A0 ��� A1 �
 ���� ��� �
�� s ������ ���

un = 0 �� ωn ∈ A0

un = 1 �� ωn ∈ A1

�� �����	��� �
��
��� ��� �
��� z0 ��� z1 	
�����	��� ��
! ω �� "������ 
��� ��� �������

��
! A0 ��� A1 �����	������ ���� 	
������ �����

����� � ����	
�� �
������
 ���� �� ��	������ ���� � ����	
�� �
������
 ��	��� ���� �	

{a, b} �� ��
��
�	� ��� a�� ���� � 
�	���	� ��
 �����	
� G �	� ��� b�� �� � 
�	���	�

��
 �����	
� H� ����� Alph(G) ∩ Alph(H) = ∅� ��	
� ��� ����	
�� �
������
 ��	���
����� ��� 
��
����� ��� �������	 ������ �� 
�	 ��� 
��
������ �� �������	 ����� �� ���



��
����� ��� ������	 
��
������ �� ����	
�� �
������
 ����� �	 �	 ��
����� �� ���� k ≥ 3�

�� 	�� ��
��� ���� 
��
������ �� �������	 ����� ���� ��
���	 2.4.2� ������ ��� �	�

�������	 ���� s �	� ��� ��
� n ≥ 1� ρab
s (n) = 2� ���� ��� ��
� n ≥ 1 ����� ����� �	����

������ rn �	� tn �� ���� Ψs(n) = {(rn, tn), (rn − 1, tn + 1)}� ��
�	���� ��� �	� �������	
���� s� ����� � ��
��	�
�� ���� sα,ρ �� ���� sα,ρ(i) = s(i) ��� ��
� i ≥ 0�  �
��� ����

��� 
��!��� �� cα = sα,α ��� ���� �
�
��� ��
����� �	� F(cα) = F(sα,ρ) ��� �	� 0 ≤ ρ� �	�

sα,0 = 0cα�

�������	 ����� 
�	 ���� �� ��	������ �� 
����	� ������ Kβ,ρ� ��� ��� 
����	� ����

Kβ,0� ����� β = α/(1 − α)� �� ���� Kβ,0 = sα,0 �	� F(Kβ,0) = F(sα,0)� ���� ��� 
��!�

�� ��	��� n + 1� ��� ��
� n ≥ 0� �� Kβ,0 �� �� ��� ���� 0pn ����� pn �� ��� ���� �
�
���

��
��� �� ��	��� n �� Kβ,0� �	� ���� 1pn �� ���� � ��
��� �� Kβ,0�

��� ���� Kβ,0 �� ��	������ �� 
�	������	� ��� ��	� y = βx �	� ��� �� ������� �������

��� 
��	�� ��� 
������� �	������ a �	� b� �� ��� ��	� 
����� ������� ��� ������ [a, a + 1]×
[b, b + 1]� ���	 ����� �� ���� n �� ���� In = (a + 1, b) "����� In �� ��!	�� ��� 
����	�

����� �	 ��
���	 2.4.2# �	� a + b + 1 = n� ��� 	��� 
��
������	 ����� ��� ��
� n ≥ 1�


�		�
� ��� 
��	� In ���� ��� �	���� ������ rn �	� tn�

����� ��	�� #���� � $���!��� �
�� w ���� ��
�� α ����� ��� 	������ �
�� Kβ,0 ����

β = α/(1 − α) ��� In = (un, vn) �� ��
��� ����

Ψw(n) = {In, In + (−1, 1)} = {(un, vn), (un − 1, vn + 1)}

�
� ��	� n > 0�

$%



����� ��� β = α/(1 − α)� Kβ,0 = sα,0� ���	
 w ��
 
���
 α�

F(w) = F(sα,0) = F(Kβ,0).

��

Kβ,0(0)Kβ,0(1) . . . Kβ,0(n) = 0pn

�
 ��
 ��
�� �� Kβ,0� ��� ��
� �� sα,0� �� �
���� n+1 ��
� {(|pn|0+1, |pn|1), (|pn|0 , |pn|1+1)}
��
 ��
 ��

���
 ������ �
	���
 ��� ��	���
 �� �
���� n + 1 �� Kβ,0� �
	��

 �� ��
��
�

2.3.6� ��� ���
 ��� w �
 �
��� ��� 
�	� n ≥ 0� In = (un, vn) ��� un +vn = n �� �
��������

����	���� �� ��
 ��
�� �
���� n ���� �
 �

� �� 
��� ��
 	���� �
 ���
� ��� n = 1�

I0 = (0, 0) ��� I1 = (1, 0)� ��
� Kβ,0(0) = 0� p0 = ε 
� Ψw(1) = ΨKβ,0
(1) = {I1, I1 +

(−1, 1)} = {(1, 0), (0, 1)}�
��
� 
����

 n ≥ 1 ��� ��
 	���� �
 ���
 ��� ��� �
����
 �


 ���� �� 
 ��� �� n� 
�

In = (|pn−1|0 + 1, |pn−1|1) = (un, vn) ��� Ψw(n) = ΨKβ,0
(n) = {In, In + (−1, 1)}�

���� 	
 Kβ,0(n + 1) = 0� ��
� pn = pn−10� 
� (|pn|0 , |pn|1) = (|pn−1|0 + 1, |pn−1|1)
��� ΨKβ,0

(n + 1) = {(un + 1, vn), (un, vn + 1)}� ���


Kβ,0(n + 1) = 0 = vn+1 − vn ⇒ vn+1 = vn

n = un+1 + vn+1 ⇒ un+1 = un + 1

���
 In+1 = (un+1, vn+1) = (un + 1, vn).

���� �
 Kβ,0(n + 1) = 1� ��
� pn = pn−11� 
� (|pn|0 , |pn|1) = (|pn−1|0 , |pn−1|1 + 1)

��� ΨKβ,0
(n + 1) = {(un, vn + 1), (un − 1, vn + 2)}� ���


Kβ,0(n + 1) = 1 = vn+1 − vn ⇒ vn+1 = vn + 1

n = un+1 + vn+1 ⇒ un+1 = un

���
 In+1 = (un+1, vn+1) = (un, vn + 1).

�� 
���
� 	�

� Ψw(n + 1) = ΨKβ,0
(n + 1) = {In+1, In+1 + (−1, 1)}

��

� ����� ��� w �� � ����	
�� �
�� ��� Kβ,0 �� �� 
� ��		� 4.2.4� �
� ��� �
�
�
��


������� k� l� a� ��� b �
�� 0 ≤ a < k ��� 0 ≤ b < l� ����� 
� �� n > 0 �
 ���� In = (rn, tn)

�
�� rn ≡ (a mod k) ��� tn ≡ (b mod l)� �
��
���� ����� ��� 
���
���� 	��� n �
�

��
�� ��
� �
����

����� !
� k, l, a� ��� b �
 �
 �� ��
 ������

�
� "�� ���
 ���� �� ���������� 
���
 ����

���
 � �
�

 ����� �� ��
 ����
 �
�
���
� �� [0, 1]× [0, 1]� ���
� ��
 ���
 y = βx ���� ��
�

���
 � �
�

 ����� �� ��
 ����
 �
�
���
� �� [0, k] × [0, l]� ��� ��� 
�	� n > 0 ��
 �����


In = (rn, tn) ���� 	���

���� �� ��
 �����
 I ′
n = ((rn mod k), (tn mod l)) �� ��
 ����
�

���
 
��	
 ��
 ���
 ���� �
�
���

 Kβ,0 ��
 � �
�

 ����� �� ��
 ����
� ��
�
 �
 ��

n > 0 
� ���� I ′
n = (a, b)� ��� ���
 rn ≡ (a mod k) ��� tn ≡ (b mod l)� ���
 ����
�


������
�� ���� ���

 ��
 �� ��
 �
�
��� �� ��
 �����

#$



���� ��� �	
 ������ u �� 
�	��� n �� � �������	 ���� w ���� {0, 1} ����� u =

wiwi+1 . . . wi+n−1 ��� ���� i� Ii = (ri, ti)� �� ����� ��� ri �������	��� �� � �� ��� 
��� �� u

�	� ti �������	��� �� � �� ��� 
��� �� u� ��	�� |u| = n ���	 Ψ(u) ∈ {(rn, tn), (rn−1, tn+1)}
������� Ψw(n) = {(rn, tn), (rn − 1, tn + 1)}�

����� ����� ��� w �� � ����	
�� �
�� ��� Kβ,0� k� l� a� ��� b �� �� 
� ��		�

4.2.5� �
� ��� n > 0� ����� ��
�� n1, n2 �
 ���� I ′
n1

= (a, b) = I ′
n2
� ��� Ψ(un1) =

(rn, tn) ��� Ψ(un2) = (rn − 1, tn + 1)� ����� un1 = wn1wn1+1 . . . wn1+n−1 ��� un2 =

wn2wn2+1 . . . wn2+n−1 ��� ����
�� 
� w 
� ������ n�

	
��� ����� ��� ������� U �	� V �� 
�	��� n �� w �� ���� Ψ(U) = (rn, tn) �	� Ψ(V ) =

(rn−1, tn+1)� ���� 
�� I ′
nU

= (aU , bU) �	� I ′
nV

= (aV , bV ) �� �� ���� U = wnU
. . . wnU+n−1

�	� V = wnV
. . . wnV +n−1� ���	 ��� 
�	� ���� ��	������ Kβ,0 �	���� ��� ������ [aU , aU +

1]× [bU , bU +1] �	� ����� �� � ���

 �	�����
� JU � �� ���� �	
 ���� ��� 
�	� ������ �������

���� �	�����
� ��� ���� U ��

 �� ��� 	��� n 
������� � ����
�� �	�����
� JV ��

 ����� ���

��� ������ [aV , aV + 1] × [bV , bV + 1] ����� ��� ���� V ��

 �� ��� 	��� n 
�������

���	 ��	������	� ��� �	�����
 JU �	 ��� ���� ��
����� 
������	 �	 ��� ������ [a, a +

1]× [b, b + 1]� ���	 ��� 
�	� ������ ������� JU ��� ����
��	� n 
������ ��

 ���� (rn, tn) ��

����� ���� � ������� !� ������ ��	�� ��� ���� �� ��� 
�	� ���� ��	������ Kβ,0 �� ��	�� �	

��� ������ ���	 ��� 
�	� ������ ������� ��� �	�����
 JV �	 ��� ������ [a, a+1]× [b, b+1]�

��� ����
��	� n 
������ ��

 ���� (rn − 1, tn + 1) �� ����� ���� � ������� ��	�� ��� ���� ��

��� 
�	� ���� ��	������ Kβ,0 �� ��	�� �	 ��� ������ ����� �� �	 n1 �� ���� I ′
n1

= (a, b) �	�

��� 
�	� �	���� ��� ������ [a, a + 1] × [b, b + 1] �	 JU �	� �	 n2 �� ���� I ′
n2

= (a, b) �	�

��� 
�	� �	���� ��� ������ [a, a+1]× [b, b+1] �	 JV � ���� ��� un1 = wn1wn1+1 . . . wn1+n−1

�	� un2 = wn2wn2+1 . . . wn2+n−1 �� ���� Ψ(un1) = (rn, tn) �	� Ψ(un2) = (rn − 1tn + 1)�

���� ��� w� k� l� a� �	� b �� �	 ��� �������� 
������ ����� ����� ������� u �	� v �� 
�	��� n

�� w �� ���� Ψ(u) = (rn, tn)� Ψ(v) = (rn−1, tn +1)� �	� ����� ��� (a mod k) �������	���

�� � �	� (b mod l) �������	��� �� � �� ��� 
��� �� ���� u �	� v�

"�� ���� �� ���� ����� !������ 
��#� 
�� �� ��� ���	 ����
� �� ���� ������	 ���
�	�

���� ��� ���
��	 ����
����
 �� ��
�	��� ��������� ����� �	 �	 �
������ �� ��$� �� 
����

%�


���
�� ����� ��� ω ∈ AN �� � �������� ����

�
� �
��� �
�� |A| ≥ 3� ���� ω 
� ���


	��� 
� � ����	
�� �
�� s 
��� {0, 1} 
���
��� �� ������
�� ��� ����������� 
� ��� �� �

�
������ ��� �������� G0 
� �������� A0� ��� ��� ����������� 
�  �� �� � �
������ ���

�������� G1 
� � �
�!

�� �������� A1� ����� A0 ∪ A1 = A� �
� ���� n > 0� ��� rn ���

tn �� ��
��� �
 ���� Ψs(n) = {(rn, tn), (rn − 1, tn + 1)}� ����"

ρab
ω (n) = ρab

G0
(rn) · ρab

G1
(tn) + ρab

G0
(rn − 1) · ρab

G1
(tn + 1)

&�



����� �� �������	 4.2.2 
�� 4.2.3
 ω �	 ��� ��
�� �� 
 ������
� ���� s ���� {0, 1}
���
���� �� ����
���� ��� 	��	������� �� ��	 �� 
 ���	�
�� �
� 	������� G0 �� 
���
���

A0
 
�� ��� 	��	������� �� ��	 �� 
 ���	�
�� �
� 	������� G1 �� 
 ��	����� 
���
��� A1


����� A0 ∪ A1 = A�
 ��	���� ��� �
����	 �� ������ n �� ω� !
�� �
���� �� ������ n �� ω �����	����	 �� 


�
���� �� ������ n �� s ����� ��� ��	 �
�� ���� ����
��� �� ������	 �� G0 
�� ��� ��	 �
��

���� ����
��� �� ������	 �� G1� ���	 �� "�� ρab
ω (n) �� ���� �� ���	���� ��� ������ ��

�
�	 �� �
� �
����	 �� ������ n �� s �� ����
���� ��� ��	 �� ���	������� ������	 ���� G0


�� ��� ��	 �� ���	������� ������	 ���� G1�

�� ��� 
 �
���� u �� ������ n �� s
 Ψ(u) ∈ {(rn, tn), (rn − 1, tn + 1)}� �� #���
 4.2.5


��� "�	� � �� u �
� �� ����
��� �� 
�� ������ �� ��� �
	� �� G0
 
�� ��� "�	� � �
� ��

����
��� �� 
�� ������ �� ��� �
	� �� G1� �� #���
 4.2.6 ��� ��
�� �� u �� ω �
� �
��

������ rn �� rn − 1 ������	 ���� G0 
�� ������ tn �� tn + 1 ������	 ���� G1 ��	����������

���	 ����� 
�� ρab
G0

(rn) �
�	 �� 	����� rn ��	����� ���	������� ������	 ���� G0
 
�� ���

�
�� �� ���	� �
�	 ����� 
�� ρab
G1

(tn) �
�	 �� 	����� tn ��	����� ���	������� ������	 ����

G1
 
�� 
�� ��		���� �
�	 �
� ������ ���	 �� u �	 
 �
���� �� s ���� Ψ(u) = (rn, tn)


����� 
�� ρab
G0

(rn) · ρab
G1

(tn) ��		���� �
�	 �� 	����� ��	����� $��� �
���� ��� 	
�� %
��&�

������' ���	������� ������	 ���� G0 
�� G1� #�&���	�
 �� u �	 
 �
���� �� s ���� Ψ(u) =

(rn−1, tn+1) ����� 
�� ρab
G0

(rn−1) ·ρab
G1

(tn+1) ��		���� �
�	 �� 	����� ��	����� ���	�������

������	 ���� G0 
�� G1� ����� ���	� ������	 
�� ����������� �� �
�� ρab
G0

(rn) · ρab
G1

(tn)+

ρab
G0

(rn − 1) · ρab
G1

(tn + 1) �
�	 �� 	����� ��	����� ������	 ���� G0 
�� G1 �� ����
�� ��� ��	


�� ��	 �� 
 �
���� �� ������ n �� s�

���������
 
�� �
���� �� ������ n �� ω ���� �� ���	������� ���� ������ rn ���	�������

������	 ���� G0 
�� tn ���	������� ������	 ���� G1
 �� rn − 1 ���	������� ������	 ���� G0


�� tn +1 ���	������� ������	 ���� G1� ���	 �� �
�� ρab
ω (n) = ρab

G0
(rn) ·ρab

G1
(tn)+ρab

G0
(rn−

1) · ρab
G1

(tn + 1)�

(	��� ���	 ������
 �� "�� ��� 
����
� ������)��� �� 
 �
�
���� ���� ���� 
 * ������


���
���
 �� ����� ���	���� ��
� ���	�
�� �
� 	�������	 
�� �	�� �� ���
�� ��� +� �����

�	� 
 ���	�
�� �
� 	������� ���� ����� ������	 ���� 
������ ���	�
�� �
� 	������� ����

��� ������
 �� ��� ���	�
�� �
� 	�������	 ���� ��� ������	�

����	
� �����	� ω ∈ AN �	 
 �
�
���� ����
 |A| = 5
 
�� ω �	 ���
��� ���� 
 ������
�

���� s ���� {a, b} �� ����
���� ��� 	��	������� �� a�	 �� 
 ���	�
�� �
� 	������� Ga =

(123124)∞ 
 
�� ��� 	��	������� �� b�	 �� 
 ���	�
�� �
� 	������� Gb = (5)∞� ����

(ρab
Ga

(i))i≥1 = (4, 5, 2, 5, 4, 1)∞ 
�� (ρab
Gb

(i))i≥1 = (1)∞� ���	 ����� �)�	�	 
� n 	� ��
�

In = (un, vn) 
�� un ≡ (2 mod 6)
 ���� ��
� ��� 
�� n (vn mod 1) ≡ 0
 
�� 	�

ρab
ω (n) = ρab

Ga
((un mod 6)) ·ρab

Gb
(vn)+ρab

Ga
((un−1 mod 6)) ·ρab

Gb
(vn+1) = 5∗1+4∗1 = 9

*,



�� ��� ���� �	 	
� ����
 ����� ��
 ������� ��������	� �� � C��������� ��
��

����� ����� �	
�� 
	� ������� �	��������

�� ������ �� �	� ���
���
����� �� �� 
������
 ����� ��
�� �� �����	 n ���
 � k������


���	���� A� k ≥ 2� �	�
� ���� �� �� ���� lk(n) =
(

n+k−1
k−1

)

�������� ������
� ��
��	 ��
��
��

��� �� ���� 
������
 ������� �� �	� ��� �� �������� ��
��	 ��
��
� �� � ����
��� ���� ���

A = {0, 1, . . . , k − 1} ��� u ∈ A+ ���	 |u| = n�  	���

k−1
∑

i=0

|u|i = n ⇐⇒ |u|0 = n −
k−1
∑

i=1

|u|i,

�� �� ��� �	� ��
��	 ��
��
 ��
 u ���� ������� �� k−1 ������ ���
� �� ���� �	� ��
� 	��

�����	 n� ��� 
������
 �	� ��� Λk,n� �	�
	 �� �	� ������ �� Zk−1� �	� ��� �� (k− 1)�������

�� ������
�� �	�
�

Λk,n =

{

(x1, x2, . . . , xk−1) ∈ Zk−1

∣

∣

∣

∣

∣

k−1
∑

i=1

xi ≤ n; ∀i xi ∈ Z, xi ≥ 0

}

.

 	�� �� ��� �	� 
�

��������
� ������� Λk,n ��� �	� 
����
���� �� ��� �������� ��
��	

��
��
� ��
 ��
�� �� �����	 n ���
 � k������
 ���	����� 
������
 �	� 
����
���� �� k�������

�� ������������ ������
� (i0, i1, . . . , ik−1) �	�
� i0 + i1 + · · · ik−1 = n� ��� ���� ���� i0 =

n − (i1 + · · · ik−1)� !�� ��
	 � k������ �� Λk,n �� �������"

(i0, i1, i2, . . . , ik−1) �→ (i1, i2, . . . , ik−1)

 	�� ������� ����� � ��#�
���� 
�������� �	�
	 
�� �� ���� �� �������� $� ���������� ��
	

ij ≥ 0� ��� ���
� i0 + i1 + · · · ik−1 = n �� ���� i1 + · · · ik−1 ≤ n �� �	� ������� �� ����

Λk,n� %� ��� k������� u ��� v ��� �� �	� ���� λ ∈ Λk,n� �	�� ��
 ��
	 i �� ���� ui = vi

��� �	�� u0 = n− (u1 + · · ·+uk−1) = n− (v1 + · · ·+ vk−1) = v0� �� u = v�  	�� ��
 ����

λ = (λ1, λ2, . . . , λk−1) ∈ Λk,n� �	� k������ (n − (λ1 + λ2 + · · · + λk−1), λ1, λ2, . . . , λk−1)�

�	�
	 �������� �	� ����� 
���������� ����� ��� �� λ�

 	� ��� Λk,n 
�� �� �&������ ���	 � ���
�
� ������ � ���

��� ���
�
 ���
��  	� ����

������ ���
�
 �� �	� ���
� �� �	� ����� �� C������
� �� ������ �� �������� ��
 λ, κ ∈ Λk,n"

η(λ, κ) = sup

{

|λ1 − κ1| , |λ2 − κ2| , . . . , |λk−1 − κk−1| ,
∣

∣

∣

∣

∣

k−1
∑

i=1

λi −
k−1
∑

i=1

κi

∣

∣

∣

∣

∣

}

.

%� �	� 
��� �� �	� ���
�
� �	� ����
��
� |λi − κi| 
�

������� �� �	� ����
��
� �� �	�
�����
 �� �

�

��
�� �� �	� �����
 i� ��� �	� ��
� |∑λi −

∑

κi| 
�

������� �� �	�
����
��
� �� �	� �����
 �� �

�

��
�� �� �	� �����
 0�

'(



���� ��� �	 
	�	
�
 ���� ω ∈ AN� ��
 �
� Ψω(n) ��	 �
 
��
��
� �� � ����
� ��

Λk,n� ��
	 
� ��
 ���� ω 
� C�����	�
�� �
 �	�� 
� λ, κ ∈ Λk,n ����
���	� �� ���
��

�
����� �� ������� �� ω �� �
	��� n ��
	 η(λ, κ) ≤ C� ��
�
���
� 
� � ���� ω 
� C�����	�
�

��
 
��
��
	� �� Ψω(n) ����� �
 ���	�
� �� � ���
�
� 
	 ��
 �
	�
 �� ��
 �
��
� η�

�� �
��
�
� C �	� ���� ��
 ��
�
�	 �����
�
��� ρab
ω � ����� �
 ���	�
� ����
 �� ��


����
	��
�� �� ���� � ���
�
�

������� ��	�
 ��� |A| = k ≥ 2� ��� ω ∈ AN �� C	��
������ 
��� ��� ���� n�

ρab
ω (n) ≤

(

k
⌊

Ck
2

⌋

)[C+1]

.

����� �
� A = {0, 1, . . . , k − 1}� �	� ω ∈ AN �
 C�����	�
�� ��� �	� u, v ∈ Fω(n) �


�	�� ||u|i − |v|i| ≤ C� �� ��� �� �

	��� ����
 n ��
�
 
�
�� 
	�
�
�� ti �� ���� ti ≤ |u|i ≤
ti + C ��� 
��� i = 1, 2, . . . , k − 1� �
� Bω,n �
 ��
 ����
� �� Λk,n �� ����!

Bω,n = { λ ∈ Λk,n | ti ≤ λi ≤ ti + C ��� 
��� i = 1, 2, . . . , k − 1 } .

"	���
� ��� �� �

� Bω,n 
� �� � ���
����
 �
�� �
�
 �
	��� C 
	 Zk−1�

��� ��
 ���
 �� �	�
	� ��
 ���
�
 �� �
��
�
� C �
�� ��
 ����
�� ����
��
 ����
	��
��

�
 ��	 �����
 ���� 
��� ti ≥ 0 �	�
∑

(ti + C) ≤ n� 
�
� Bω,n 
� ������� ��	��
	
� 
	

Λk,n� ��
	 
� ������ �
 ��
�� ���� ��
 
���
 �� Ψω(n) 
	 Λk,n 
� � ����
� �� Bω,n� ���


��� m = 0, 1, . . . , C(k − 1) �
�	


Dm =

{

λ ∈ Bω,n

∣

∣

∣

∣

∣

k−1
∑

i=1

(λi − ti) = m

}

�� �
 ��
 �
� �� ������
� ���
����	
� 
	 Bω,n� ��
�
 ��� ������� �� ω ����
���	�
	� �� ��
	��


	Dm ����� ���
 ��
 ���
 	���
� �� ������
	�
� �� ��
 �
��
� 0� ���� Bω,n 
� ��
 �
�#�
	�

�	
�	 �� ��� ��
 Dm� �	� ��
 
���
 �� Ψω(n) �
�� �
 � ����
� �� Dm ∪Dm+1 ∪ · · · ∪Dm+C

��� ���
 m = 0, 1, . . . , C(k − 2)� ���� ��� ��
 ����
�� (C + 1) �� ��
 Dm �
���

ρab
ω (n) = |Ψω(n)| ≤

C
∑

i=0

|Dm+i|.

���� �
 	

� �� �	� ��
 ����
	��
�� �� ��
 �
�� Dm� �	� ��
	 �
 ��	 �	� �	 ���
� ���	�

��� ��
 ��
�
�	 �����
�
���

��� 
��� m� ��
 ����
	��
�� �� Dm 
� ��
 	���
� �� ���� �� ��
�
 m �� ��
 ���

�� k − 1 	�	�	
���
�
 
	�
�
�� �
�� ���	 �� 
$��� �� C� �� m = i1 + i2 + · · · ik−1 ��
�


0 ≤ ij ≤ C ��� 
��� j = 1, 2, . . . , k − 1� ��� 
��� m� ��
� ����
 
� �	��	� ��
� 
� ��


���
 ����
 �� ��
 ��
 �

	� �� xm 
	 ��
 
���	�
�	 �� (1 + x + · · · + xC)k−1� ���� 
�

(1 + x + · · · + xC)k−1 = a0 + a1x + a2x
2 + · · · + aC(k−1)x

C(k−1)� �
 �	��

a0 < a1 < · · · < a⌊C(k−1)
2 ⌋ = a⌈C(k−1)

2 ⌉ > · · · > aC(k−1),

%%



��� ���� |Dm| = am� 	�
� ����
�
�
�� ��
 ��
��

��� �� (1+x+ · · ·+xC)k = b0 + b1x+

· · · bCkx
Ck� �
 ���
 b⌊Ck

2 ⌋ = b⌈Ck
2 ⌉ ��
 ��
 ��
��
�� ��
��

���� ��� ��
� ��
 ��
 ��� ��

��
 ��
��
�� C + 1 ��
��

��� �� (1 + x + · · · + xC)k−1�

	� ��� ��
 ��
��

��� �� (1 + x + · · ·+ xC)k = b0 + b1x + · · · bCkx
Ck� �
 �
�� �

� ��

�
��
 ���
 �
� �����
��� �
 ���� �
��


(

k

m

)[2]

=

(

k

m

)

,

��� ��� C ≥ 2 �
 �
��
 �
����
�
��

(

k

m

)[C+1]

=
m

∑

i=0

(

k

m − i

)(

m − i

i

)[C]

.

���� [��]� ��
 ��
��

�� bm �� xm 
� ��
 
�����
�� �� (1 + x + x2 + · · · + xC)k 
�

(

k

m

)[C+1]

=

(

k

m

)(

m

0

)[C]

+

(

k

m − 1

)(

m − 1

1

)[C]

+

(

k

m − 2

)(

m − 2

2

)[C]

+ · · ·

��
�

(

s
t

)

= 0 
� s ≤ 0� t ≤ 0� �� s < t� 	��� ��
�� ��
� �����
�� ���� ���
� �
 ���
 �

�
�
 ��� �� ��
�
 ��
 ����
 ��� ��
 ���
�  ���� �� ��
 � 
�
�� �����
�
�� �� � 
���
�


���� ω �� � k!�
��
� ����� 
� ���� 
� C! �����
�� �
 ���
"

ρab
ω (n) ≤

(

k
⌊

Ck
2

⌋

)[C+1]

.

#� ��
 ���
 �� �  �����
� ���� ω� �
 ���
 ρab
ω (n) ≤

(

k

⌊ k
2⌋

)

� ��� ��� k = 1, 2, 3, 4, 5, 6, 7

�
 ���
 ρab
ω (n) 
�  ����
�  � 1, 2, 3, 6, 10, 20, 35 �
��
��
�
��� $� �
�����
� 
� ��
 ��
�
���

�
��
��� ��
 � 
�
�� �����
�
�� ��� �� ��
�
��
�  �����
� ���� ω �� k �
��
�� ���  


�
�
��
�
�  � ��
 � 
�
�� �����
�
�� �� ��
 �������� ��� �
%�
��
� ���� ��
 ��
� ��

��
��
 
��

��� 
�����
� 
� �� ����� 
� 
� ������
� �� & �
��
�� ��
� � �
����
�� ��
�
��
�  ��!

���
� ���� ��
� ���� ����� 
� �
�� ��� ���

�
 ��
 ���
��� ����
� �� �'�

$� ��
�
��
�  �����
� ���� ω �� � & �
��
� ����� 
� ��� ρab
ω (n) ≤ 9�

	��� 
� ω ���

�
� ��
 ���
��� � 
�
�� �����
�
��� 
� ����  
 (
�
�������) �
�
��
��

#� ��
 ������
�� �
��
�� �
 �
�� 
��
��
���
 ��
 ���
��� ����
 ��
 � 
�
�� �����
�
�� ���

���

�
� $� ��
 �
�
 �� ��
� ��
�
��� ����  �����
� ����� ���
  

� ����
�
�
�� 	�
� 
�

 
����
 ��
�
 
�
�� �
�
 ���� �� �
�
���
*
 �
����
��  �����
� ������ ���
�� ��
 �
����

�
���
 
� 
� +
��
�� 4.2.1�

,&



����� ����	��
��
 ������� ��������
�

��� ������	
 ��� 
�
����
 ����� ���� 
��� �������
 ��� �����
� �	� ���
 
�
���� ����

���� �� 
��� �� ��� �	����
� ��������� ���� ��
 ���� ���� ���� � k������� ��������� ����

k ≤ 6� ���
 ������� ���� ����
 �� � 
����
�	�� ���	� C������
�� ����
 ���� �������

������� 
����������

�� ��
���� 4.2.1 ��� 
��
���� ��� 
��	��
�
 �� k ������
 ��� k = 1, 2, 3, 4 ��� ��
����

���
� 
��	��
�
 ��� ��
��� ����� ������ �	� ��
��� ���� ���� �
 ��� �������
 �������


��������� 
��	��
��

k = 1
 !� (1)∞

ρab (1)∞

k = 2
 !� (12)∞

ρab (2, 1)∞

k = 3
 !� (123)∞ (1213)∞

ρab (3, 3, 1)∞ (3, 2, 3, 1)∞

k = 4
 !� (1234)∞ (121314)∞ (12131214)∞ (123124)∞

ρab (4, 4, 4, 1)∞ (4, 3, 6, 3, 4, 1)∞ (4, 3, 5, 2, 5, 3, 4, 1)∞ (4, 5, 2, 5, 4, 1)∞

"�� �����
�� ��������
 ���� ���� �� �������� �� # �� ��

 ������
 ���� �� 
������ ���� �

��	����� ���� ���� ��� ��� �� ��� ����� 
��
���� ��� 
��	��
�
� $�� �������� �� 
�����

� �����
�� ���� ���� � # ������ �������� �� 
�	�� 	
� � 
��
���� ��� 
��	��
� ���� %

������
 ��� ������� ���� & ������� �� � 
��	��
� ���� ' ������
 ��� ������� ���� ( ������
�

)���� �� 
�� 	
� ��� 
��
���� ��� 
��	��
�
 ���� % ������
 �� 
����� � �����
�� ��������


���� ���� * ������
� �� 
�� ��� +�� ��� �����
�� ��������
 ����
 ���� * ������
 ���� ���

����� 
��	��
�
�

,�� ω �� � �����
�� ��������
 ���� ���� � k������� ��������� ����� 2 < k ≤ 5�

���� ω 
�� �� 
������ ���� � ��	����� ���� s ��� 
��
���� ��� 
��	��
�
 g ��� h� �


��

����� �� ��
���� 4.2.1� �� 
�� ��� ��

���� ���	�
 ��� ρab
ω (n)� 
��
���� ��� 
��

Sω =
{

ρab
g (r) · ρab

h (t) + ρab
g (r − 1) · ρab

g (t + 1) | r ≥ 1, t ≥ 1
}

,

��� ��	
 ρab
ω (n) ∈ Sω� ���
� ��� ������� 
��������� 
��	��
� ��� ���� g ��� h ���

�������
� |Sω| ���� �� +����� ��	
 ��� ������� ���	� ��� ρab
ω (n) ���� �� maxSω�

������� �	
 �	���
� ω �
 � �����
�� ��������
 ���� 
��
��	
��� ���� � ��	����� ����

s ��� 
��
���� ��� 
��	��
�
 g = (123124)∞ ��� h = (5)∞� ����

Sω = {5 + 4, 2 + 5, 5 + 2, 4 + 5, 1 + 4} = {5, 7, 9}

��� ��� ������� ���	� ��� ρab
ω (n) ���� �� -�

%.



��� ������� ω �� � 	�
����
 ������
�� ���
 ����������
 ���� � �������� ���
 s ��


�������� ��� ��������� g = (1213)∞ ��
 h = (45)∞� ����

Sω = {2 · 2 + 3 · 1, 3 · 2 + 2 · 1, 1 · 2 + 3 · 1, 2 · 1 + 3 · 2, 3 · 1 + 2 · 2, 1 · 1 + 3 · 2} = {5, 7, 8}

��
 ��� ������
 ��
�� ��� ρab
ω (n) ��

 	� ��

�� ����� ��� ���� ��� � ��������� ������
�� 	�
����
 ���
 ω ���� � � 
����� �
���	���

ρab
ω (n) ≤ 9� ���� ����� ���� �����
����� ��� �	�
��� ����
����� �������� �� �������� ���

��������� ��
 ��� �����	
� ���	�������� �� ���� �� ������ � ��������� ������
�� 	�
����


���
 ���� � � 
����� �
���	��� ���� �� 	�
����
 ������
�� ���
 ���� � � 
����� �
���	��

��

 ������� ��� ������� ��
�� ��
(

5

⌊ 5
2⌋

)

= 10� ���� �� � 	�
����
 ���
 ���� � � 
�����

�
���	�� 
��� ���� �	�
��� ����
����� �� � � ��� ���� ������ 
������ �� �� ��� �� ������
��

���
�

!� �����
 	������ �� 	�
���� ����� ��� � �������� ��� ��������� ���� � 
������� "���

�� ����� � ��������� #�� �� ����������� �� �����$ ��� 
����
 ���� ��� �����
�� �	�
���

����
����� ���������

(12345)∞ (12341235)∞

(5, 5, 5, 5, 1)∞ (5, 5, 7, 2, 7, 5, 5, 1)∞

(123125)∞ (123124125)∞

(5, 6, 3, 6, 5, 1)∞ (5, 7, 3, 9, 9, 3, 7, 5, 1)∞

(12131415)∞ (1213121412131215)∞

(5, 4, 8, 4, 8, 4, 5, 1)∞ (5, 4, 7, 3, 8, 5, 7, 2, 7, 5, 8, 3, 7, 4, 5, 1)∞

(121314121315)∞ (132415231425)∞

(5, 4, 9, 5, 7, 2, 7, 5, 9, 4, 5, 1)∞ (5, 6, 9, 3, 7, 2, 7, 3, 9, 6, 2, 1)∞

(123124123125)∞ (121312141215)∞

(5, 6, 3, 8, 7, 2, 7, 8, 3, 6, 5, 1)∞ (5, 4, 7, 3, 9, 6, 9, 3, 7, 4, 5, 1)∞

�� ��� �����
 ���
 �� ��� �������� �����
� �� ���
 ���� ��� �������� ��� ���������

�	���� �� %�
 ���� � 	�
����
 ������
�� ���
 ���� � & 
����� �
���	�� ��

 ���� �	�
���

����
����� 	���
�
 �	��� 	� ���

�����	
��� 
���� ������� |A| = k� k ≥ 5� �	
 ω ∈ AN �� � ��
����	� C�����	
�
 ���
�

�� ����� ������ �	 n �� ����

ρab
ω (n) =

(

k
⌊

Ck
2

⌋

)[C+1]

.

���	 ω �� ���	������ �����
�
�

'(



���� ��� �		
 ��
	 �� 

� ����� ����� �����
 ��	 ���	� ���
� ���
� �
 ��	��	�

4.2.8� ��� 	�����	� ��	 �������
� �����

α5 = (12312412512312412)∞

α6 = (12312412512312412612312412)∞

��	 ����
�	� ����� ����� ����	�	 ������� ��	���
 �����	����� �
� �� �� �	����� �	��
	�

���� ρab
α5

(4) = 10 �
� ρab
α6

(13) = 20� �� ��	 ���	 �� ���� �����
�� 
� ����
�	� ���� ��	� �


������	� �� ���	 �� �	���  ��� �		
 ���
� �� ����	�	 ��	 ����	 ���
� ������� ��	��	�

4.2.8�

��� 	��� k ≥ 1� ��	�	 ���� �	 

��	�� ��
� ��
���
� ��� �	!�	
�	� ��	� k �	��	��� ["]�

��� ��	 
���	� �� ��
���
� ��� �	!�	
�	� ���� 	���� ��	� �
 ������	� �� ���	 k� ��� �


��������� k� �� ����� �
 ��	
 �����	�� ��	�	 �		�� �� �	 ��
� �
�
��	�	� !�	����
� �




��
� ��	 ������� ���	� ���
� ��� ��	 ��	���
 �����	���� �� C#����
�	� ������
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���������	
 �	��
����� 	� �����	��� �	��� �� � ��
�����
� 
�� 
	��	
 	� �	�� �	��
�����

����� ��� ���� �
��	����� �
� ������� �� �����	� [��] ����� 	
 ����� 	� ���� �� ����!


	���� "��� ��� ���
	�
�� ��
�� �
 [#$]%& �
� �� ����� 	
 ��� ���� 	� �
 �
�
��� �����!

����	
 ���	������ �	 �
 �����	��� �	��� '	� �
 �����	��� �	�� ω& 
	 ��	 ������ 	� ω ���

���
����
� (���&  ���
 �
 	���� 	
 ��� ����	
� ���� �	 �	��	�� ω& 
	 ��	 ������ 	� ω ���

�)��
 
����	 �������

�� (�� �
�
��� ���������	
 ���	������ ���� ω �� ��� 
�
��� 	����

	
 N �
����� �� ��� 
����	 ������ 	���� 	� ��� ������ 	� ω� (�� ���������	
 �	��
�����

	� ��� �	�� ω ��

 �� ��� 
����� 	� �����
�� ������������	
� 	� �  ���
 
�
 �� 	� ���

�
�
��� ���������	
 ���	������ ���� ω�

(��� ������� ��

 ���� � ��� ��*���
� ���������	
 �	��
����� ����
��� �����	
 5.1

��� �	�� ���
���
��� �
�	�����	
 ��	�� �
�
��� ���������	
� �
����� �� �
 �����	���

�	��& �� ��

 �� �	�� ����� ��	������� ��	�� ����� �
�
��� ���������	
�� +
 �����	
 5.2 ��

��
��
��� ��� ���������	
 �	��
����� 	� ��� (���!�	��� �	��� �����	
 5.3 ���
� ���� ���

���������	
 �	��
����� 	� �
�
��� �	��� ����� ��� ��� ��� � 	� �
 �����	��� �
��	��
�

�������
� �	�� �
��� ��� �	��
�
 ���& d� ,� �
�	  ��� ��� ���������	
 �	��
����� 	�

��� ��� � 	� �������
 �	��� �
��� d& �
� ��� ��� � 	� ��� (���!�	��� �	�� �
��� d�

��� �����	�
�����

+
�
��� ���������	
� ���	������ ���� �
�
��� �����	��� �	��� 	��� � ��
��� �
������

��� ����
� ��

!�������& ��� ��
� 	� ��� �� ���
�� ���� �	� ��
��� �	��� ����� �	�


���
 ���� ���� �	��� 	��� �	�� ���
 ��	 ����	
�� -���
 � ������������	
 	� 
�
 ��

n 	� �
 �
�
��� ���������	
 ���	������ ���� � ��
��� �	��& � �	���	
 	� 
�
 �� n − 1

	� ��� �	�� ��
 �� ���	����� ��	� ��� ������������	
� (��� �� 
	� �
���� ��� ���� �	�

������������	
� ���	������ ���� �	��� 	��� � 	� �	�� ����	
�� '	� �����
�& �	
����� ���

���������	
 (1 2 3)� +� ���� ���������	
 �� ���	������ ���� � ��
��� �	�� 	��� {0, 1}& ����

./



0 < 1� �� ����� �	�
 �����
��	� �� ��� ���� 00� �	 ��� ����� ��	�� �� ���
 ����������	

�
 �

������� ���� � ���� ���� � 

����
� 
����
� {0, 1, 2} ���� 0 < 1 < 2� ���	 ���

����������	 ����� �� �

������� ���� �	
 �� 00� 01� �� 11�

��� ��	��
 ����
 ��� 
������������	
 ����	� �	 ��� ����� �	 ��� 

����
 �
�� ��

�����
� ω� ��� ��� ����������	 ���������
 ���
 	�� ����	� �	 ��� ������ ��� ����


���� � �� ���� 

����
� 	�� �	�
 �� ��� 
������������	
 ����	� �	 ��� ����� �	 ���

�������� ��� 
� ���
 ��� ����������	 ���������
� ��� �������� ��	
���� ��� ����	����

����

t = 0100101001001010010100100101 . . . ,

���	�� �
 �������	� ��� ������
� 0 �→ 01, 1 �→ 0 �	 ��� ������ 0� �	� 
����
� ��� �
 ���

�������� �
 �����	���	� a�
 �	� b�
 �� ������ ��� �����

t̂ = 0a00b0a00b00a0b00a0b00a00b0a . . . .

 � ��� 

����
 �	 t̂ ��� ������� 0 < a < b ����� ���� �� ! ��
��	�� 
������������	
 �� ��	���

�� �	� �� ��� 

����
 ��� ������� a < 0 < b ����� ���� �� �	�
 " ��
��	�� 
������������	


�� ��	��� ��

 	 ���
 
�����	 �� ���� ���� 
��� ��
�� ���	����	
 ����� ���� �� �
�� �	 ���
 ��������

����� ������	 
	��
������

#�� ���� �� �	 �	�	��� ����������	 ���� ���� �� ���� �
�� ��
 �	�������� �	 [�$]� %�	��

�� ���� �� �	��
������	� ��� ����������	 ���������
 �� �	�	��� ����
� ��� 
�� �
�� �	 ���

�������	� ���	����	 ���� �� N ������ ���	 �	 ��������
 ���	����� 
��� #� ���	� �	 �������

����	�
���� π� 
���� ���� � ��	��� ����� ≺π �	 N� �������� ���� ��� �
��� ����� < �	 N�

#� �� ���� 
������� �	 �	�	��� ����������	 �
 ��� ������� ������ π = 〈N,≺π, <〉� �����

≺π �	� < ��� ��	��� �����
 �	 N� #�� 	������	 �� �� �
�� ���� ���� �� π(i) < π(j) ������

���	 i ≺π j.

����� 
	��
������� ���
�	� �� �����

&���	 �	 ��������� ���� ω = ω0ω1ω2 . . . �	 �	 �������� A� �� � ��	��� ����� �	 A�

'� ���� �
� ��� ��	��
 �������� A = {0, 1} ���� ��� 	������ ������	� 0 < 1� �	�� �

��	��� ����� �
 
�� �	 ��� ��������� �� ��	 ���	 ���	� �	 ����� �	 ��� 	������ 	�����


��
�� �	 ��� ������������� ����� �� 
����
 �� ω� (�	
�����	� ��� 
����
 �� ω ���� a 
= b�

ω[a] = ωaωa+1ωa+2 . . . �	� ω[b] = ωbωb+1ωb+2 . . .� �� )	�� ω[a] 
= ω[b] �����
� ω �


���������� #��
 ����� ���
�
 
��� ��	���� 	����� c ≥ 0 
� ���� ωa+c 
= ωb+c �	�

ωa+i = ωb+i ��� ���� 0 ≤ i < c� '� ���� πω ��� �	�	��� ����������	 �

������� ���� ω

�	� 
�
 ���� πω(a) < πω(b) �� ωa+c < ωb+c� ��
� �� 
�
 πω(b) < πω(a)�

!*



��� ������� ��	
��� a ≤ b 
������� ��� ��
��� ω[a, b] = ωaωa+1 . . . ωb �� ω �� ������

b − a + 1� ������ ��� ����� ���	������� �� {1, 2, . . . , b − a + 1} 
������������ �� ���

������ ����� 
� πω[a, b]� ���� ��� πω[a, b] �� ��� ���	������� �� {1, 2, . . . , b−a+1} �� ����

��� ��
� 0 ≤ i, j ≤ (b − a)� πω[a, b](i) < πω[a, b](j) �� ��� ���� �� πω(a + i) < πω(a + j)�

��� ���� p = p0p1 · · · pn �� � ������� �	
���
	������ �� πω �� p = πω[a, a + n] ��� ��	�

a, n ≥ 0� ��� ��� ��
���	������� p = πω[a, a + n] �� {1, 2, · · · , n + 1}� �� ��� ��� ������

�� p �� n + 1�

������ ��� ��� �� ��� ��
���	�������� �� πω 
� Permω� ��� ��� ��
� �������� �������

n ���

Permω(n) = { πω[i, i + n − 1] | i ≥ 0 }

������ ��� ��� �� ������
� ����� ��
���	�������� �� πω �� ������ n� ��� ���
	������

��
������� �	������ �� ω �� ������ �� ��� ����� ��	
�� �� ������
� ��
���	�������� �� πω

�� � ������ n� ������� τω(n) = |Permω(n)|�

������� ����� 
������� ��� ����� ���� ��
���

� �����

t = 0100101001001010010100100101 . . . ,

���� ��� �����
�� A = {0, 1} ������� �� 0 < 1� !� 
�� ��� t[2] = 001010 . . . �� ��"�
��

������
���� ���� ���� t[1] = 100101 . . .� ��� ���� πt(2) < πt(1)�

���� ��� � ��
���	�������� 
������� ��� ��
��� t[3, 5] = 010� !� ��� πt[3, 5] = (231)


�
���� �� ��"�
�������
 ����� �� �� ���� πt(5) < πt(3) < πt(4)�

!� ���� ���� 
� ���������� �� ��� ���	 �� ��� ��
���	�������� �� πω�

��	
���

 ��� � 
����� ���� u �� ������ n − 1� ��� ���� p ��� ���
 	 ��

pi < pi+1 ⇐⇒ ui = 0

��� ��
� i = 0, 1, . . . , n − 2� ��� ���	�������� p ��� q �� {1, 2, . . . , n} ���� ��� ��
�

���
 �� ��� ��
� i = 0, 1, . . . , n − 1�

pi < pi+1 ⇐⇒ qi < qi+1.

���� ����� � ��
���	������� p �� πω �� ����� ��� ��������� ������
����� �� p�

��	
���

 ��� p = πω[a, a + n] 
� � ��
���	������� �� ��� ������� ���	������� πω�

��� ���� ����������� �� p� ������� 
� L(p)� �� ��� ��
���	������� �� p �� ���� L(p) =

π[a, a + n − 1]� ��� ����� ����������� �� p� ������� 
� R(p)� �� ��� ��
���	������� ��

p �� ���� R(p) = π[a + 1, a + n]� ��� 
����� ����������� �� p� ������� 
� M(p)� �� ���

��
���	������� �� p �� ���� M(p) = R(L(p)) = L(R(p)) = π[a + 1, a + n − 1]�

#$



��� ���� i� 	���� ��� pi − 1 	��
� �
 p 	��	 ��� ���� 	��
 pi �
� 	���� ��� n − pi

	��
� 	��	 ��� ����	�� 	��
 pi� ���� ��
����� i ∈ {0, 1, . . . , n−1} �
� 	�� ������ �� L(p)i

�
� R(p)i� �� p0 < pi+1 	���� ���� �� pi+1 − 2 	��
� �
 R(p) ���� 	��
 R(p)i �� �� ����

R(p)i = pi+1 − 1� �
 � ��
���� ��
��� �� pn < pi �� ���� L(p)i = pi − 1� �� p0 > pi+1 	����

���� �� pi+1 − 1 	��
� �
 R(p) ���� 	��
 R(p)i �� �� ���� R(p)i = pi+1� �
 � ��
���� ��
���

�� pn > pi �� ���� L(p)i = pi�

��� ������ �
 M(p) ��
 �� ���
� �� �
��
� 	�� ������ �
 R(L(p)) �� L(R(p))� ��
��

R(L(p)) �� L(R(p)) ��������
� 	� 	�� ��
� ������
�	�	��
 �� p� R(L(p))i < R(L(p))j ��

�
� �
�� �� L(R(p))i < L(R(p))j� ��������� R(L(p)) = L(R(p))�

�	 ������ ���� �� ����� 	��	 �� 	���� ��� 	�� ������
�	�	��
� p = πω[a, a + n] �
�

q = πω[b, b + n]� a 
= b� �� 	��	 p = q 	��
 L(p) = L(q)� R(p) = R(q)� �
� M(p) = M(q)

��
�� �� p = q 	��
 pi < pj �� �
� �
�� �� qi < qj�

����� �����	
 ����
�	���� ����
����� ����������

�
�	����� ���� ��� ���
 ��
� ��	� �
�
�	� ��
��� ����� ���� [�,  !, "#, "", "$]%� �������

A = {0, 1} �
� ω = ω0ω1ω2 . . . ∈ AN �� �
 ��������� ����� ����	 ��	&� ���� �	 ��
� ��
����

����	 ���
�	�	��
� ��
���	�� �� ��
��� ����� ����� �� ��� 	�� 
�	���� ������ 0 < 1�

�
 A�

����� ����� �["#]% ��� �� ������	�
 ���	 ω ���� A = {0, 1} ��
� 
�� ��
���� ��	�����

�� �����

�� πω(i) < πω(i + 1) �� ��	 ���� �� ωi = 0�

�� πω(i) > πω(i + 1) �� ��	 ���� �� ωi = 1�

�� �� ωi = ωj� 
��� πω(i) < πω(j) �� ��	 ���� �� πω(i + 1) < πω(j + 1)�

	
��� 
�� ������� πω(i) < πω(i + 1) �
� ����
� ωi = 1� ���
 �� ωi+1 = 0 �� ���� �

��
	�����	��
� �� ωi+1 = 1 
��	 �� 	���� ���� 	���� �� ��
� m ≥ 2 ��

ω[i] = 1m0 · · · , ω[i + 1] = 1m−10 · · ·

���� πω(i) > πω(i + 1)� ����� �� � ��
	�����	��
� ��������� ωi = 0�

'�
������� ������� 	��	 ωi = 0� �� ωi+1 = 1 	��
 �� ��� ��
� �� ������� ωi+1 = 0

�� ����� ���� 	���� �� ��
� m ≥ 2 ��

ω[i] = 0m1 · · · , ω[i + 1] = 0m−11 · · ·

���� πω(i) < πω(i + 1)�

(#



��� ���� �� ����	 
� �� �� ��� ��
��
�������� �� (1)�

��� ��� ωi = ωj� �� πω(i) < πω(j)	 ���
 ����� �� ���� a ∈ A 

� u ∈ F(ω) �� ��
�

ω[i] = au0 · · · , ω[j] = au1 · · · ,



� ����

ω[i + 1] = u0 · · · , ω[j + 1] = u1 · · · ,

�� πω(i + 1) < πω(j + 1)�

�� πω(i + 1) < πω(j + 1)	 �� ��� πω(i) < πω(j) �� 
 �����
� 
�����
��

����� 	
�
� �[��]� ����� ��� ��	���� 
����
 ����� � � u0u1 · · · ��� v = v0v1 · · · ����

πu[0, n + 1] = πv[0, n + 1]� �� ������� ���� u[0, n] = v[0, n]�

�
��� ��� A = {0, 1} �� �������� ���� ��� 

���
� ������
�	 0 < 1	 

� u, v ∈ AN ��


�������� ����� ���� πu[0, n + 1] = πv[0, n + 1]�  �� 0 ≤ i ≤ n	 πu(i) < πu(i + 1) �� 

�

�
�� �� πv(i) < πv(i + 1)	 �� ui = vi �� !�
�� 5.1.1� ��������� u[0, n] = v[0, n]�

"� �� �
�� 
 �����
� ����� ���
� ��� τω(n) ���
� ��� 
����� �� ������
���
� ��

��
��� n	 ����� �� n!� ����
 5.1.2 �������� ������� 
 ����� ���
� ��� ��� ������
���


������#��� ��� 
 ��

�� 
�������� ���� ω	 

���� ��� �
���� ������#��� �� ω� ����	

�
���
� ���
�� �
 ��� ������
���
 ������#��� �

 �� ���
 �� ��$

ρω(n − 1) ≤ τω(n) ≤ n!.

%��
�� ���� &�����
 2.1.5 ��� ��������
� ����
��� �
 A∞�  �� A = {0, 1}	 0 = 1



� 1 = 0� �� u ∈ A∞	 u = u1u2u3 · · · � '��� ���
�� ��
� ω ��� ��� �� �
����� �� ω �� ������

�
��� ��������
�
���
 �� ��� �
�� u ∈ F(ω) ���
 u ∈ F(ω)� ��� �������
� ����
 �����



 �
�������
� �������� �� ��� ���������
���
� �� ��� �
(
��� ������
���
 πω�

����� 	
�
� ��� ω = ω0ω1ω2 · · · 
� �� ��������� 
����
 ���� ���� ������� ������ �����

���������������� �� p �� � ��
����������� �� πω �� ������ n� ���� ��� ��
����������� q

��	��� 

 qi = n − pi + 1 ��� ���� i� �� ���� � ��
����������� �� πω �� ������ n�

�
��� ��� p �� 
 ���������
���
 �� πω� ����� �� 

 a ∈ N �� ��
� p = πω[a, a + n − 1]�

 �� �
�� i, j ∈ {0, 1, . . . , n−1}	 �� pi < pj ���
 ω[a+ i] < ω[a+ j] 

� ����� �� ���� (
���

���� ui,j �� ��
�

ω[a + i] = ui,j0 · · · , ω[a + j] = ui,j1 · · · .

��� v �� ��� ���(# �� ω[a] �� ��
� ��� �
�� i, j ∈ {0, 1, . . . , n − 1}	 v ��
�
�
� ����

ui,j0 

� ui,j1� &�
�� ��� ��� �� �
����� �� ω �� ������ �
��� ��������
�
���
	 v �� 
 �
����

)�



�� ω� ����� �	 
 b 	� ��
� v �	 
 ���
� �� ω[b]� 
�� ��� q = πω[b, b + n − 1]� ��� �
��

i, j ∈ {0, 1, . . . , n − 1}� �� pi < pj

ω[b + i] = ui,j1 · · · , ω[b + j] = ui,j0 · · ·


�� ���	� qi > qj�

��� 
�� i ∈ {0, 1, . . . , n − 1} ����� 
�� pi − 1 �
�� j 	� ��
� pj < pi 
�� ����� 
��

n − pi �
�� j 	� ��
� pj > pi� ��������� ����� 
�� n − pi �
�� j 	� ��
� qj < qi� 	�

qi = n − pi + 1�

��� 
� 
�������� ���� ω ∈ AN� ��� ��������� ����
 	���	 ��� ���
����	��� �� ���

������
���� ���������� �� ω 
�� ω�

����� ����� ��� ω = ω0ω1ω2 · · · �� �� ����	
�	� �	���
 �
��� ��� ��� ω �� ��� �
�����

���� 
� ω� �
� ���� n ≥ 1�

τω(n) = τω(n).

	
��� ��� 	��� a 
= b� 	����	� ω[a] < ω[b]� ���	 ����� �	 	��� ���		���� ������ �
����

u �� ω 	� ��
� ω[a] = u0 · · · 
�� ω[b] = u1 · · · � ���	 ω[a] = u1 · · · 
�� ω[b] = u0 · · · � 	�
ω[a] > ω[b]�

��� ���� ω 
�� ω �� 	����� �� ���
� τω(1) = τω(1) = 1� �
���� ��� 	��������
����

(1)� ��� n ≥ 2� ��� 
 ������
���� p �� {1, 2, . . . , n}� ��
�� ��� ������
���� p̃ ��

{1, 2, . . . , n} ��

p̃i = n − p̃i + 1

��� �
�� i�

��� p = πω[a, a + n − 1] �� 
 	��������
���� �� πω� 	� p �	 
 ������
���� ��

{1, 2, . . . , n}� ��� q = πω[a, a+n−1] �� 
 	��������
���� �� πω� ��� �
�� 0 ≤ i, j ≤ n−1�

i 
= j� �� pi < pj ���� qi > qj�

��� 0 ≤ i ≤ n − 1� ����� 
�� pi − 1 �
�� j 	� ��
� pj < pi 
�� ����� 
�� n − pi

�
�� j 	� ��
� pj > pi� ��������� ����� 
�� ��
���� n − pi �
�� j 	� ��
� qj < qi� 	�

qi = n − pi + 1� ���	 q = p̃ 
�� ��� 
�� p ∈ Permω(n) �� �
�� p̃ ∈ Permω(n)� 	�

|Permω(n)| ≤
∣

∣Permω(n)
∣

∣ .

�� 
 	����
� 
������� �� �
� 	�� p = q̃ 
�� ��� q ∈ Permω(n) �� �
�� q̃ ∈ Permω(n)� 	�

∣

∣Permω(n)
∣

∣ ≤ |Permω(n)| .

��������� |Permω(n)| =
∣

∣Permω(n)
∣

∣ 
�� τω(n) = τω(n)�

 !
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 	�
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 �
����
� 	���� �� ��
����
��� ������
� ��

��
�
�
����
�� �
����
� 	���� �
� �� ���� �� 
�� ���
 �������
���� ���
�� �� [�]�

����������� 	
�
	 �[�, �, ��]� ��� 0 < α < 1 �� �� ������	��
 ��� s �� ��
����� �	��

���� �
	�� α 	��� {0, 1} ���� 0 < 1� ����

π0cα
(0) ≤ πs(0) ≤ π1cα

(0).

 �������� 
�� ��
�
�
����
�� �
����
� 	��� 	�
� ����� α �
� �� ���� 
� �����

� 
�� ��
�



�� ���

��
 ��!��
� �����


���� 
�����

�� 
� 
 �
����
� 	��� 	�
� ����� α� "� 
 	���

s �� �
����
� 
��� 	� #��	 ρs(n) = n + 1 ��� �
�� n� $� �
%� 
�� �����	��� ����
�

�
��� 	
�
� �[&&]� ��� s �� � ��
����� �	��� �	� ���
��
 �
����� a1 ��� a2 �� ����

πs[a1, a1 + n + 1] = πs[a2, a2 + n + 1] �� ��� 	�
� �� s[a1, a1 + n] = s[a2, a2 + n]�

 ��� ��� 
 �
����
� 	��� s 	� �
%� τs(n) = ρs(n − 1)� �� 
 �����
 �� 
�� 
��%� ����


	� �
%� 
�� �����	����

��
��
� 	
�
� �[&&]� �� �����	��� ������ �	�� ω �� ��
����� �� ��� 	�
� �� τω(n) = n

�	� ���� n ≥ 1�

����� "� ω �� �
����
� �
 �����	� �����
�� ���� '���
 5.1.6 
�

 τω(n) = ρω(n−1) = n�

"� τω(n) = n ��� 
�� n� 
��� 	� �
%�(

n + 1 = τω(n + 1) ≥ ρω(n) > n


�� 
��� ρω(n) = n + 1 ��� 
�� n� 
�� 
�������� ω �� �
����
��

 ��������� �����


��� ��������
� �
� �� ���� 
� ��
����� 
�� �
����
� 	�����

��� �����	
	��
 ��������	� �� 	�� ���������� ����

 ��  ���)*���� 	���� T = T0T1T2 · · · � ��(

T = 01101001100101101001011001101001 · · · ,

	���� �
� �� �����

�� �� 
�� ��������(

µT :

⎧

⎨

⎩

0 �→ 01

1 �→ 10

++



�� ��������	 
� ��� ������ 0
 ���� ���� ����
����� ���� �
�� �� ��� ������� 
� ��������
��

�� �
���� ��� ��
��� ���� ��� �
�� T �� 
����������� �[��]�
 � �
�� ω �� ���� �
 ��

������������ �� �� �
�� �
� �
����� � ����
� 
� ��� �
�� vuvuv �
� �
��� u ��� v� ���� v

�
�������


��� ������
��� �
�� ��� �	��� ����
����� ������������� �� �����
� �
��� ��  !" 

[#$] ���
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� ��%�������� 	�
������ ��� ���� �� ��� �
������
�� 
� ����
���

��������
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� � �
�� �� ����� �

' �� ������� ��
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�� ��� �
������ ������������� �� ��


	�
��� ��  !(!� )���' [  ] ��� �� *��� ��� +��������
 [# ]
 ,�� ��

� 
� ��� ���������
�

�
�������� 
� ��� ������
��� �
�� �
�� �
� ��� ��� ����
� �
�������� ������
�


��� ���������
� �
�������� 
� ��� ������
��� �
�� ��� �� �
��� �� �
��
��
 &
�

��� n ≥ 2� �� ��� ����� n �� n = 2r + p� ���� 0 < p ≤ 2r
 -���	 ���� �
����
�� �� ���� ��

��
�� ���� ��� �
����� �
� ��� ���������
� �
�������� 
� �� ��������� �
�.������� �� �


��'��
�� ��

τT (n) = 2(2r+1 + p − 2).

/� 	��� � � �
��������� ��

� 
� ���� �
����� ����
 ��� ����
� 
� ���� ��

� ������ ��
�

������� ��
������� 
� ��� ������
��� �
�� ��� ��� �
������ ���� 	�������� ��
 0� ��

��������� �
� ����� �
� �
 	�������1� ���� ����
� �
 � ����� ����� 
� �
���


��� ��2���� ���������
� ���
������ ���� ��� ������
��� �
��� πT � �� ����
�����

�� 3����
� 5.2.1
 4������� �
��� �� ��� ������������
�� 
� πT ��� ������� �� 3����
�

5.2.3� ����� 3����
� 5.2.4 �������	���� ���� � �����2� ������� 
�����
 ��� �
����� �
� ���

���������
� �
�������� �� ����������� �� 3����
� 5.2.5
 *
� 
���� ������������
�� ���

������ �� �������� A �
 �� ���� �� � ���� ���� �
� �������
� ��	������


	�
�5 6������ 
� ���� �����
� �5.2� ������ �� [$7]


����� ��� ����	
��
� �����������

0� ���� �����
� ��� ����
� 
� ��� ������
��� �
������ 
� ��� ������������
�� 
� πT ����

�� �������	����
 ���� ����
� ���� ������ � �������2��� ��� 
� ��� ������������
�� 
�

πT ��� ���� �
 �� ������� �������
��� 
� ��� ���������
� �
�������� 
� T 


0� ��� ������� �� ����2�� ���� �� a �� � ������� ������ ����

µT (T [a]) = T [2a]

������� �
� ��� ������ x ∈ {0, 1}� |µT (x)| = 2
 � ���� ��
����� 
� ��� ����
�� 
� T �� ����

��� ����
� 
� ���	�� $ 
� 	������ �
������ ������ 00 
� 11
 ��
���� ����������	 ��
�����

$8



�� ���� ��� �	
 i ∈ N� T [2i, 2i + 1] ��

 �� ������ �� �� ��� ���� �	
 �������	�� �� 00 ��

11 ���� �� � ������ �� ��� ���� T [2i + 1, 2i + 2] ��� ���� i ∈ N� ��������� �	
 �������

T [2i, 2i + n] �	� T [2j + 1, 2j + 1 + n] ����� n ≥ 4 ��		�� �� ����
 ����� �	 ��� 
������	

�� ��� ������� 00 �� 11�

��� πT �� ��� �	�	��� ����������	 ���������� �� ��� ���������� ����� T � ��� a �	�

n �� 	�����
 	������ �	� ������� �� ��	� �� �������	� �� T [a] < T [a + n]� ����� ��



�� ���� �������

 ����
� ������ u �� T � �	� �� !�� x �	� y �� T �� ���� T [a] = uλx

�	� T [a + n] = uλ̄y� ��� λ ∈ {0, 1}� "� |u| ≥ n + 1 �� ���
� ��#� Ta+i = Ta+n+i ��� ����

i = 0, 1, . . . , n� �	� ���� T [a, a + n] = T [a + n, a + 2n]� �	� T [a, a + 2n] ���
� #��
���

��� ���� ���� T �� �#��
�������� ���� |u| ≤ n� �	� �� |u| = n �� ��#� T [a, a + n − 1] =

T [a + n, a + 2n − 1] �	� T2n = Ta� ��������� ��� �������������	 πT [a, a + n] ��	 ��

�������	�� �����	 ��� ������ T [a, a + 2n] �� 
�	$�� 2n + 1� ���� ��� ���#��
 ���	�� ���

��� ����������	 ����
�!��
 �� ��� ���������� ���� T ���

ρT (n − 1) ≤ τT (n) ≤ ρT (2n − 1).

%�	�� ��� ������ ����
�!��
 �� ��� ���������� ���� �� &	��	 ���� [��, '�]� �� ��	

�	� �

 ������� �� � $�#�	 
�	$��� ���� ��� �	
 	�����
 	����� n� �

 ������� �� T ��


�	$�� 2n − 1 ��	 �� ���	����� �	� ���� ��� ��� �� �

 �������������	� �� πT �� 
�	$��

n� PermT (n)� ��	 �� ���	����� �� ��

� ��� �������������	� �� {1, 2, . . . , n} ��#� ���	
���	����� ��� ��
���#�

 
�� n ��� �� n = 65� �	� �	 ����� ����� 	� ���� ���	 ���

�������������	� �� �	
 
�	$�� ���� ���	����� �� ��#� ��� ���� ����� "	 ����� ������ ���

�	
 ������ u �� T �� 
�	$�� n ≤ 64 ����� ��� �� ���� ��� �������������	� �� 
�	$�� n+1

��#�	$ ���� u�

���� ������	 ��

 ���
 ���� ���� ���������� �� πT � %������	$ �� 	��� ����� ��� �����

����� �������� �� ���� �� �� �	 ����� ������#�	$ ��������� �� ����	 �
 ��� ��

���	$


�����

����� ����� ��� ������� ��	
��� a ��
 b� T [a] < T [b] �� ��
 ���� �� µT (T [a]) <

µT (T [b])�

	
��� "� T [a] < T [b]� ���	 ����� �!���� � �	��� ������ u �� T � �	� �� !�� x �	� y �� T

�� ����

T [a] = u0x �	� T [b] = u1y.

���� �� ��	 ���

µT (T [a]) = µT (u)01µT (x) �	� µT (T [b]) = µT (u)10µT (y)

�	� ��������� µT (T [a]) < µT (T [b])�

���	 ������� T [a] > T [b]� �	� �� ��� µT (T [a]) > µT (T [b]) �
 � ����
�� ��$���	��

���� µT (T [a]) < µT (T [b]) ��

 ���

 T [a] < T [b]�

()



����� ����� �� u ��� v ��� �	
��� �� T �� �	�� ��� ��
� a ��� b u = 0T [a] ���

v = 1T [b]� ��� 	���� u < v� µT (u) = 01µT (T [a])� ��� µT (v) = 10µT (T [b])� �	��

0µT (T [b]) < 01µT (T [a]) < 10µT (T [b]) < 1µT (T [a])�

�	

� ��� ���� ������� 	
 T [a] �	�� �� �	���� 01 
� 1� ���� µT (T [a]) �	�� ����� �	�� �	����

0110 
� 10� ��� ���� ������� 	
 T [b] �	�� �� �	���� 10 
� 0� ���� µT (T [b]) �	�� ����� �	��

�	���� 1001 
� 01� �������	�����

���
 0µT (T [b]) �	�� ����� �	�� 01001 
� 001 �
� 01µT (T [a]) �	�� ����� �	�� 010110


� 0110� ���� 001 < 01001 < 010110 < 0110� �
�

0µT (T [b]) < 01µT (T [a]).

���
 10µT (T [b]) �	�� ����� �	�� 101001 
� 1001 �
� 1µT (T [a]) �	�� ����� �	�� 10110


� 110� ���� 1001 < 101001 < 10110 < 110� �
�

10µT (T [b]) < 1µT (T [a]).

������
��

0µT (T [b]) < 01µT (T [a]) < 10µT (T [b]) < 1µT (T [a]).

��� u �� � ����
� 
� T 
� ��
��� n� ����� 	� �
 a ∈ N �
 ���� u = T [a, a+n−1]� ���


������ ���� |u|1 	� ��� 
����� 
� 
������
��� 
� ��� ������ 1 	
 u� �
� ���� |u|1 = n− |u|0�
��� p = πT [a, a + n] �� � �����������	

 
� πT �	�� �
�� u� ���
 µT (u) = T [2a, 2a +

2n − 1]� �
� ��� p′ �� ��� �����������	

 p′ = πT [2a, 2a + 2n] �	�� �
�� µT (u)� ���


����� 5.2.2 	� ���� �	�� ��	� 

���	

� �
� 0 ≤ i, j ≤ n−1� ����� Ta+i = 0 �
� Ta+j = 1�

�� ���� pi < pj �
� p′2j+1 < p′2i < p′2j < p′2i+1� ��� �
��
�	
� ����� �����	��� ��� ������


� p′ 	
 ����� 
� ��� ������ 
� p�

�	
�

���
� ����� ��� u� p� ��� p′ �� �� �����
��� ������ ��� ��� i ∈ {0, 1, . . . , n}�

p′2i = pi + |u|1

��� ��� ��� i ∈ {0, 1, . . . , n − 1}�

p′2i+1 =

⎧

⎪

⎪

⎪

⎪

⎪

⎨

⎪

⎪

⎪

⎪

⎪

⎩

pi + |u|1 + (n + 1) 
� pi < pi+1 ��� pi < pn

pi + |u|1 + n 
� pi < pi+1 ��� pi > pn

pi + |u|1 − n 
� pi > pi+1 ��� pi < pn

pi + |u|1 − (n + 1) 
� pi > pi+1 ��� pi > pn

��



����� �� ���� ���� �	 �
� p′2i �����
 ��� i ∈ {0, 1, . . . , n}� �
��� ���� �� pi − 1 ���� j ��

�
�� pi > pj
 �� �
��� ��� pi−1 ���� j �� �
�� p′2i > p′2j� �������
 �	 pi < pj �
�� p′2i < p′2j�

�� �
��� ��� ������� pi − 1 ���� ���� j �� �
�� p′2i > p′j� �
��� ��� |u|1 ���� j �� �
��

Ta+j = 1
 �� �
��� ��� |u|1 ���� j �� �
�� p′2i > p′2j+1 ��� |u|0 ���� j �� �
�� Ta+j = 0
 ��

p′2i < p′2j+1� �� �
��� ��� ������� |u|1 ���� ��� j �� �
�� p′2i > p′j� �
�� �
��� ��� �������

pi − 1 + |u|1 ���� j �� �
�� p′2i > p′j
 ��� �
���	��� p′2i = (pi − 1 + |u|1) + 1 = pi + |u|1�
�
� p′2i+1 ����� ���� �� ���� �� ��� ������ ����� �
�� pi < pi+1 ��� �
�� �
��

pi > pi+1�

���� �	 ������� �
�� pi < pi+1
 �� Ta+i = 0 �� ����� 5.1.1� ��� ���
 j = 0, 1, . . . , n

�� ���� 
��� p′2i+1 > p′2j
 �� 	�� ���
 ���� j ��
��� ��� n + 1 ���� ���
 j� p′2i+1 > p′j�

�
��� ��� |u|1 ���� j �� �
�� Ta+j = 1
 �� �
��� ��� |u|1 ���� j �� �
�� p′2i+1 > p′2j+1�

�
�� �
� ���� ��
�� j �
��� p′2j+1 ��� �� ���� �
�� p′2i+1 ��� j ∈ {0, 1, . . . , n − 1} �
���

Ta+j = 0 ��� pi > pj�


��
��� ���	 �	 pi < pn �
�� �
��� ��� pi − 1 ���� j �� �
�� Ta+j = 0 ��� pi > pj


��� �
�� n − pi − |u|1 = |u|0 − pi ���� j �� �
�� Ta+j = 0 ��� pi < pj� �
�� �
���

��� ���� �� (n + 1) + |u|1 + pi − 1 ���� j �� �
�� p′2i+1 > p′j
 ��� �
���	��� p′2i+1 =

(n + 1) + |u|1 + pi − 1 + 1 = pi + |u|1 + (n + 1)�


��
��� ���	 �	 pi > pn �
�� �
��� ��� pi − 2 ���� j �� �
�� Ta+j = 0 ��� pi > pj

������ Ta+n �� ��� �� u = T [a, a + n − 1]�
 ��� �
�� n − (pi − 1) − |u|1 = |u|0 − (pi − 1)

���� j �� �
�� Ta+j = 0 ��� pi < pj� �
�� �
��� ��� ���� �� (n+1)+ |u|1 + pi − 2 ����

j �� �
�� p′2i+1 > p′j
 ��� �
���	��� p′2i+1 = (n + 1) + |u|1 + pi − 2 + 1 = pi + |u|1 + n�

���� �	 ������� �
�� pi > pi+1
 �� Ta+i = 1 �� ����� 5.1.1� ��� ���
 j = 0, 1, . . . , n

�� ���� 
��� p′2i+1 < p′2j
 �� 	�� ���
 ���� j ��
��� ��� n + 1 ���� ���
 j� p′2i+1 < p′j�

�
��� ��� |u|0 ���� j �� �
�� Ta+j = 0
 �� �
��� ��� |u|0 ���� j �� �
�� p′2i+1 < p′2j+1�

�
�� �
� ���� ��
�� j �
��� p′2j+1 ��� �� ���� �
�� p′2i+1 ��� j ∈ {0, 1, . . . , n − 1} �
���

Ta+j = 1 ��� pi > pj�


��
��� ���	 �	 pi < pn �
�� �
��� ��� (pi − 1) − |u|0 ���� j �� �
�� Ta+j = 1

��� pi > pj
 ��� �
��� ��� ���� �� |u|1 − (pi − 1 − |u|0) − 1 = n − pi ���� j �� �
��

Ta+j = 1 ��� pi < pj ������ Ta+n �� ��� �� u = T [a, a + n − 1]�� �
�� �
��� ��� ���� ��

(pi − 1) − |u|0 = pi − 1 − (n − |u|1) = pi + |u|1 − n − 1 ���� j �� �
�� p′2i+1 > p′j
 ���

�
���	��� p′2i+1 = pi + |u|1 − n − 1 + 1 = pi + |u|1 − n�


��
��� ���	 �	 pi > pn �
�� �
��� ��� (pi − 2) − |u|0 ���� j �� �
�� Ta+j = 1 ���

pi > pj ������ Ta+n �� ��� �� u = T [a, a + n − 1]�
 ��� �
��� ��� ���� �� |u|1 − (pi − 2 −
|u|0) − 1 = (n + 1) − pi ���� j �� �
�� Ta+j = 1 ��� pi < pj� �
�� �
��� ��� ���� ��

(pi − 2) − |u|0 = pi − 2 − (n − |u|1) = pi + |u|1 − n − 2 ���� j �� �
�� p′2i+1 > p′j
 ���

�
���	��� p′2i+1 = pi + |u|1 − n − 2 + 1 = pi + |u|1 − (n + 1)�

��� � �������������� p = πT [a, a+n]
 ��� �
�� ��� p′ = πT [2a, 2a+2n]� �� �
� �����

 !



�� p′ ��� �� ��	��� 
���
 ��� ������ ��	��� �� ����������� 5.2.3� ��� q = πT [b, b + n]�

b 
= a� �� � �
�����
������ �� πT ��� ��� q′ = πT [2b, 2b + 2n] �� �� ����������� 5.2.3�

��� ��������
 ����� �������� ��� ������������ �� p ��� q �� p′ ��� q′� ��������� ��� ����

�� p′ ��� �� 
��� �� ��	�� � ��� �� ��� �
�����
������� �� πT � ��� ��� ��� ���� ��

�������	��� �� ����������� 5.2.3�

����� ����� p 
= q �� ��� ���� �� p′ 
= q′	

	
��� �
������
 ���� p 
= q� ����� ��� i, j ∈ {0, 1, . . . , n} �� ���� pi < pj ��� qi > qj�

����� ��� ��
������� �������� �� ����� ���������
 �� ���� p′2i < p′2j ��� q′2i > q′2j� ��

p′ 
= q′�

��� �� ���� �� ��������������� �
����� ���� p = q� �� pi = qi ��� ���� i ∈
{0, 1, . . . , n}� ����� p = q� p ��� q ���� ��� ���� ����� ����
�� pi < pi+1 �� ��� ���� ��

qi < qi+1� �� T [a, a+n−1] = T [b, b+n−1] ��� ��
� T [2a, 2a+2n−1] = T [2b, 2b+2n−1]�

���� �� ����������� 5.2.3 �� ���
�� �� ����� ���� ��� ���� j ∈ {0, 1, . . . , 2n} �� ����

p′j = q′j� ��� ��
� p′ = q′�

��������� �� p′ 
= q′ ���� p 
= q�

��� �� � ��������� ������� �������� ���� ����� 5.2.4�


�
����
� ����� 
� p = πT [a, a+n] = πT [b, b+n] ��� ��
� a 
= b� ���� πT [2a, 2a+2n] =

πt[2b, 2b + 2n]	

��
� ����� �� � �������	��� �
������ �� ��� �
�����
������� �� πT � ��� p = πT [a, a+

n]� ��� ��	�� φ(p) = p′ = πT [2a, 2a + 2n] 
���
 ��� ����
�� �� ����������� 5.2.3� ��
�

�� ���� ��� ���

φ : PermT (n + 1) �→ PermT (2n + 1)

����� �� ��!������ �� ����� 5.2.4�

��� ��� �
�����
������� �� πT ���� �� ��� ���
� 
���� φ �� ������� �
�����
�������

��� n ≥ 5 ��� a �� ���
��� �
������ ���� n ��� a ��� �� ������ ���� �� ���� ��� ���

��� �
�����
������ πT [a, a + n]� ����� � ��� ���
��� �
����� b ��� m �� ���� ��� �� "

����� ����#

$� πT [a, a + n] = πT [2b, 2b + 2m]� ���� �������
 �������� ���� ��� ���
���

%� πT [a, a + n] = πT [2b, 2b + 2m − 1]� ���� �������
 �������� ���� ���� ���
���

&� πT [a, a + n] = πT [2b + 1, 2b + 2m]� ��� �������
 �������� ���� ���� ���
���

"� πT [a, a + n] = πT [2b + 1, 2b + 2m + 1]� ��� �������
 �������� ���� ��� ���
���

'(



�������� 	
� ���
����	�	���� �� ����	� n > 5� πT [2c, 2c+n] ��� πT [2d+1, 2d+n+1]�

��� ���
����	�	���� πT [2c, 2c+n] 
��� ���� ���� T [2c, 2c+n−1]� ��� πT [2d+1, 2d+n+1]


��� ���� ���� T [2d + 1, 2d + n]� ����� 	�� ����	� �� 	���� ���	��� �� �	 ����	 �� 
� ���


T [2c, 2c+n−1] 
= T [2d+1, 2d+n]� ��� 	��� πT [2c, 2c+n] 
= πT [2d+1, 2d+n+1] �������

	��� �� ��	 ���� 	�� ���� ����� ���� 
� ��� ����� �
 	�� ��	 PermT (n) ��	� 	
� �������

�� ���
����	�	����� ������ 	�� ���
����	�	���� 	��	 �	��	 �	 �� ���� 
���	��� �� ��

��� 
���	���� �� ��� 	��	 PermT
ev(n) �� 	�� ��	 �� ���
����	�	���� p �� ����	� n �� 	��	

p = πT [2b, 2b + n− 1] ��� ���� b� ��� 	��	 PermT
odd(n) �� 	�� ��	 �� ���
����	�	���� p ��

����	� n �� 	��	 p = πT [2b + 1, 2b + n] ��� ���� b� ����

PermT (n) = PermT
ev(n) ∪ PermT

odd(n),


���� 
� ����

PermT
ev(n) ∩ PermT

odd(n) = ∅.

���� ��� n ≥ 3� PermT
ev(2n + 1) �� 	�� ��	 �� ��� ���
����	�	���� �� ����	� 2n + 1

�	��	��� �	 �� ���� 
���	���� �� ��� πT [2a, 2a + 2n]� 
� ���
 	���� �� � ���
����	�	���

p = πT [a, a + n] �� 	��	 φ(p) = p′ = πT [2a, 2a + 2n]� ���� 	�� ��


φ : PermT (n + 1) �→ PermT
ev(2n + 1)

�� ���� � ������	��� ��
� ��� �� 	��� � �����	����

������ 	�� ���	� ����	� ��� ������ ���	���	���� �� � ���
����	�	���� �� p = πT [a, a+n]

	��� L(p) = π[a, a+n−1]� R(p) = π[a+1, a+n]� ��� M(p) = R(L(p)) = L(R(p)) = π[a+

1, a + n − 1]� ����� ���	���	���� 
��� �� ���
��� 	� ����	 	�� �� � �� 	�� ��	� PermT
odd(2n)�

PermT
ev(2n)� ��� PermT

odd(2n + 1)�

!�� p = πT [a, a + n]� 
� ��� 	��� ��"�� 	���� ����	����� ��
� �� ������� �	 	�� ���	�

����	� ��� ������ ���	���	���� �� φ(p) = p′� ����� ��
� ���

φL : PermT (n + 1) �→ PermT
ev(2n)

φR : PermT (n + 1) �→ PermT
odd(2n)

φM : PermT (n + 2) �→ PermT
odd(2n + 1)

��� ��� ��"��� ��

φL(p) = L(φ(p)) = L(p′)

φR(p) = R(φ(p)) = R(p′)

φM(p) = M(φ(p)) = M(p′)

�	 ��� �� ������� ����"�� 	��	 	���� 	���� ��
� ��� ������	���� �� ��� �� �#��
�� �� 	����

�������� 	�� ��
 φL� ��� ��	 πT [2b, 2b + 2n − 1] �� � ���
����	�	��� �� PermT
ev(2n)�

���� ��� 	�� ���
����	�	��� p = πT [b, b + n]� φL(p) = L(p′) = πT [2b, 2b + 2n − 1] �� φL

�� ������	���� $ ������� �������	 
��� ���
 	��	 φR ��� φM ��� ���� ������	����

%&



����� ����� ��� n ≥ 2�

τT (2n) ≤ 2(τT (n + 1))

τT (2n + 1) ≤ τT (n + 1) + τT (n + 2)

	
��� ��� n ≥ 2� �� ����	

∣

∣PermT
ev(2n)

∣

∣ ≤
∣

∣PermT (n + 1)
∣

∣

∣

∣PermT
odd(2n)

∣

∣ ≤
∣

∣PermT (n + 1)
∣

∣

∣

∣PermT
ev(2n + 1)

∣

∣ =
∣

∣PermT (n + 1)
∣

∣

∣

∣PermT
odd(2n + 1)

∣

∣ ≤
∣

∣PermT (n + 2)
∣

∣


��
� φ �
 � ����
����� ��� ��� � ���
 φL� φR� ��� φM ��� ��� 
����
����� ���
 �� ����

��� ��������� �����������
	

τT (2n) =
∣

∣PermT (2n)
∣

∣ =
∣

∣PermT
ev(2n)

∣

∣ +
∣

∣PermT
odd(2n)

∣

∣

≤
∣

∣PermT (n + 1)
∣

∣ +
∣

∣PermT (n + 1)
∣

∣ = 2(τT (n + 1))

τT (2n + 1) =
∣

∣PermT (2n + 1)
∣

∣ =
∣

∣PermT
ev(2n + 1)

∣

∣ +
∣

∣PermT
odd(2n + 1)

∣

∣

≤
∣

∣PermT (n + 1)
∣

∣ +
∣

∣PermT (n + 2)
∣

∣ = τT (n + 1) + τT (n + 2)

��� ����� ���
 φL� φR� ��� φM ��� ��� ����
���� ���
� �� 
�� ���
� 
��
���� ���


�������������


p = πT [5, 9] = (2 3 5 4 1)

q = πT [23, 27] = (1 3 5 4 2).

���� �� ���
� 
�������������
 ���� ���� T [5, 8] = T [23, 26] = 0011� ���� �������� ���

���
 �� 
��	

p′ = φ(p) = πT [10, 18] = (4 8 5 9 7 2 6 1 3)

q′ = φ(q) = πT [46, 54] = (3 8 5 9 7 2 6 1 4)

φL(p) = πT [10, 17] = (3 7 4 8 6 2 5 1) = πT [46, 53] = φL(q)

φR(p) = πT [11, 18] = (7 4 8 6 2 5 1 3) = πT [47, 54] = φR(q)

φM(p) = πT [11, 17] = (6 3 7 5 2 4 1) = πT [47, 53] = φM(q)

 � p′ 
= q′ ��� φL(p) = φL(q)� φR(p) = φR(q)� ��� φM(p) = φM(q)� ��� ���
� ���
 ���

��� ����
���� �� �������� !��
� ��� �����
 �� ����� 5.2.6 ��� ���� ����� �����
� ���

��"� ���� �
 �� ��������� ���� ���
� ���
 ��� ��� ����
�����

#$



����� �����	
� φ(p) ��
� � �����

����� � ��	
����
�
��� p = πT [a, a + n]� �� ��� ��� � 
�	�� 
� �������
� 
�� ��	
�����


�
��� p′ = φ(p) = πT [2a, 2a + 2n]� �� ���� ��� 
��� �� ���� �� ���� ��� �� ����
���

��


p = πT [10, 18] = (4 8 5 9 7 2 6 1 3)

u = T [10, 17] = 01011010,

�� p ��� ���� u ��� |u|1 = 4� ��
 p′ = φ(p) = πT [20, 36]� �� 	� ���
���
��� 5.2.3

p′ = (8 16 12 3 9 17 13 4 11 2 6 15 10 1 5 14 7).

��� 
�	�� �� ����
� ���� ���� � �������� �� 
�� ���
 ������ �� 
�� 
�	�� �� ���
 ���


�� ������ �� 
�� ��	
����
�
��� p ���� ����
 
�  ���
��
� !� ���� ��� � ����"��
�� ����

#��
 �	��� 
�� ����
 ����� ����� ������
���� 
� � $ �� u ��� ��� �� ��

� 	�� �� 
��


���� ������ �� 
�� ��� ������
����� 
� 
�� ���
 ������
 �� p� �� 
��� ����
�� 
�� ����


����� �� p ����� ������
���� 
� � $ �� u �� 
�� ���	�� % �� 
�� ����"��
�� ���� ���� 	�

	�
���� p2 = 5 ��� p6 = 6� ��� ���
 ������
 �� p �� p8 = 3� �� �� 
���� 
�� ��

� 	��

�� 
�� ���
 ������ �� ��� �� &���� p �� � 
����
�
��� �� {1, 2, . . . , 9} �� ���� 
�� 
�	�� ��

'� ��� $� ��� ��

� 	�� ���� ��
 �� � 
���� ������� �� ��� 
�� �
�
� ���
�� 	���� �� ����

� ���� 
�� ����
��� ��
� 
�� ��

� 	�� ��� ���
� ��
��� �� 
��
 �
�
� �� 
�� ������

������ �� 
�� 
�	�� �� ���� ���
� 
�� ����� ��  �
 ���� ����� |u|1 
� 
�� ���	�� �� 
��

���
 ������� ��� '� ��� (� )�
� |u|1 = 4 ��� 
���� ��� * ���� 	���� 
�� ����"��
�� �����
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� 
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������ �� �	� 
��� ��� �
 �	� �	��� ������� ��� �	�� �������� �� � �� �	� 
�������� �������

����� �� ����	 �	� 	��������� ����� ��� ������ ��

� �

� �

� � �

�  

� !

� �" �
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 �� �
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���� �

−→
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� � �
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� ! ��

� �" �
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 �� �

! �� �

���� �

#�� �	�� �� 	�$� �	� ���%����� ����� �� ������ � �� ��� ��� 	�� φ ���� ����� �	�

%���������� p� &� 	�$� p2 = 5� �� p′4 = 9 ��� p′5 = 17� ���� �	� ����� �� ������ �� �	��

�� 
�� �	� ��� ���	 � � �� �	� 
��� ������ �� ��� �	� ��'� �������� �� �	� ��� ��� ! ���

��� (	�� �� �'����� �	� ��	�$��� ��������� �� )���� 5.2.2 ��� *��%������� 5.2.3� (	��

�� ������ p′ 
��� �	� ����� �� 
�� �	� ��� �	��	 	�� �	� $���� pi �� �	� 
��� ������� ���

�	�� p′2i �� �	� $���� �� �	� ������ ������ ��� p′2i+1 �� �	� $���� �� �	� �	��� ������� +�

p0 = 4 =⇒ p′0 = 8 p′1 = 16

p1 = 8 =⇒ p′2 = 12 p′3 = 3

p2 = 5 =⇒ p′4 = 9 p′5 = 17

���

p7 = 1 =⇒ p′14 = 5 p′15 = 14

p8 = 3 =⇒ p′16 = 7

�	��	 �� ������� $���
�� �� �� �	� ���� �� p′ ������ ���$��

,�� ���� ����� �	�� �'��%��� -� �	���� �� 
����� ����� 
�� �	� ���%���������� p =

πT [10, 18] �	�� T18 = 0� -� �	� ����� ���$� p8 = 3 �� �� �	� %������ �
 �	� ����� �	��	

������%���� �� �	� ".�� /������� �	� ���%���������� q = (1 3 6 5 2 4) �
 πT �	��	 	��


��� v = 00110� ��� φ(q) = (3 9 5 11 8 2 7 1 4 10 6)� 0��	 �
 q0� q1� ��� q4 ������%���

�� � "� ��� q2 ��� q3 ���	 ������%��� �� � �� 1������ v �� � ���	� �%����� 
����� �
 T �� ��

��� ����� �
 q6 ���� ������%��� �� � " �� � �� -� ����� ��� �	�� �	�� �� ��������� �	� �����

�� ������ φ(q)� �� ���� ��� ������� -� ������ � �� ��������� �	� ����� �� ���$�� ��� ��

��
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�� 
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��
��	
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�
�
� q′ !�
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 $���� �� � ��������
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�
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���� 	
��
��	
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� ����

�
��� �
�'� &�� ����
� 
�� ��
$� ��(��
�
� ���� 
�� $���� |u|1 
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�� ����

��� 

 ��'� 
�� �
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�
� �#���	�
�

����� ���� k 	
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�	�� �	���
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 �� ��������
�
�
�� 
! 
%�� k ���	� �� ���	����� �� 
��

��#
 ��(��
�
�� *�
�
��
�
� 5.2.3 ���� �� ���� ����	
�$��% 

 ��
� 
�� ���� φ� φL� φR�

��� φM ������$� ��������
�
�
�� 
! 
%�� k� "� ����	
�
� �������
 ��
� 
��� !�	
 ����

�� ���� 

 ��
� 
��
 
�
 ��������
�
�
�� ��$� 
�� ���� !
�� �! ��� 
��% �! 
��% ��� �

	
�������
��% ���� 
! 
%�� k� ��(��� ���
�� " 	
�
����% 
! 
��� ���� ��
������ ���� 
��

���� φL� φR� ��� φM ��� ��+�	
�$��

��	
����
 " ��������
�
�
� p = πT [a, a + n] �� 
! ���� k� !
� k ≥ 1� �! p 	�� ��

��	
��
��� ��

p = (α1 · · ·αkλ1 · · ·λlβ1 · · ·βk)

����� αi = βi + ǫ !
� ��	� i = 1, 2, . . . , k ��� �� ǫ ∈ {−1, 1}�

,
�� �#������ 
! ��������
�
�
�� 
! 
%�� 1� �� ��� � -�����. ���/

πT [5, 9] = (2 3 5 4 1)

πT [20, 25] = (2 5 4 1 3 6)

πT [6, 12] = (3 7 5 1 2 6 4)

��



��������� ������� ��	� ��� ��
������	�
�� p = πT [a, a + n] 
� �� ���� k �� ��	� ���

���� ǫ ∈ {−1, 1}� αi = βi + ǫ ��� �	�� i = 1, 2, . . . , k� �� ����� ��
��� 	 ��
������	�
��

q = πT [b, b + n] �� ���� k �� ��	� p 	�� q �	� 
� ���������� 	��

p = πT [a, a + n] = (α1 · · ·αkλ1 · · ·λlβ1 · · ·βk)

q = πT [b, b + n] = (β1 · · ·βkλ1 · · ·λlα1 · · ·αk)

���� p 	�� q 	�� �	
� �� 
� 	 ����������	
� �	�
 �
 ���� k� �� p 	�� q 	�� 	 ����������	
�

�	�
 �
 ���� k ≤ 0 ���� p = q�

��� ��
������	�
���

πT [5, 9] = (2 3 5 4 1)

πT [23, 27] = (1 3 5 4 2)

	�� 	 ����������	�� �	
� �� ���� �� ��� ������
�� ��
������	�
�� �� ���� �

πT [0, 3] = (2 4 3 1)

���� ��� �	�� 	 ����������	�� �	
�� �
��� (1 4 3 2) 
� ��� 	 ��
������	�
�� �� πT �

��� ������
�� ������
�
�� ����
���� ��
������	�
��� �� ���� k� 	�� ����������	��

�	
�� �� ���� k�

�	�
������� �
�
� ������� p = πT [a, a + n] 	�� q = πT [b, b + n] 	
� 	 ����������	
�

�	�
 �
 ���� k� ���� k ≥ 1�

�	� φ(p) �� �
 ���� 2k − 1� 	�� �
 k ≥ 2 ���� φL(p) 	�� φR(p) 	
� �
 ���� 2k − 2 	��

φM(p) �� �
 ���� 2k − 3�

��� φ(p) 	�� φ(q) 	
� 	 ����������	
� �	�
 �
 ���� 2k − 1�

��� φL(p) 	�� φL(q) 	
� 	 ����������	
� �	�
 �
 ���� 2k − 2�

��� φR(p) 	�� φR(q) 	
� 	 ����������	
� �	�
 �
 ���� 2k − 2�

��� φM(p) 	�� φM(q) 	
� 	 ����������	
� �	�
 �
 ���� 2k − 3�

�	��� �
��� p 	�� q 	�� 	 ����������	�� �	
� �� ���� k ���� �	� 
� ���������� 	�

p = πT [a, a + n] = (α1 · · ·αkλ1 · · ·λlβ1 · · ·βk)

q = πT [b, b + n] = (β1 · · ·βkλ1 · · ·λlα1 · · ·αk)

	�� ��� ǫ ∈ {−1, 1}� αi = βi+ǫ ��� �	�� i = 1, 2, . . . , k� �
��� p 	�� q 	�� 	 ����������	��

�	
� ���� �	�� ��� �	�� ����� ��
�� 
� ����� ���	�
���� ��
���� 	� ��� 
��
��
�� �� ���

  



����� �� ������� SameFormIFFCompPair	 
�� u = T [a, a + n − 1] = T [b, b + n − 1]

�� ��� ���� �� p 
�� q	 ��� ��� �
���� �� k 
�� l� 2k + l = n+1 
�� 4k +2l− 1 = 2n+1	

��� ��� ���� ����� �� ���� �� ��
� φ(p) �� �� ���� 2k − 1	

��� i ∈ {0, 1, . . . , k − 1} �� �
�� pi = pn−(k−1)+i + ǫ� �� �� ����������� 5.2.3�

p′2i = p′2(n−(k−1)+i) + ǫ

��� i ∈ {0, 1, . . . , k − 2}� pi < pi+1 �� 
�� ���� �� pn−(k−1)+i < pn−(k−1)+i+1� 
�� pi < pn ��


�� ���� �� pn−(k−1)+i < pn ����� pi 
�� pn−(k−1)+i 
�� ����������� �
����	 �� �����������

5.2.3�

p′2i+1 = p′2(n−(k−1)+i)+1 + ǫ

�� ��� �
�� i ∈ {0, 1, . . . , 2k − 2}� p′i = p′2n−2k+2+i + ǫ� 
�� φ(p) �
� �� ���������� 
�

φ(p) = πT [2a, 2a + 2n] = (α′
1 · · ·α′

2k−1λ
′
1 · · ·λ′

2l+1β
′
1 · · ·β′

2k−1),

����� α′
i = β′

i + ǫ� �� φ(p) = p′ �� �� ���� 2k − 1	

 �!�� ������� ��
� k ≥ 2 �� 2k−1 ≥ 3� �� ���� ��
� φL(p) = L(p′) 
�� φR(p) = R(p′)


�� �� ���� 2k − 2 
�� φM(p) �� �� ���� 2k − 3	


�� i ∈ {0, 1, . . . , 2k − 3}� 
�� �������� φL(p) = L(p′)	 ����� p′i 
�� p′2n−2k+2+i 
��

����������� �
����� p′i < p′2n �� 
�� ���� �� p′2n−2k+2+i < p′2n	 �� �� L(p′)i = p′i ����

L(p′)2n−2k+2+i = p′2n−2k+2+i� 
�� �� L(p′)i = p′i − 1 ���� L(p′)2n−2k+2+i = p′2n−2k+2+i − 1	

"� ������ �
��� L(p′)i = L(p′)2n−2k+2+i + ǫ 
�� ����� �� 
 �������������

φL(p) = πT [2a, 2a + 2n − 1] = (α′′
1 · · ·α′′

2k−2λ
′′
1 · · ·λ′′

2l+2β
′′
1 · · ·β′′

2k−2),


�� φL(p) �� �� ���� 2k − 2	 # �����
� 
������� ���� ���� φR(p) �� �� ���� 2k − 2 
��

φM(p) �� �� ���� 2k − 3	

��� ���� $
%� φ(q) = q′ �� �� ���� 2k − 1	 ����� p 
�� q 
�� 
 ����������
�� �
�� ��

���� k� pi = pn−k+1+i +ǫ = qi +ǫ = qn−k+1+i ��� �
�� i ∈ {0, 1, . . . , k−1}� 
�� pk+i = qk+i

��� �
�� i ∈ {0, 1, . . . , l − 1}	 &� �
� 
����� ��
� ǫ = 1 �� �!��
����� ��� ���� �� p 
��

q	 ���� ��� i ∈ {0, 1, . . . , k − 1}�

p′2i = p′2(n−k+1+i) + ǫ

p′2i = q′2(n−k+1+i)

q′2(n−k+1+i) = q′2i + ǫ

'(



��� i ∈ {0, 1, . . . , k − 2}�

p′2i+1 = p′2(n−k+1+i)+1 + ǫ

p′2i+1 = q′2(n−k+1+i)+1

q′2(n−k+1+i)+1 = q′2i+1 + ǫ

�� ���	 pk−1 = pn+ǫ = qk−1+ǫ = qn
 �� pk−1 > pn ��
 qk−1 < qn� ���� �� pk−1 < pk

p′2k−1 = pk−1 + |u|1 + n = qk−1 + 1 + |u|1 + n = qk−1 + |u|1 + (n + 1) = q′2k−1

��
 �� pk−1 > pk

p′2k−1 = pk−1 + |u|1 − (n + 1) = qk−1 + 1 + |u|1 − (n + 1) = qk−1 + |u|1 − n = q′2k−1.

�� ����������� 5.2.3
 ����� pk+i = qk+i ��� ���� i ∈ {0, 1, . . . , l − 1}


p′2(k+i) = q′2(k+i)

p′2(k+i)+1 = q′2(k+i)+1

���� ����� ��� 
������������� �� φ(p) = p′ ��
 φ(q) = q′ �� ����

φ(p) = πT [2a, 2a + 2n] = (α′
1 · · ·α′

2k−1λ
′
1 · · ·λ′

2l+1β
′
1 · · ·β′

2k−1),

φ(q) = πT [2b, 2b + 2n] = (β′
1 · · ·β′

2k−1λ
′
1 · · ·λ′

2l+1α
′
1 · · ·α′

2k−1),

	���� α′
i = β′

i + ǫ� ��������� φ(p) = p′ ��
 φ(q) = q′ ��� � ������������� ���� �� ����

2k − 1�

��� ���� ���
 φ(p) = p′ ��
 φ(q) = q′ ��� � ������������� ���� �� ���� 2k − 1�

������� k ≥ 2 ��
 �� 2k − 3 ≥ 1
 ��
 ��� i ∈ {0, 1, . . . , 2k − 3}
 ���� p′i = q′i + ǫ =

p′2n−2k+2+i + ǫ = q′2n−2k+2+i� ���� p′i ��
 p′2n−2k+2+i ��� ��������� �  �����
 �� ��� q′i ��


q′2n−2k+2+i
 ���� p′2n < p′i �� ��
 ���� �� p′2n < p′2n−2k+2+i
 ��


p′2n < p′i ��
 p′2n < p′2n−2k+2+i ⇐⇒ q′2n < q′i ��
 q′2n < q′2n−2k+2+i.

!� L(p′)i = p′i − 1 �� L(p′)i = p′i
 	� �� � L(q′)i = q′i − 1 �� L(q′)i = q′i �������
 ��


L(p′)i = L(q′)i + ǫ = L(p′)2n−2k+2+i + ǫ = L(q′)2n−2k+2+i�

"�	 ��� i ∈ {0, 1, . . . , 2l}
 �� p′2k−1+i = q′2k−1+i� ���� p′2n < p′2k−1+i �� ��
 ���� ��

q′2n < q′2k−1+i
 ��
 �� 	� �� � L(p′)2k−1+i = L(q′)2k−1+i�

���� p′2k−2 = q′2k−2 + ǫ = p′2n + ǫ = q′2n
 �� p′2k−2 > p′2n �� ��
 ���� �� q′2k−2 < q′2n� !�

p′2k−2 > p′2n ��
 q′2k−2 < q′2n
 ���� p′2k−2 = q′2k−2 + 1 = p′2n + 1 = q′2n ��

L(p′)2k−2 = p′2k−2 − 1 = q′2k−2 = L(q′)2k−2.,

#$



�� p′2k−2 < p′2n ��� q′2k−2 > q′2n� ��	� p′2k−2 = q′2k−2 − 1 = p′2n − 1 = q′2n 
�

L(p′)2k−2 = p′2k−2 = q′2k−2 − 1 = L(q′)2k−2.

�� 	���	
 ��
	� L(p′)2k−2 = L(q′)2k−2� ���
 ��	
	 �
	 �	�����
�����
 �� φL(p) = L(p′)

��� φL(q) = L(q′) 
� ����

φL(p) = πT [2a, 2a + 2n − 1] = (α′
1 · · ·α′

2k−2λ
′
1 · · ·λ′

2l+2β
′
1 · · ·β′

2k−2),

φL(q) = πT [2b, 2b + 2n − 1] = (β′
1 · · ·β′

2k−2λ
′
1 · · ·λ′

2l+2α
′
1 · · ·α′

2k−2),

��	
	 α′
i = β′

i + ǫ� ��	
	��
	 φL(p) ��� φL(q) �
	 � �����	�	���
� ���
 �� ���	 2k − 2�

��� 
����
	 ���� k = 1 ��� 
� 2k − 1 = 1� ��	� p′0 = q′0 + ǫ = p′2n + ǫ = q′2n ���

p′i = q′i ��
 i = 1, 2, . . . , 2n− 1� �� p′0 > p′2n ��� q′0 < q′2n� ��	� p′0 = q′0 + 1 = p′2n + 1 = q′2n


�

L(p′)0 = p′0 − 1 = q′0 = L(q′)0.

�� p′0 < p′2n ��� q′0 > q′2n� ��	� p′0 = q′0 − 1 = p′2n − 1 = q′2n 
�

L(p′)0 = p′0 = q′0 − 1 = L(q′)0.

�� 	���	
 ��
	� L(p′)0 = L(q′)0� ��	� ��
 	��� i ∈ {1, 2, . . . , 2n− 1}� p′i = q′i� ��� p′2n < p′i
�� ��� ���� �� q′2n < q′i 
� L(p′)i = L(q′)i� ��	
	��
	� �� k = 1 ��	� φL(p) = φL(q)�

��� � 
�����
 �
���	�� �
�� ��
� ��� ���� 
��� φR(p) ��� φR(q) �
	 � �����	�	���
�

���
 �� ���	 2k − 2�

��� �� k ≥ 2� �
�� ��� φR(p) ��� φR(q) �
	 � �����	�	���
� ���
 �� ���	 2k − 2� �


�����
 �
���	�� �
�� ��
� ��� ���� 
��� L(φR(p)) = φM(p) ��� L(φR(q)) = φM(q) �
	 �

�����	�	���
� ���
 �� ���	 2k − 3� �� k = 1� ��	� φR(p) = φR(q) ��� φL(p) = φL(q) 
�

φM(p) = φM(q)�

������	 
���
 ��� p ��� q �� ��	���
� 	����
��������	 �� πT � ���� p ��� q ���� ���

	��� ��
� �� ��� ���� �� p ��� q �
� � 
����������
� ���
 �� ���� k� ��
 	��� k ≥ 1�

����� ��

�� 
����
	 ���� p ��� q �
	 � �����	�	���
� ���
 �� ���	 k� ��
 
��	 k ≥ 1�

�� ��	
	 �
	 �	�����
�����
�

p = πT [a, a + n] = (α1 · · ·αkλ1 · · ·λlβ1 · · ·βk)

q = πT [b, b + n] = (β1 · · ·βkλ1 · · ·λlα1 · · ·αk)


� ���� ��
 ǫ ∈ {−1, 1}� αi = βi + ǫ ��
 	��� i ∈ {1, 2, . . . , k}�

� 



��� ���� i ∈ {0, 1, . . . , k − 2}� pi �	
 pn−k+1+i ��� ��	����
��� ������� �� ��� qi �	


qn−k+1+i� ��

pi < pi+1 �	
 pn−k+1+i < pn−k+1+i+1 ⇐⇒ qi < qi+1 �	
 qn−k+1+i < qn−k+1+i+1.

��	�� pk−1 = qk−1 + ǫ� pk+l + ǫ = qk+l� pk = qk� �	
 pk+l−1 = qk+l−1�

pk−1 < pk ⇐⇒ qk−1 < qk

pk+l−1 < pk+l ⇐⇒ qk+l−1 < qk+l.

��� ���� i ∈ {0, 1, . . . , l − 2}� pk+i = qk+i� ��

pk+i < pk+i+1 ⇐⇒ qk+i < qk+i+1.

��������� pi < pi+1 �� �	
 �	�� �� qi < qi+1 ��� ���� i ∈ {0, 1, . . . , n − 1}� �� p �	
 q ����


�� ���� �����

�� ���� 
��
 
��
�	�
 ��������
�
��	� ��
� 
�� ���� ���� ��� � ��������	
��� ����

�� 
��� k� ��� ���� k ≥ 1� �	 �	
��
��	 ������	
 ���� �� ���
� ��� ��������
�
��	� ��

��	�
�� � 
������ � ��� ���
�
 �	 ����	
�� A� ���	� ��
� 
�� ���� �� 
�� ��������
�
��	��

 
 ��	 �� ���	 
��
 
��
�	�
 ��������
�
��	� ��
� 
�� ���� ���� ��� � ��������	
���

���� �� 
��� k� ��� ���� k ≥ 1�

������ 
��
 n ≥ 9 �	
 
��
 
�� 
������ �� 
��� ��� ��� ��������
�
��	� �� ��	�
� �


���
 n� !�
 p′ �	
 q′ �� 
��
�	�
 ��������
�
��	� �� ��	�
� n + 1 ��
� 
�� ���� �����

�� p′i < p′i+1 �� �	
 �	�� �� q′i < q′i+1 ��� ���� i = 0, 1, . . . , n − 1�

���	

p′, q′ ∈ PermT
ev(n + 1) �� p′, q′ ∈ PermT

odd(n + 1).

 �� ��
���
 ���� �� ��	�����
�� p′ ∈ PermT
ev(n + 1) �	
 q′ ∈ PermT

odd(n + 1)� 
��	 p′ =

πT [2a, 2a + n] �	
 q′ = πT [2b + 1, 2b + n + 1]� �� T [2a, 2a + n − 1] = T [2b + 1, 2b + n]�

��	�� n ≥ 9� T [2a, 2a + n − 1] ���� ��	
��	 ��
��� "" �� ##� �� 
���� �� ���� c �� 
��


T [2a+2c+1, 2a+2c+2] �� "" �� ##� ���	 ����� T [2b+1+2c+1, 2b+1+2c+2] = T [2b+

2c+2, 2b+2c+3] ���
 �� 
�� ���� �� T [2a+2c+1, 2a+2c+2]� ��
 T [2b+2c+2, 2b+2c+3]

�� ��
��� µT (0) = 01 �� µT (1) = 10� �� T [2b+2c+2, 2b+2c+3] 
= T [2a+2c+1, 2a+2c+2]�

���������� ��
��� p′, q′ ∈ PermT
ev(n + 1) �� p′, q′ ∈ PermT

odd(n + 1)

���� �	� �� 
�� $ �������	� ����� ���
 ���
�

#� p′, q′ ∈ PermT
ev(n + 1) �	
 n + 1 �� �

�

�� p′, q′ ∈ PermT
ev(n + 1) �	
 n + 1 �� ���	�

%� p′, q′ ∈ PermT
odd(n + 1)�	
 n + 1 �� ���	�

&"



�� p′, q′ ∈ PermT
odd(n + 1)��� n + 1 �� ����

���� � 	
����� p′, q′ ∈ PermT
ev(n + 1) ��� n + 1 = 2m + 1
 �� ����� ��� �
����� a

��� b �� ���� p′ = πT [2a, 2a + 2m] ��� q′ = πT [2b, 2b + 2m]
 ���

p = πT [a, a + m] q = πT [b, b + m],

p′ = φ(p) q′ = φ(q).

�� T [a, a + m − 1] 
= T [b, b + m − 1] ���� T [2a, 2a + 2m − 1] 
= T [2b, 2b + 2m − 1]� �����

T [a, a + m − 1] = T [b, b + m − 1]

��� p ��� q ���� ��� ���� ����� 	���� p = q ��
�� ����� p′ = q′
 �� �
�� �� ���� p 
= q�

�� ��� ���
����� ����������
 p ��� q ��� � ������������� ���� �� ���� k
 ��� ���� k ≥ 1�

���������
 �� ����������� 5.2.7
 φ(p) = p′ ��� φ(q) = q′ ��� � ������������� ���� ��

���� 2k − 1�

���� � 	
����� p′, q′ ∈ PermT
ev(n + 1) ��� n + 1 = 2m
 �� ����� ��� �
����� a ���

b �� ���� p′ = πT [2a, 2a + 2m − 1] ��� q′ = πT [2b, 2b + 2m − 1]
 ���

p = πT [a, a + m] q = πT [b, b + m],

p′ = φL(p) q′ = φL(q).

	���� p′ ��� q′ ���� ��� ���� ����
 T [2a, 2a + 2m − 2] = T [2b, 2b + 2m − 2]� ��
�

T2a+2m−2 = T2b+2m−2 ������� Ta+m−1 = Tb+m−1
 �� T [2a + 2m − 2, 2a + 2m − 1] =

T [2b + 2m − 2, 2b + 2m − 1] ���

T [2a, 2a + 2m − 1] = T [2b, 2b + 2m − 1].

�� T [a, a + m − 1] 
= T [b, b + m − 1] ���� T [2a, 2a + 2m − 1] 
= T [2b, 2b + 2m − 1]� �����

T [a, a + m − 1] = T [b, b + m − 1]

��� p ��� q ���� ��� ���� ����� 	���� p = q ��
�� ����� φ(p) = φ(q)
 ��� ��
� p′ = q′


�� �
�� �� ���� p 
= q� �� ��� ���
����� ����������
 p ��� q ��� � ������������� ����

�� ���� k
 ��� ���� k ≥ 1� �� k = 1
 ���� φL(p) ��� φ(q)L ��� � ������������� ���� ��

���� 2k − 2 = 0 ��� p′ = q′
 ��
� k ≥ 2� ���������
 �� ����������� 5.2.7
 φL(p) = p′ ���

φL(q) = q′ ��� � ������������� ���� �� ���� 2k − 2 ≥ 2�

��



���� � ������� p′, q′ ∈ PermT
odd(n + 1) ��	 n + 1 = 2m
 �� ���
� �
� �����
� a ��	

b �� ���� p′ = πT [2a + 1, 2a + 2m] ��	 q′ = πT [2b + 1, 2b + 2m]
 ��	

p = πT [a, a + m] q = πT [b, b + m],

p′ = φR(p) q′ = φR(q).

����� p′ ��	 q′ ���� ��� ���� ��
�
 T [2a + 1, 2a + 2m − 1] = T [2b + 1, 2b + 2m − 1]�

���� T2a+1 = T2b+1 ������� Ta = Tb
 �� T [2a, 2a + 1] = T [2b, 2b + 1] ��	

T [2a, 2a + 2m − 1] = T [2b, 2b + 2m − 1].

�� T [a, a + m − 1] 
= T [b, b + m − 1] ���� T [2a, 2a + 2m − 1] 
= T [2b, 2b + 2m − 1]� �����

T [a, a + m − 1] = T [b, b + m − 1]

��	 p ��	 q ���� ��� ���� ��
�� ����� p = q ����	 ����� φ(p) = φ(q)
 ��	 ���� p′ = q′


�� ���� �� ���� p 
= q� �� ��� ��	������ ����������
 p ��	 q �
� � �����������
� ���


�� ���� k
 ��
 ���� k ≥ 1� �� k = 1
 ���� φR(p) ��	 φR(q) �
� � �����������
� ���
 ��

���� 2k − 2 = 0 ��	 p′ = q′
 ���� k ≥ 2� ���
���
�
 �� �
��������� 5.2.7
 φR(p) = p′ ��	

φ(q)R = q′ �
� � �����������
� ���
 �� ���� 2k − 2 ≥ 2�

���� � ������� p′, q′ ∈ PermT
odd(n + 1) ��	 n + 1 = 2m + 1
 �� ���
� �
� �����
� a

��	 b �� ���� p′ = πT [2a + 1, 2a + 2m + 1] ��	 q′ = πT [2b + 1, 2b + 2m + 1]
 ��	

p = πT [a, a + m + 1] q = πT [b, b + m + 1],

p′ = φM(p) q′ = φM(q).

����� p′ ��	 q′ ���� ��� ���� ��
�
 T [2a + 1, 2a + 2m] = T [2b + 1, 2b + 2m]� �� ��

����� � ��	 � ��  �	 T [a, a + m] = T [b, b + m] ��	 p ��	 q ���� ��� ���� ��
�� �����

p = q ����	 ����� φ(p) = φ(q)
 ��	 ���� p′ = q′
 �� ���� �� ���� p 
= q� �� ��� ��	������

����������
 p ��	 q �
� � �����������
� ���
 �� ���� k
 ��
 ���� k ≥ 1� �� k = 1
 ����

φM(p) ��	 φM(q) �
� � �����������
� ���
 �� ���� 2k − 3 = −1 ��	 p′ = q′
 ���� k ≥ 2�

���
���
�
 �� �
��������� 5.2.7
 φM(p) = p′ ��	 φM(q) = q′ �
� � �����������
� ���
 ��

���� 2k − 3 ≥ 1�

���
���
� �����
��������� p ��	 q ���� ��� ���� ��
� �� ��	 ���� �� p ��	 q �
� �

�����������
� ���
 �� ���� k
 ��
 ���� k ≥ 1�

���
� �
� � �����
 �� ������ ��
����
��� �� ����
�� 5.2.8� ����� ��
����
��� !��� ���

�����
 �� �����
��������� ���� ��� ���� ��� ���� ��
� ��	 ���� ���� ��� ���� φL


φR
 ��	 φM �
� ��� ��"�������

#�



��������� ��	�
 ��� � ����	�
������
 p �� πT � ��	�	 ��
 �	 �� 
��� �
	 ����	�
������


q �� πT �� ���� p �
� q ��	 � ��
��	
	
���� �����

����� ������ ���� p 	� � ��
��������	
� 
� πT �
 ���� p ��� q ��� � �
�����������

��	� 
� ���� s� ��� p ��� r ��� � �
����������� ��	� 
� ���� t� �
��
���� s 
= t� ���

���� q 
= r� ���� ����� ��� ���
��
�	�	
���

p = πT [a, a + n] = (α1 · · ·αsλ1 · · ·λxβ1 · · ·βs)

q = πT [b, b + n] = (β1 · · ·βsλ1 · · ·λxα1 · · ·αs)

�
 ���� �
� ǫs ∈ {−1, 1}� αi = βi + ǫs �
� ���� i = 1, 2, . . . , s� ���

p = πT [a, a + n] = (α′
1 · · ·α′

tλ
′
1 · · ·λ′

yβ
′
1 · · ·β′

t)

r = πT [b, b + n] = (β′
1 · · ·β′

tλ
′
1 · · ·λ′

yα
′
1 · · ·α′

t)

�
 ���� �
� ǫt ∈ {−1, 1}� α′
i = β′

i + ǫt �
� ���� i = 1, 2, . . . , t�

�	��� p ��� q ��� � �
����������� ��	� ���� ���� ��� ���� �
��� �� �
 p ��� r�

���� q ��� r ��� �	��	��� ��
��������	
�� �	�� ��� ���� �
��� �
 
� ���
��� 5.2.8 q

��� r ��� � �
����������� ��	� 
� ���� k� �
� �
�� k�

�� β1 = β′
1 ���� pn−s+1 = pn−t+1� 
�� �	��� s 
= t ��	� ����
� ������� ���� β1 
= β′

1

��� ǫs 
= ǫt� �
 ǫs = −ǫt� �����

α1 = β1 + ǫs ⇒ β1 = α1 − ǫs

α′
1 = β′

1 + ǫt ⇒ β′
1 = α′

1 − ǫt ⇒ β′
1 = α1 + ǫs.

������
�� q0 
= r0 ± 1� ��� q ��� r ��� �
� � �
����������� ��	�� �
�����	��	�� ���

�������	
��

��� ���� �
�
����� �
��
�� �	������ ��
� ���
��� 5.2.8 ���  
�
����� 5.2.9

��������� ��	�
� ��� � ������ u �� T � ��	�	 ��	 �� 
��� ��� ����	�
������
� �� πT ����

���
 u�

��� ���� �
�
����� ��
�� ���� ��� ���� φL(p)� φR(p)� ��� φM(p) ��� �
� 	�!���	���

��������� ��	�

 ��� ����	�
������
� p = πT [a, a + n] �
� q = πT [b, b + n]� ��	�	

p 
= q�

��� φL(p) = φL(q) �� �
� �
�� �� p �
� q ��	 � ��
��	
	
���� ���� �� ���	 ��

��� φR(p) = φR(q) �� �
� �
�� �� p �
� q ��	 � ��
��	
	
���� ���� �� ���	 ��

"#



��� φM(p) = φM(q) �� ��� 	�
� �� p ��� q ��
 � �	��

�
����� ���� 	� ���
 ��

����� �� ������ 	
 ��
�
 ��
 ��� ��


 ���
� ���� �� p ��� q �

 � �����
�
���
� ���
 ��

���
 � ��
�

φL(p) = φL(q) φR(p) = φR(q) φM(p) = φM(q)

	� �
��������� 5.2.7� ��
 ��
 ��


 ���
�� �
� p = πT [a, a + n] ��� q = πT [b, b + n] ���

p 
= q�

��� ������
 φL(p) = φL(q)� �� πT [2a, 2a+2n−1] = πT [2b, 2b+2n−1] ��� T [2a, 2a+

2n − 2] = T [2b, 2b + 2n − 2]� �� 	
��

 �
 ��� T [2a, 2a + 2n − 1] = T [2b, 2b + 2n − 1]

��� T [a, a + n − 1] = T [b, b + n − 1]� �� p ��� q ���
 ��
 ���
 ��
�� �� ��
�

� 5.2.8�

p ��� q �

 � �����
�
���
� ���
 �� ���
 k ≥ 1� �� k > 1� ��
� φL(p) ��� φL(q) �



� �����
�
���
� ���
 �� ���
 2k − 2 > 1� �� φL(p) 
= φL(q)� ��


��

 p ��� q �

 �

�����
�
���
� ���
 �� ���
 ��

��� ������
 φR(p) = φR(q)� ���� � ��� �����
� T [a, a + n− 1] = T [b, b + n− 1] �� p

��� q ���
 ��
 ���
 ��
�� �� �� ���
 (a) �
 ��
� ��� p ��� q �

 � �����
�
���
� ���


�� ���
 ��

�	� ������
 φM(p) = φM(q)� ���� � ��� �����
� T [a, a + n − 1] = T [b, b + n − 1] ��

p ��� q ���
 ��
 ���
 ��
�� �� �� ���
 (a) �
 ��
� ��� p ��� q �

 � �����
�
���
�

���
 �� ���
 ��

�� ��
� ��


 �

 �����
�
���
� ���
� �� ���
 � ���
 �� ��
 ���� φL� φR� ��� φM

�

 ��!
����
� ��� ���� ��
� �

 ��� 	�!
����
� �� ���
� ��


 ��


 �

 �� �����
�
���
�

���
� �� ���
 � ��
 ���� φL� φR� ��� φM �

 ��!
����
 ��� ��
 ��
"������
� �� #
���

5.2.6 	
���
 
"������
�� �� �
 �

� �� $��� ��
� �����
�
���
� ���
� �� ���
 � ����

����
� ��� ��� ���� �����
�
���
� ���
� ��
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�

����� ���� 	 
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�

���� �
����� ���
��� ��
� ��
� �����
�
���
� ���
� �� ���
 � �
��
 ��� ��
 ���	

 ��

���
� ���� ����
� �� ���� ��
� ��
 ���� φL� φR� ��� φM �
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 �
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�
���
� ���
� �� ���
 � ����
� ��
 �������� �
��� ����� ��
�

��


 �

 �����
�
���
� ���
� �� ���
 k� ��
 
��� k ≥ 0� �� ��������� �
 ��
�� ���� 	


��
� ���� �
��������� 5.2.7 ��� ��
�

� 5.2.8 �� ���� ���� ��� �����
�
���
� ���
� ��

�  ��
� �
� �� �

 �� ���
 ���
�
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����������� 	
�
�� ��� n > 4 �� � ������	 ��
��� ��� 	�� p ��� q �� ���
��
��������

�� πT �� 	����� n + 1 ���� ��� ��
� ���
� ����� ����� r ��� c �� ���� n = 2r + c� �����

0 ≤ c < 2r�

��� �� 0 ≤ c < 2r−1 + 1� ���� ������ p = q �� p ��� q ��� � ��

	�
������ 
��� �� ��
�

c + 1�

��� �� 2r−1 + 1 ≤ c < 2r� ���� p = q�

����
 ���� ���� �� 	
���
 ����� �� ��
������ �
������ �� r� �� ������� �� ��� ����

	�
��������� �� �		��
�� A �� ��� �� 
��
��� ��
���
 ���� ��� ����� �� �
�� ��
 r = 2

��
 c = 0, 1, 2, 3� �� ��
 n = 4, 5, 6, 7� ��		��� ���� r > 2 ��
 ���� ��� ��������� �� ���

����� �� �
�� ���� n < 2r�  � ���� �� ����� ���� �� �� �
�� ��
 ��� n = 2r + c ���
�

0 ≤ c < 2r�

��� !�� n = 2r + c ���� 0 ≤ c < 2r−1 + 1�  � p′ = q′ ��� 	
�	������� �� �������
� ��

������ ���� p′ 
= q′� �� �� ��� �����
 �� ��� 	
��� �� ����
�� 5.2.8� �� p′ ∈ PermT
ev(n+1)

��
 q′ ∈ PermT
odd(n + 1)� ���� p′ ��
 q′ ������ ���� ��� ���� ��
�� "� ���� ����

�����
�
 ���� n + 1 �� ���� ���� ��
 �

� �� ���
� ���� �� ���
 �������� �� �����
�
�

���� p′, q′ ∈ PermT
ev(n + 1) �
 ���� p′, q′ ∈ PermT

odd(n + 1) ��
 ���� n + 1 �� ���� �


�

�

���� �
�� ��		��� p′, q′ ∈ PermT
ev(n + 1) ��
 n + 1 �� �

� �� c �� ����� ���
� ��

� d �� ���� c = 2d� ���� 0 ≤ d < 2r−2 + 1� ��
 ���
� �
� �����
� a ��
 b �� ����

p′ = πT [2a, 2a + 2r + 2d] ��
 q′ = πT [2b, 2b + 2r + 2d]� ��


p = πT [a, a + 2r−1 + d], q = πT [b, b + 2r−1 + d],

p′ = φ(p), q′ = φ(q).

"� ����� ��
 T [a, a+2r−1 +d−1] = T [b, b+2r−1 +d−1]� �� p ��
 q ���� ��� ���� ��
��

����� p = q ����
 ��	�� p′ = q′� �� ���� �� ���� p 
= q� �� ��� ��
������ ��	�������� p

��
 q �
� � ���	�������
� 	��
 �� ��	� d + 1� ���
���
�� �� #
�	������� 5.2.7� φ(p) = p′

��
 φ(q) = q′ �
� � ���	�������
� 	��
 �� ��	� 2(d + 1) − 1 = 2d + 1 = c + 1�

���� �
�� ��		��� p′, q′ ∈ PermT
ev(n + 1) ��
 n + 1 �� ����� �� c �� �

� ���
� ��

� d �� ���� c = 2d + 1� ���� 0 ≤ d < 2r−2 + 1� ��
 ���
� �
� �����
� a ��
 b �� ����

p′ = πT [2a, 2a + 2r + 2d + 1] ��
 q′ = πT [2b, 2b + 2r + 2d + 1]� ��


p = πT [a, a + 2r−1 + d + 1], q = πT [b, b + 2r−1 + d + 1],

p′ = φL(p), q′ = φL(q).

$%



����� p′ ��� q′ ��	� 
�� ���� 
���� T [2a, 2a+2r +2d] = T [2b, 2b+2r +2d]� �� �����

��� T [a, a+2r−1+d] = T [b, b+2r−1+d]� �� p ��� q ��	� 
�� ���� 
���� ����� p = q �����

����� φ(p) = φ(q)� ��� 
��� p′ = q′� �
 ���
 �� 
��
 p 
= q� �� 
�� �����
��� ����
������ p

��� q ��� � ���������
��� ���� �
 
��� d+2� �����
���� �� �������
��� 5.2.7� φL(p) = p′

��� φL(q) = q′ ��� � ���������
��� ���� �
 
��� 2(d + 2) − 2 = 2d + 2 = c + 1�

���� ���� ������� p′, q′ ∈ PermT
odd(n + 1) ��� n + 1 �� �	��� �� c �� ���� ����� ��

� d �� 
��
 c = 2d + 1� ��
� 0 ≤ d < 2r−2 + 1� ��� 
���� ��� ������� a ��� b �� 
��


p′ = πT [2a + 1, 2a + 2r + 2d + 2] ��� q′ = πT [2b + 1, 2b + 2r + 2d + 2]� ���

p = πT [a, a + 2r−1 + d + 1], q = πT [b, b + 2r−1 + d + 1],

p′ = φR(p), q′ = φR(q).

����� p′ ��� q′ ��	� 
�� ���� 
���� T [2a+1, 2a+2r+2d+1] = T [2b+1, 2b+2r+2d+1]�

�� ����� ��� T [a, a + 2r−1 + d] = T [b, b + 2r−1 + d]� �� p ��� q ��	� 
�� ���� 
����

����� p = q ����� ����� φ(p) = φ(q)� ��� 
��� p′ = q′� �
 ���
 �� 
��
 p 
= q� ��


�� �����
��� ����
������ p ��� q ��� � ���������
��� ���� �
 
��� d + 2� �����
����

�� �������
��� 5.2.7� φR(p) = p′ ��� φ(q)R = q′ ��� � ���������
��� ���� �
 
���

2(d + 2) − 2 = 2d + 2 = c + 1�

���� ���� ������� p′, q′ ∈ PermT
odd(n + 1) ��� n + 1 �� ���� �� c �� �	��� �����

�� � d �� 
��
 c = 2d� ��
� 0 ≤ d < 2r−2 + 1� ��� 
���� ��� ������� a ��� b �� 
��


p′ = πT [2a + 1, 2a + 2r + 2d + 1] ��� q′ = πT [2b + 1, 2b + 2r + 2d + 1]� ���

p = πT [a, a + 2r−1 + d + 1], q = πT [b, b + 2r−1 + d + 1],

p′ = φM(p), q′ = φM(q).

����� p′ ��� q′ ��	� 
�� ���� 
���� T [2a + 1, 2a + 2r + 2d] = T [2b + 1, 2b + 2r + 2d]�

�� ����� ��� T [a, a + 2r−1 + d] = T [b, b + 2r−1 + d]� �� p ��� q ��	� 
�� ���� 
����

����� p = q ����� ����� φ(p) = φ(q)� ��� 
��� p′ = q′� �
 ���
 �� 
��
 p 
= q� ��


�� �����
��� ����
������ p ��� q ��� � ���������
��� ���� �
 
��� d + 2� �����
����

�� �������
��� 5.2.7� φM(p) = p′ ��� φM(q) = q′ ��� � ���������
��� ���� �
 
���

2(d + 2) − 3 = 2d + 1 = c + 1�

	
� ��
 n = 2r + c ��
� 2r−1 + 1 ≤ c < 2r� ����� ���� ����� �� 
�� 
��� ��������


��� ���
 (a) ���� 2r−1 + 1 ≤ c < 2r − 2� ���� p′, q′ ∈ PermT
ev(n + 1) �� ���� p′, q′ ∈

PermT
odd(n + 1) ��� ���� n + 1 �� �	�� �� ���� ����� ���� ���� �� � ����
����� �������

����� 
� ��������� ����� ��� ���� c = 2r − 2 ��� c = 2r − 1�

 !



���� ���� ������� p′, q′ ∈ PermT
ev(n + 1) ��	 n + 1 
� �		� �� c 
� ����
 ����� 
�

� d �� ���� c = 2d� �
�� 2r−2 + 1 ≤ d < 2r−1� ��	 ����� ��� ������� a ��	 b �� ����

p′ = πT [2a, 2a + 2r + 2d] ��	 q′ = πT [2b, 2b + 2r + 2d]� ��	

p = πT [a, a + 2r−1 + d], q = πT [b, b + 2r−1 + d],

p′ = φ(p), q′ = φ(q).

�� 
� ���� ���� T [a, a + 2r−1 + d − 1] = T [b, b + 2r−1 + d − 1]� �� p ��	 q ���� ��� ����

����
 �� ��� 
�	���
�� ��������
� p = q� �� �� ��������� 5.2.5� p′ = φ(p) = φ(q) = q′


���� ��	� ������� p′, q′ ∈ PermT
odd(n + 1) ��	 n + 1 
� �		� �� c 
� ����
 ����� 
�

� d �� ���� c = 2d� �
�� 2r−2 + 1 ≤ d < 2r−1� ��	 ����� ��� ������� a ��	 b �� ����

p′ = πT [2a + 1, 2a + 2r + 2d + 1] ��	 q′ = πT [2b + 1, 2b + 2r + 2d + 1]� ��	

p = πT [a, a + 2r−1 + d + 1], q = πT [b, b + 2r−1 + d + 1],

p′ = φM(p), q′ = φM(q).

�� 
� ���� ��
� T [a, a + 2r−1 + d] = T [b, b + 2r−1 + d]� �� p ��	 q ���� ��� ���� ����


�� ��� 
�	���
�� ��������
� p = q� �� �� ��������� 5.2.5� φ(p) = φ(q) ��	 ���������

p′ = φM(p) = φM(q) = q′


���� ���� ������� p′, q′ ∈ PermT
ev(n + 1) ��	 n + 1 
� ����� �� c 
� �		
 ����� 
� �

d �� ���� c = 2d + 1� �
�� 2r−2 + 1 ≤ d < 2r−1� ��	 ����� ��� ������� a ��	 b �� ����

p′ = πT [2a, 2a + 2r + 2d + 1] ��	 q′ = πT [2b, 2b + 2r + 2d + 1]� ��	

p = πT [a, a + 2r−1 + d + 1], q = πT [b, b + 2r−1 + d + 1],

p′ = φL(p), q′ = φL(q).

�� 
� ���� ��	� T [a, a + 2r−1 + d] = T [b, b + 2r−1 + d]� �� p ��	 q ���� ��� ���� ����


�� ��� 
�	���
�� ��������
� p = q� �� �� ��������� 5.2.5� φ(p) = φ(q) ��	 ���������

p′ = φL(p) = φL(q) = q′


���� ��
� ������� p′, q′ ∈ PermT
odd(n + 1) ��	 n + 1 
� ����� �� c 
� �		
 ����� 
� �

d �� ���� c = 2d + 1� �
�� 2r−2 + 1 ≤ d < 2r−1� ��	 ����� ��� ������� a ��	 b �� ����

p′ = πT [2a + 1, 2a + 2r + 2d + 2] ��	 q′ = πT [2b + 1, 2b + 2r + 2d + 2]� ��	

p = πT [a, a + 2r−1 + d + 1], q = πT [b, b + 2r−1 + d + 1],

p′ = φR(p), q′ = φR(q).

��



�� �� ���� ���� T [a, a + 2r−1 + d] = T [b, b + 2r−1 + d]� �	 p ��
 q ���� 
�� ���� �	���

�� 
�� ��
��
�	� ���	
����� p = q� �	 �� �	�	����� 5.2.5� φ(p) = φ(q) ��
 
�����	��

p′ = φR(p) = φR(q) = q′�

���� ���	 ����	�� c = 2r − 2� ���� n = 2r + 2r − 2 = 2r+1 − 2� ��
 
�� �������

��
�
�	�� p′ ��
 q′ ���� ���� 	

 ����
�� ����� ���� �� 
�	 ��������� 
���� ����� ����

p′, q′ ∈ PermT
ev(n + 1) ��
 ���� p′, q′ ∈ PermT

odd(n + 1)�

���� ����
	 ����	�� p′, q′ ∈ PermT
ev(n + 1)� ����� ��� ������� a ��
 b �	 
��


p′ = πT [2a, 2a + 2r+1 − 2] ��
 q′ = πT [2b, 2b + 2r+1 − 2]� ��


p = πT [a, a + 2r − 1], q = πT [b, b + 2r − 1],

p′ = φ(p), q′ = φ(q).

�� �� ����� ��� ��
 ���� T [a, a+2r −2] = T [b, b+2r −2]� �	 p ��
 q ���� 
�� ���� �	���

�� 
�� ��
��
�	� ���	
����� p = q� �	 �� �	�	����� 5.2.5� p′ = φ(p) = φ(q) = q′�

���� ����

	 ����	�� p′, q′ ∈ PermT
odd(n + 1)� ����� ��� ������� a ��
 b �	 
��


p′ = πT [2a + 1, 2a + 2r+1 − 1] ��
 q′ = πT [2b + 1, 2b + 2r+1 − 1]� ��


p = πT [a, a + 2r], q = πT [b, b + 2r],

p′ = φM(p), q′ = φM(q).

�� �� ����� ��� ��
 ���� T [a, a + 2r − 1] = T [b, b + 2r − 1]� �	 p ��
 q ���� 
�� ����

�	��� �� p = q 
��� φ(p) = φ(q)� �� �	�	����� 5.2.5� ��
 p′ = M(φ(p)) = M(φ(q)) = q′�

�� p 
= q 
��� �� ���� ���� p ��
 q ��� � �	�������
��� ���� 	� 
��� �� ������	��� ��

 �	�	��
�	� 5.2.7� p′ = φM(p) = φM(q) = q′�

���� ��
	 ����	�� c = 2r − 1� ���� n = 2r + 2r − 1 = 2r+1 − 1� ��
 
�� �������

��
�
�	�� p′ ��
 q′ ���� ���� ���� ����
�� ����� ���� �� 
�	 ��������� 
���� ����� ����

p′, q′ ∈ PermT
ev(n + 1) ��
 ���� p′, q′ ∈ PermT

odd(n + 1)�

���� ��
�
	 ����	�� p′, q′ ∈ PermT
ev(n + 1)� ����� ��� ������� a ��
 b �	 
��


p′ = πT [2a, 2a + 2r+1 − 1] ��
 q′ = πT [2b, 2b + 2r+1 − 1]� ��


p = πT [a, a + 2r], q = πT [b, b + 2r],

p′ = φL(p), q′ = φL(q).

�� �� ����� ��� ��
 ���� T [a, a+2r −1] = T [b, b+2r −1]� �	 p ��
 q ���� 
�� ���� �	���

�� p = q 
��� φ(p) = φ(q)� �� �	�	����� 5.2.5� ��
 p′ = L(φ(p)) = L(φ(q)) = q′� �� p 
= q


��� �� ���� ���� p ��
 q ��� � �	�������
��� ���� 	� 
��� �� ������	��� ��  �	�	��
�	�

5.2.7� p′ = φL(p) = φL(q) = q′�

!"



���� ������	 ������� p′, q′ ∈ PermT
odd(n + 1)� �	�
� �
� ��
��
� a ��� b �� �	��

p′ = πT [2a + 1, 2a + 2r+1] ��� q′ = πT [2b + 1, 2b + 2r+1]� ���

p = πT [a, a + 2r], q = πT [b, b + 2r],

p′ = φR(p), q′ = φR(q).

�� �� ����� ��
 ��� ���� T [a, a+2r −1] = T [b, b+2r −1]� �� p ��� q 	��� �	� ��
� ��

�

�� p = q �	�� φ(p) = φ(q)� �� ��
����
� 5.2.5� ��� p′ = R(φ(p)) = R(φ(q)) = q′� �� p 
= q

�	�� �� ���� ���� p ��� q �
� � ��
���
����
� ���
 �� ���� �� �	�
���
�� �� �
���������

5.2.7� p′ = φR(p) = φR(q) = q′�

�	�
���
� �	� ��

� �� �
�� �	�� n = 2r + c ���	 0 ≤ c < 2r� ��� �	�
���
� ��
 ���

n�

�	��� ���� �����

�������� �� �����	 2r + 1 ��� �� � ��
���
����
� ���
 �� ���� ��

��� �� 	��� �	� ��������� ��
����
��

�
�
����� �����
 �� n 
= 2r� ��� r ≥ 1� ���� ��� 	�
 ��
������	����� p = πT [a, a + n]

	�� q = πT [b, b + n]

�	� φL(p) = φL(q) �� 	�� ���
 �� p = q�

�
� φR(p) = φR(q) �� 	�� ���
 �� p = q�

��� φM(p) = φM(q) �� 	�� ���
 �� p = q�

����� �� ������ 	
 ��
�
 �� 
��� ���
 ���� �� p = q ��
�

φL(p) = φL(q) φR(p) = φR(q) φM(p) = φM(q).

������
 φL(p) = φL(q)� �� p 
= q� 	� ��
����
� 5.2.11 p ��� q �

 � �����
�
���
�

���
 �� ���
 �� �� �
��������� 5.2.12� p ��� q �

 ������ 	
 �����
�
���
� ���
 �� ���


�� ��


��

 p = q�

� ������
 �
���
�� ���� ���� �� φR(p) = φR(q) ��
� p = q� ��� �� φM(p) = φM(q)

��
� p = q�

�
 ��� ������

 ��
 ���	

 �� �����
� u �� T �� �
���� 2r ���� ���
 ��� ��	�

�� 

������� ����� ��
� � �����
�
���
� ���
 �� ���
 ��

����� 	
�
�
 ��� n = 2r �� 2r + 1� ���� r ≥ 2� ���� ����� 	�� ��	���
 2r �	����� u ��

T �� ������ n �� ��	� ����� ����� ��
������	����� p = πT [a, a + n] 	�� q = πT [b, b + n]

���� ���� u 	�� p 
= q�

!"



����� �� ��� �� ���	
�� 
��
��	 �� ����
�� �� ��� �����������
��� 
� �����	
� A ����

��� ����� 
� ���� ��� r = 2� �� ����� ��� � ������� u �� T �� ������ � �
�� ��� 	
��
���

�����������
��� �� ������ � �
�� ���� u� ��	 ����� ��� � ������� v �� T �� ������ � �
��

��� 	
��
��� �����������
��� �� ������  �
�� ���� v�

������� r ≥ 2 ��	 ���� ��� ����� 
� ���� ��� r� !� ��� ���� ��� ����� 
� ����

��� r + 1� "�� Γ �� ��� ��� �� ������� �� ������ 2r� |Γ| = 2r� �� ���� ��� u ∈ Γ ����� ���

�����������
��� p ��	 q �
�� ���� u �� ���� p 
= q� ������ �� #�����
�
�� 5.2.12� p ��	

q ��� � ������������� ��
� �� ���� $� "�� Γ′ �� ��� ��� �� ������� �� ������ 2r+1 �� ���� 
�

u ∈ Γ′ ���� ����� ��
�� �����������
��� p ��	 q �
�� ���� u �� ���� p 
= q� "�� ∆ �� ���

��� �� ������� �� ������ 2r +1� |∆| = 2r� �� ���� ��� v ∈ ∆ ����� ��� �����������
��� p ��	

q �
�� ���� v �� ���� p 
= q� ������ �� #�����
�
�� 5.2.12� p ��	 q ��� � �������������

��
� �� ���� %� "�� ∆′ �� ��� ��� �� ������� �� ������ 2r+1 + 1 �� ���� 
� v ∈ ∆′ ���� �����

��
�� �����������
��� p ��	 q �
�� ���� v �� ���� p 
= q�

&�� �
'�� �� Γ′ ��	 ∆′ �
�� �� ����
	���	 
� ��� ������

���� Γ′
	 ��� ������ 
� Γ′ �
�� �
���� ����� 
� �� �
�� ���
�
�� �� �� �		 ���
�
��� ����

����� ���� �� ������� Γ′
ev ��	 Γ′

odd ��	 �����

Γ′ = Γ′
ev ∪ Γ′

odd.

�
��� ��� ������� ��� �� ������ 2r+1 ≥ 8� ��� ��� ������� s ∈ Γ′
ev ��	 t ∈ Γ′

odd� s 
= t� ����

Γ′
ev ∩ Γ′

odd = ∅.

&���� �
�� �� ��� �������� �� ������
�� ��� �
'� �� Γ′� ���� �� ����
�� ��� �
'� �� Γ′
ev ��	

���� ��� �
'� �� Γ′
odd�


��
��� Γ′
ev	 (�� u ∈ Γ ����� ��� �����������
��� p ��	 q �� πT �� ������ 2r + 1�

�� ���� p 
= q� )� #�����
�
�� 5.2.12� p ��	 q ��� � ������������� ��
� �� ���� $� )�

#�����
�
�� 5.2.7 φ(p) ��	 φ(q) ��� � ������������� ��
� �� ���� $� �� φ(p) 
= φ(q) ��	

���� ���� ��
� ���� µT (u)� &�������� ��� ���� u ∈ Γ� µT (u) ∈ Γ′
ev� *����

|Γ′
ev| ≥ |Γ| .

������� ���� u′ ∈ Γ′
ev� �� ����� ��� �����������
��� p′ = πT [2a, 2a + 2r+1] ��	

q′ = πT [2b, 2b + 2r+1] �
�� ���� u′ = T [2a, 2a + 2r+1 − 1] = T [2b, 2b + 2r+1 − 1]� �� ����

p′ 
= q′� *���� ����� ��
�� �����������
��� p ��	 q �� ���� φ(p) = p′ ��	 φ(q) = q′� ��


� ���� ��� �� #�����
�
�� 5.2.12� p ��	 q ��� � ������������� ��
� �� ���� $ �
�� ���� u

����� µT (u) = u′� &��� ��� ���� u′ ∈ Γ′
ev� ����� 
� ���� u ∈ Γ �� ���� µT (u) = u′� *����

|Γ′
ev| ≤ |Γ| .

+,



��������� |Γ′
ev| = |Γ|�

������� Γ′
odd� ��� u ∈ ∆	 u = T [a, a + 2r] 	 
���� ��� �
�����

�
���� p ��� q ��

πT �� ����
� 2r + 2	 �� 
��
 p 
= q� �� �������
��� 5.2.12	 p ��� q ��� � ���������
���

���� �� 
��� �� �� �������
��� 5.2.7	 φ(p) ��� φ(q) ��� � ���������
��� ���� �� 
��� �

��
� ���� µT (u) = T [2a, 2a + 2r+1 + 1] ��� φM(p) ��� φM(q) ��� � ���������
��� ����

�� 
��� �	 �� φM(p) 
= φM(q) ��� 
��� ��
� ���� ���� T [2a + 1, 2a + 2r+1]� ��������� ���

���� T [a, a + 2r] ∈ ∆	 T [2a + 1, 2a + 2r+1] ∈ Γ′
odd� �����

|Γ′
odd| ≥ |∆| .

 
����� 
��
 u′ ∈ Γ′
odd	 �� 
���� ��� �
�����

�
���� p′ = πT [2a + 1, 2a + 2r+1 + 1]

��� q′ = πT [2b+1, 2b+2r+1 +1] ��
� ���� u′ = T [2a+1, 2a+2r+1] = T [2b+1, 2b+2r+1]	

�� 
��
 p′ 
= q′� ����� 
���� �!��
 �
�����

�
���� p ��� q �� 
��
 φM(p) = p′ ���

φM(q) = q′� "� �� ���� �	
 �� �������
��� 5.2.12	 p ��� q ��� � ���������
��� ���� ��


��� � ��
� ���� T [a, a + 2r]� ��
� ��� ���� u′ ∈ Γ′
odd	 
���� �� ���� T [a, a + 2r] ∈ ∆ ��


��
 u′ = T [2a + 1, 2a + 2r+1]� �����

|Γ′
odd| ≤ |∆| .

��������� |Γ′
odd| = |∆|�

���������

|Γ′| = |Γ′
ev| + |Γ′

odd| = |Γ| + |∆| = 2r + 2r = 2r+1.

���� ∆′
� "�� ���
�� �� ∆′ ���� ��
��� �
��
 �� �� ���� ����
��� �� �� ��� ����
���	

���� 
���� ��
� �� ���
��� ∆′
ev ��� ∆′

odd ��� �����

∆′ = ∆′
ev ∪ ∆′

odd.

 ���� 
�� ���
��� ��� �� ����
� 2r+1 + 1 ≥ 8	 ��� ��� ���
��� s ∈ ∆′
ev ��� t ∈ ∆′

odd	 s 
= t	


�
�

∆′
ev ∩ ∆′

odd = ∅.
����� ���� �� 
�� �
������ 
� ��
������ 
�� ��#� �� ∆′	 $��
 �� ������� 
�� ��#� �� ∆′

ev

��� 
��� 
�� ��#� �� ∆′
odd�

������� ∆′
ev� ��� u ∈ ∆	 u = T [a, a + 2r] 	 
���� ��� �
�����

�
���� p ��� q ��

πT �� ����
� 2r + 2	 �� 
��
 p 
= q� �� �������
��� 5.2.12	 p ��� q ��� � ���������
���

���� �� 
��� �� �� �������
��� 5.2.7	 φ(p) ��� φ(q) ��� � ���������
��� ���� �� 
��� �

��
� ���� µT (u) = T [2a, 2a + 2r+1 + 1] ��� φL(p) ��� φL(q) ��� � ���������
��� ����

�� 
��� �	 �� φL(p) 
= φL(q) ��� 
��� ��
� ���� ���� T [2a, 2a + 2r+1]� ��������� ��� ����

T [a, a + 2r] ∈ ∆	 T [2a, 2a + 2r+1] ∈ ∆′
ev� �����

|∆′
ev| ≥ |∆| .

%�



������� ��	� u′ ∈ ∆′
ev
 �� ����� 	�� ������
��	����� p′ = πT [2a, 2a + 2r+1 + 1] 	��

q′ = πT [2b, 2b + 2r+1 + 1] ���� ���
 u′ = T [2a, 2a + 2r+1] = T [2b, 2b + 2r+1]
 �� ��	�

p′ 
= q′� ����� ����� ����� ������
��	����� p 	�� q �� ��	� φL(p) = p′ 	�� φL(q) = q′�

�� �� �	�� ��� �� ����������� 5.2.12
 p 	�� q 	�� 	 ��
���
���	�� �	�� �� ���� � ����

���
 u = T [a, a + 2r]� ���� ��� �	�� u′ ∈ ∆′
ev
 ����� �� ��
� T [a, a + 2r] ∈ ∆ �� ��	�

u′ = T [2a, 2a + 2r+1]� �����

|∆′
ev| ≤ |∆| .

��������� |∆′
ev| = |∆|�

������	 ∆′
odd
 � ��

����� 	���
��� �� ��� 	���
��� ���� �� ����	�� ∆′

ev ����

���� |∆′
odd| = |∆|�

���������

|∆′| = |∆′
ev| + |∆′

odd| = |∆| + |∆| = 2r + 2r = 2r+1.

��� �� ���� ���� ����� 	�� ��
���
���	�� �	��� �� ����  
 	�� ��� 
	�� �	��� ��

����  ����� 	�� �� �	�� �	���

����� �����	
	��
 ��������	� �� T

!� 	�� ��� ��	�� �� ��"� 	 �������"� ��#������ ��� ��� ���
��	���� ��
������� �� T � ��

���� ���� �� �������� ���� ��� 
	�� φ
 φL
 φR
 	�� φM 	�� ��$����"�� ����� ��� �������"�

��#������ �� ��"��
 �� ���� �� ����� ��	� ��� �������"� ��#������ ������ 	 ���
��	 ��� ���

���
��	���� ��
��������

��
�
����
� ������ ��� n ∈ N� ���� 2n + 1 = 2r − 1� 	
� �

� r ≥ 3�

τT (2n + 1) = τT (n + 1) + τT (n + 2) − 2r−1.

���� 2n = 2r� 	
� �

� r ≥ 3�

τT (2n) = 2(τT (n + 1) − 2r−1).

�
� ��� 
���� n ≥ 3�

τT (2n) = 2(τT (n + 1))

τT (2n + 1) = τT (n + 1) + τT (n + 2).

��

� %�� 	�� n


τT (n) =
∣

∣PermT (n)
∣

∣ =
∣

∣PermT
ev(n)

∣

∣ +
∣

∣PermT
odd(n)

∣

∣ .

&�



���� ����� 	�

 �� 
��� �� ����� ������ ��� ���� �� 	��� 2n + 1 = 2r − 1 ��� ���� r ≥ 3�

��� �����
 �� 	��� 2n = 2r ��� ���� r ≥ 3� ��
 ��� ����
 ��� �

 ����� n�

���� 2n + 1 = 2r − 1� �� ��� �� ���
�
� ������
 �� 
������ �� ��� ���������������

�� �����
�� A ���� ��� ����������� �� ���� ��� r = 3� ������� r ≥ 3 ��
 ��� 
���� ��

���� ��� r� �� ���	 ���� ��� 
���� �� ���� ��� r + 1� �� 2n + 1 = 2r+1 − 1�

����� ��� ���

φ : PermT (n + 1) �→ PermT
ev(2n + 1)

�� � �� �������
∣

∣PermT
ev(2n + 1)

∣

∣ =
∣

∣PermT (n + 1)
∣

∣ = τT (n + 1)� ��� ���

φM : PermT (n + 2) �→ PermT
odd(2n + 1)

�� � ��� ������ ��� � ��� �� �� ��� �� ������ ������� n + 2 = 2r + 1� �� ����� ��� 2r �������

u �� 
����� 2r 	��� � ����
�������� ���� �� ���� ! �� "���������� 5.2.12 ��
 #����

5.2.14� ���� ����� ��� �����
� 2r ����
�������� ����� �� ���� ! �� PermT (n+2)� �� 2r+1

��������������� �� PermT (n+2) 	�

 �� �����
 �� 2r ��������������� �� PermT
odd(2n+1)

��
�� φM � ��� ����� PermT (n+2)−2r+1 ��������������� �� PermT (n+2) ��� ����	���


������� ��
 ��� ����
�������� ������ ��
 ���� 	�

 �� ����	��� 
������� ��
�� φM � $����

∣

∣PermT
odd(2n + 1)

∣

∣ =
(∣

∣PermT (n + 2)
∣

∣ − 2r+1
)

+ 2r = τT (n + 2) − 2r.

���������

τT (2n + 1) = τT (n + 1) + τT (n + 2) − 2r.

���� 2n + 1 = 2r
� �� ��� �� ���
�
� ������
 �� 
������ �� ��� ��������������� ��

�����
�� A ���� ��� ����������� �� ���� ��� r = 3� ������� r ≥ 3 ��
 ��� 
���� �� ����

��� r� ��
 	� ���	 ���� ��� 
���� �� ���� ��� r + 1� �� 2n + 1 = 2r+1�

��� ���

φL : PermT (n + 1) �→ PermT
ev(2n)

�� � ��� ������ ���� ��� �� �� ��� �� ������ ������� n + 1 = 2r + 1� �� ����� ��� 2r �������

u �� 
����� 2r 	��� � ����
�������� ���� �� ���� ! �� "���������� 5.2.12 ��
 #����

5.2.14� ���� ����� ��� �����
� 2r ����
�������� ����� �� ���� ! �� PermT (n+1)� �� 2r+1

��������������� �� PermT (n + 1) 	�

 �� �����
 �� 2r ��������������� �� PermT
ev(2n)

��
�� φM � ��� �����
∣

∣PermT (n + 1)
∣

∣−2r+1 ��������������� �� PermT (n+1) ��� ����	���


������� ��
 ��� ����
�������� ������ ��
 ���� 	�

 �� ����	��� 
������� ��
�� φL� $����

∣

∣PermT
ev(2n)

∣

∣ =
(∣

∣PermT (n + 1)
∣

∣ − 2r+1
)

+ 2r =
∣

∣PermT (n + 1)
∣

∣ − 2r.

��� ���

φR : PermT (n + 1) �→ PermT
odd(2n)

%&



�� � ������	�
� ���
 ��	 �	 �� ��	 �����	�
� ������� n + 1 = 2r + 1� �� � ������� �������	

	� ���
� �� ��� ���
∣

∣PermT
odd(2n)

∣

∣ =
∣

∣PermT (n + 1)
∣

∣ − 2r.

���������

τT (2n) = (
∣

∣PermT (n + 1)
∣

∣ − 2r) + (
∣

∣PermT (n + 1)
∣

∣ − 2r) = 2(τT (n + 1) − 2r).

���� n ≥ 3� �	 ��� �� ������� 
������ �� ������� �	 	�� ��������	�	���� �� ���

����� A 	��	 	�� �������	��� �� 	��� ��� n = 3� !������ n ≥ 3 ��� 	�� ����� �� 	���

��� n
 ��� �� ���� 	��	 	�� ����� �� 	��� ��� n + 1� !���� 2(n + 1) + 1, 2(n + 1) /∈
{2r − 1, 2r|r ≥ 2} ��� ��� r
 �� ��
� n + 2, n + 3 /∈ {2r + 1|r ≥ 2}� !� ��� 2(n + 1) ���

2(n + 1) + 1 ���� �� 	�� ����

φ : PermT (n + 2) �→ PermT
ev(2(n + 1) + 1)

φL : PermT (n + 2) �→ PermT
ev(2(n + 1))

φR : PermT (n + 2) �→ PermT
odd(2(n + 1))

φM : PermT (n + 3) �→ PermT
odd(2(n + 1) + 1)

��� ��� �����	����� ���������"

∣

∣PermT
ev(2(n + 1) + 1)

∣

∣ =
∣

∣PermT (n + 2)
∣

∣ = τT (n + 2)
∣

∣PermT
ev(2(n + 1))

∣

∣ =
∣

∣PermT (n + 2)
∣

∣ = τT (n + 2)
∣

∣PermT
odd(2(n + 1))

∣

∣ =
∣

∣PermT (n + 2)
∣

∣ = τT (n + 2)
∣

∣PermT
odd(2(n + 1) + 1)

∣

∣ =
∣

∣PermT (n + 3)
∣

∣ = τT (n + 3).

!�"

τT (2(n + 1)) =
∣

∣PermT
ev(2(n + 1))

∣

∣ +
∣

∣PermT
odd(2(n + 1))

∣

∣ = 2(τT (n + 2))

τT (2(n + 1) + 1) =
∣

∣PermT
ev(2(n + 1) + 1)

∣

∣ +
∣

∣PermT
odd(2(n + 1) + 1)

∣

∣

= τT (n + 2) + τT (n + 3).

����	�
 ��
��� ��� ��� n ≥ 6� �	
�
 n = 2r + p ���	 0 < p ≤ 2r�

τT (n) = 2(2r+1 + p − 2).

�	��� ��� ����� ���� �� ���� �� �����	��� �� n� ��� ���
� ������� ��� �� �������


������ �� ������� �	 	�� ��������	�	���� ���	�� �� ������� A ��� n ≤ 9� !������ 	��

	������ �� 	��� ��� ��� 
����� ���� 	��� �� �#��� 	� 2n�

$%



���� 2n + 1 = 2r − 1� ������� 2n+1 = 2r−1 = 2r−1 +2r−1−1� �	�
 n = 2r−1−1�

�� n + 1 = 2r−1 = 2r−2 + 2r−2 �
� n + 2 = 2r−1 + 1
 �	���

τT (n + 1) = 2(2r−2+1 + 2r−2 − 2) = 2(2r−1 + 2r−2 − 2) = 2(3(2r−2) − 2)

τT (n + 2) = 2(2r−1+1 + 1 − 2) = 2(2r − 1)

���� ����������
 5.2.15�

τT (2n + 1) = 2(3(2r−2) − 2) + 2(2r − 1) − 2r−1 = 2(3(2r−2) − 2 + 2r − 1 − 2r−2)

= 2(2(2r−2) + 2r − 3) = 2(2r + (2r−1 − 1) − 2)

���� 2n + 2 = 2(n + 1) = 2r
� ������� 2n + 2 = 2(n + 1) = 2r = 2r−1 + 2r−1�

τT (2(n + 1)) = 2(2(2r − 1) − 2r−1) = 2(2r+1 − 2r−1 − 2) = 2(3(2r−1) − 2)

= 2(2(2r−1) + 2r−1 − 2) = 2(2r + 2r−1 − 2)

���� ����� ������� 2n+1 = 2r+p� 2n+2 = 2(n+1) = 2r+p+1� �
� 0 < p < 2r−1


��
�� 2n + 1 = 2r + p �� ���� p �� ���
 �� n = 2r−1 + p−1
2
� n + 1 = 2r−1 + p+1

2
� �
�

n + 2 = 2r−1 + p+3
2

 �	���

τT (n + 1) = 2(2r +
p + 1

2
− 2)

τT (n + 2) = 2(2r +
p + 3

2
− 2).

���� ����������
 5.2.15�

τT (2n + 1) = 2(2r +
p + 1

2
− 2) + 2(2r +

p + 3

2
− 2)

= 2(2r + 2r +
p + 1

2
+

p + 3

2
− 2 − 2) = 2(2r+1 +

2p + 4

2
− 4)

= 2(2r+1 + p − 2)

τT (2(n + 1)) = 2(2(2r +
p + 3

2
− 2)) = 2(2r+1 + p + 3 − 4)

= 2(2r+1 + (p + 1) − 2).

�	�������� ��� ��� n ≥ 6� �	��� n = 2r + p ���	 0 < p ≤ 2r� τT (n) = 2(2r+1 + p− 2)

��



��� �����	
	��
 ��������	� 

� 	�� ������
� �
�

������ ��� �	
���
� ���� d� 	
 A ���
�� �� d : a �→ aa �	� ���� a ∈ A� ��� A = {0, 1}�
�
� ω ∈ AN �� �
 �����	��� 

��	���� ���
���
� �	��� �
 ���� �����	
 �� ���� �
���������

����
����	
 �	�������� 	� d(ω)� �� ���� ���� �
 
���� �	

� �	� ��� ����
����	


�	�������� 	� d(ω) �� �		��
� �� �	� ��� �	
���
� ��� ������ ��� �
�����
����	
� 	�

πω� ����� �	�� ��
���� ���
��� ��� ����������� �� ���� ���� � ����	� �	 ����
���� ���

����
����	
 �	�������� 	� d(s)� ����� s �� �  �
����
 �	��� �
� ���� ��� ����
����	


�	�������� �

���	
 	� d(T )� ����� T �� ��� !�
�"#	��� �	���

����� ����	
��
 ����

��� �	
��

��� ω �� �
 �����	��� 

��	���� ���
���
� �	�� 	��� {0, 1}� �
� πω �� ��� �
�
��� ���"

�
����	
 ���	������ ���� ω 
��
� ��� 
��
��� 	���� 	
 ��� ��������� �� �	
�� ���� �	

�������� ��� �
�
��� ����
����	
 ���	������ ���� d(ω)� ��� ����� 	� ω 

��� ��� �	
"

���
� ���� �� u = ω[a, a + n − 1] �� � ����	� 	� ω 	� ��
��� n� �� �� �����
� �	 
	��

d(u) = d(ω)[2a, 2a + 2n − 1] ���� �� � ����	� 	� d(ω) 	� ��
��� 2n�

 �
�� ω �� � 

��	���� ���
���
� �	�� �� ��
 
	� ���� ����������� �	
� ����
�� 	�

�	
���
	
� 0 	� 1� !�
� ����� ��� k0, k1 ∈ N �	 ����

10k01

01k10

��� ����	�� 	� ω� �
� 0k0+1 �
� 1k1+1 ��� 
	�� �� ���
 ���
� ��� �	��	��
� ����� 	� �	���$

C0 = 0k0

C1 = 0k0−11

C2 = 0k0−21

���

Ck0−1 = 01

Ck0 = 10

���

Ck0+k1−2 = 1k1−10

Ck0+k1−1 = 1k1 .

%	� ���� i ∈ N� ω[i] = ωiωi+1 · · · ��
 ���� ������� 	
� ��� ��	�� ������� 	� �	��� �� �

������ �� ��	
�� �� ����� C0 < C1 < · · · < Ck0+k1−1� �
� �	 d(Ci) < d(Cj) �	� i < j ��
��

��� �	
���
� ��� d �� 	���� ��������
�� �� ��	�
 �
 ����� 5.3.1� !�� 
��� ����� ����

&'



��� ���� ���� ��	� ��
 ���
���� �	� �� 	� ���
� ��
�
����� �	�� 
�� 	��� ��
 ���
� ��

��
 ��	�
 �� ωi ���
� ��
 ���
���� �	��

����� ����� ��� ω �� �� �����	 
������ ω[a] �
� ω[b] ��� ��� ������ �� ω ��� ����

a 
= b �� ���� ω[a] < ω[b]	 ��������� ������� Ci �� � ����� �� ω[a] �
� Cj �� � ����� ��

ω[b] ����� i ≤ j	 ���
 d(ω[a]) < d(ω[b])� �
�

��� �� ωa = ωb = 0 �
� i < j� ���
 d(ω)[2a] < d(ω)[2a + 1] < d(ω)[2b] < d(ω)[2b + 1]	

��� �� ωa = ωb = 0 �
� i = j� ���
 d(ω)[2a] < d(ω)[2b] < d(ω)[2a + 1] < d(ω)[2b + 1]	

��� �� ωa = 0 �
� ωb = 1� ���
 d(ω)[2a] < d(ω)[2a + 1] < d(ω)[2b + 1] < d(ω)[2b]	

��� �� ωa = ωb = 1�
� i < j� ���
 d(ω)[2a + 1] < d(ω)[2a] < d(ω)[2b + 1] < d(ω)[2b]	

��� �� ωa = ωb = 1�
� i = j� ���
 d(ω)[2a + 1] < d(ω)[2b + 1] < d(ω)[2a] < d(ω)[2b]	

	
��� ����
 ω[a] < ω[b]� ��
�
 �� ���
 ������
�� 
����� �	���� u �� ω �� ��	�

ω[a] = u0 · · ·

ω[b] = u1 · · ·
	�� ����

d(ω[a]) = d(u)00 · · ·
d(ω[b]) = d(u)11 · · ·

�� d(ω[a]) < d(ω[b]) 	�� d �� 	� ���
� ��
�
����� �	��

�	�� �� ��
 �	�
� ���� 

 ����
� 	� ���
�
��
�����


�� ������
 ωa = ωb = 0 	�� i < j� ����
 
��� ω[a] 	�� ω[b] ��	�� ���� �� ω[a] �	�

0k0−i1 	� 	 ��
�� 	�� ω[b] �	� 0k0−j1 	� 	 ��
���  ��� d(ω)[2a] �	� 02(k0−i)1 	� 	 ��
��

	�� d(ω)[2b] �	� 02(k0−j)1 	� 	 ��
��� 	�� ��
 �
���� ������� ����

02(k0−i)1 < 02(k0−i)−11 < 02(k0−j)1 < 02(k0−j)−11.


�� ������
 ωa = ωb = 0 	�� i = j� ����
 
��� ω[a] 	�� ω[b] ��	�� ���� �� ω[a] 	��

ω[b] �	�
 0k0−i1 	� 	 ��
���  ��� d(ω)[2a] 	�� d(ω)[2b] �	�
 02(k0−i)1 	� 	 ��
��� ����


ω[a] < ω[b] �� ���
� 	�� d �� 	� ���
� ��
�
����� �	�

d(ω)[2a] < d(ω)[2b]

d(ω)[2a + 1] < d(ω)[2b + 1]

02(k0−i)1 < 02(k0−i)−11.

!"



���� d(ω)[2a] < d(ω)[2b] < d(ω)[2a + 1] < d(ω)[2b + 1]�

��� ������	 ωa = 0 
�� ωb = 1
 �� i < j� ����	 ω[a] ��
��� ���� � 
�� ω[b] ��
���

���� �
 ω[a] �
� 0k0−i1 
� 
 ��	�� 
�� ω[b] �
� 1j−k0+10 
� 
 ��	��� ���� d(ω)[2a] �
�

02(k0−i)1 
� 
 ��	�� 
�� d(ω)[2b] �
� 12(j−k0)+20 
� 
 ��	��
 
�� ��	 �	���� ������� ����

02(k0−i)1 < 02(k0−i)−11 < 12(j−k0)+10 < 12(j−k0)+20.

��� ������	 ωa = ωb = 1 
�� i < j� ����	 ���� ω[a] 
�� ω[b] ��
�� ���� �
 ω[a] �
�

1i−k0+10 
� 
 ��	�� 
�� ω[b] �
� 1j−k0+10 
� 
 ��	��� ���� d(ω)[2a] �
� 12(i−k0)+20 
� 


��	�� 
�� d(ω)[2b] �
� 12(j−k0)+20 
� 
 ��	��
 
�� ��	 �	���� ������� ����

12(i−k0)+10 < 12(i−k0)+20 < 12(j−k0)+10 < 12(j−k0)+20.

��� ������	 ωa = ωb = 1 
�� i = j� ����	 ���� ω[a] 
�� ω[b] ��
�� ���� �
 ω[a] 
��

ω[b] �
�	 1i−k0+10 
� 
 ��	��� ���� d(ω)[2a] 
�� d(ω)[2b] �
�	 12(i−k0)+20 
� 
 ��	���

����	 ω[a] < ω[b] �� ���	� 
�� d �� 
� ���	� ��	�	����� �
�

d(ω)[2a] < d(ω)[2b]

d(ω)[2a + 1] < d(ω)[2b + 1]

12(i−k0)+10 < 12(i−k0)+20.

���� d(ω)[2a + 1] < d(ω)[2b + 1] < d(ω)[2a] < d(ω)[2b]�

�	�
��	 ω �� ��������� �	����	��
 ��� k = sup{k0, k1}
 ��	�	 �� 
� Nk �� 
�� �
���� u

�� ω �� �	���� n ≥ Nk ���� ����
�� 
�� �
����� �� ω �� �	���� k 
� 
 �������
 
�� ���� u

���� �
�	 Cj 
� 
 ������� ��� 	
�� j�

��	 ���	 
���� ��	 �
����� �� d(ω)�  �� n ≥ Nk 
�� ��� �
����� u = d(ω)[2x, 2x+2n]


�� v = d(ω)[2y + 1, 2y + 2n + 1] �� d(ω)
 ��	� u 
= v� ���� �� �	�
��	 
 ��	�� �� u ����

�	��� ���� 
� 	�	� ����	� �� ��	 �	��	� !	���	� 02m1 �� 12m0 ��� ���	 m"
 
�� 
 ��	��

�� v ���� �	��� ���� 
� ��� ����	� �� ��	 �	��	� !	���	� 02m+11 �� 12m+10 ��� ���	 m"�

#	� u �	 
 �
���� �� ω �� �	���� n ≥ Nk� ��	�	 �� 
� a �� ��
� u = ω[a, a + n − 1]�

 �� 	
�� 0 ≤ i ≤ n − 1 ��	�	 �� ��	 j �� ��
� ω[a + i] �
� Cj 
� 
 ��	��� $� ��	 �
����

ω[a, a + n + k − 2] �� �	���� n + k − 1
 �	 ���� %��� 	��������� ����� Cj �� 
 ��	�� �� ��	

����� ω[a + i] ��� 	
�� 0 ≤ i ≤ n − 1� #	� p = πω[a, a + n + k − 1] �	 
 ����	����
����

�� πω �� �	���� n + k� ��	 �
���� ω[a, a + n + k − 2] �� �	���� n + k − 1 �� ��	 ���� �� p



�� �
� u 
� 
 ��	���

&&



��� ���� j ∈ {0, 1, . . . , k0 + k1 − 1} ��	
�

γj = { i | 0 ≤ i ≤ n − 1 �
� Cj �� � 
��	� �� ω[a + i] } .

�� |γ0|+ |γ1|+ · · ·+ |γk0+k1−1| = n �
� γi ∩ γj = ∅ ��� i 
= j� ��� ���� j ∈ {0, 1, . . . , k0 +

k1 − 1} ��	
�

Sj =

j
∑

i=0

|γi|

�
� ��� S−1 = 0� ��
�� |u| ≥ Nk� ���� γj �� 
�� ��
��� �� |γj| ≥ 1 ��� ���� j� �� ��
 ���

d(u) = d(ω)[2a, 2a + 2n− 1]� �
� ��� p′ �� ��� ���
���������
 p′ = πd(ω)[2a, 2a + 2n− 1]�

���
� ����� 5.3.1 �
� ��� ���� �� ���� �� ��� γj ���� �� ��
 �������
� ��� ������ �� p′

����� �
 ��� ������ �� Lk(p)� ��� k ���� ����������
 �� p�

����������� 	
�
� ��� ω� u� p� ��� p′ �� �	 ��
��� 

� ���� 0 ≤ i ≤ n− 1� ����� �	 � j

	
 ω[a + i] ��	 Cj �	 � ������

��� �� pi < pi+1 ���� p′2i = Lk(p)i + Sj−1 ��� p′2i+1 = Lk(p)i + Sj

��� �� pi > pi+1 ���� p′2i = Lk(p)i + Sj ��� p′2i+1 = Lk(p)i + Sj−1

����
 ��� 0 ≤ i ≤ n − 1 �
� ��

��� ���� Cj �� � 
��	� �� ω[a + i] ��� ���� 0 ≤ j ≤
k0 + k1 − 1�

��� ��

��� pi < pi+1� �
� �� ωa+i = ui = 0�

��� p′2i� ����� ��� Lk(p)i − 1 ��
� h ∈ {0, 1, . . . , n − 1} �� ���� pi > ph� �
� ����

Lk(p)i − 1 ��
� h �� ���� p′2i > p′2h� ��!����� ����� ��� n − Lk(p)i ��
� h �� ����

p′2i < p′2h� "� ����� 5.3.1 �� m < j �
� h ∈ γm ���
 p′2i > p′2h+1� �
� �� m ≥ j �
�

h ∈ γm ���
 p′2i < p′2h+1� #��� ����� ��� Sj−1 ��
� h �� ���� p′2i > p′2h+1� �
� ��!�����

����� ��� n−Sj−1 ��
� h �� ���� p′2i < p′2h+1� #�������� ����� ��� ������� Lk(p)i−1+Sj−1

��
� h �� ���� p′2i > p′h� ��

p′2i = Lk(p)i − 1 + Sj−1 + 1 = Lk(p)i + Sj−1.

��� p′2i+1� ����� ��� Lk(p)i − 1 ��
� h �� ���� pi > ph� �
� ���� Lk(p)i − 1 ��
�

h �� ���� p′2i > p′2h �
� p′2i+1 > p′2h+1� ��!����� ����� ��� n − Lk(p)i ��
� h �� ����

p′2i+1 < p′2h+1� "� ����� 5.3.1 �� m ≤ j �
� h ∈ γm ���
 p′2i+1 > p′2h� �
� �� m > j �
�

h ∈ γm ���
 p′2i+1 < p′2h� #��� ����� ��� Sj ��
� h �� ���� p′2i+1 > p′2h� �
� ��!�����

����� ��� n− Sj ��
� h �� ���� p′2i+1 < p′2h� #�������� ����� ��� ������� Lk(p)i − 1 + Sj

��
� h �� ���� p′2i > p′h� ��

p′2i+1 = Lk(p)i − 1 + Sj + 1 = Lk(p)i + Sj.

$%



��� ������� pi > pi+1� �	
 �� ωa+i = ui = 1�

��
 p′2i� ���
� �
� Lk(p)i − 1 ��	� h �� ���� pi > ph� �	
 ���� Lk(p)i − 1 ��	� h ��

���� p′2i > p′2h� �������� ���
� �
� n − Lk(p)i ��	� h �� ���� p′2i < p′2h� �� ����� 5.3.1

�� m ≤ j �	
 h ∈ γm ���	 p′2i > p′2h+1� �	
 �� m > j �	
 h ∈ γm ���	 p′2i < p′2h+1� ����

���
� �
� Sj ��	� h �� ���� p′2i > p′2h+1� �	
 �������� ���
� �
� n − Sj ��	� h �� ����

p′2i < p′2h+1� ���
���
� ���
� �
� ������� Lk(p)i − 1 + Sj ��	� h �� ���� p′2i > p′h� ��

p′2i = Lk(p)i − 1 + Sj + 1 = Lk(p)i + Sj.

��
 p′2i+1� ���
� �
� Lk(p)i − 1 ��	� h �� ���� pi > ph� �	
 ���� Lk(p)i − 1 ��	�

h �� ���� p′2i > p′2h �	
 p′2i+1 > p′2h+1� �������� ���
� �
� n − Lk(p)i ��	� h �� ����

p′2i+1 < p′2h+1� �� ����� 5.3.1 �� m < j �	
 h ∈ γm ���	 p′2i+1 > p′2h� �	
 �� m ≥ j

�	
 h ∈ γm ���	 p′2i+1 < p′2h� ���� ���
� �
� Sj−1 ��	� h �� ���� p′2i+1 > p′2h� �	


�������� ���
� �
� n − Sj−1 ��	� h �� ���� p′2i+1 < p′2h� ���
���
� ���
� �
� �������

Lk(p)i − 1 + Sj−1 ��	� h �� ���� p′2i > p′h� ��

p′2i+1 = Lk(p)i − 1 + Sj−1 + 1 = Lk(p)i + Sj−1.

��� �������	� ��
����
��� ���� ���� 	��� �
���
���� ���� ������ �
�� �
��������	 5.3.2�

��� �
�� ��
����
� �5.3.3 ��!�� �	 ������� �� ���	 
����	�� ��"��
�������	� �� πω ����

���
 �� ��� ���� ��"��
�������	 �� πd(ω)� ��� 	��� ��
����
� �5.3.4 ����� ���	 ���

��"��
�������	� �� πω ���� 
��	����� ���
 �� 
����	�� ��"��
�������	� �� πd(ω)�

��������	 
���� ��� ω �� �� ���	�� ��
��� 
� πω[a, a+n+k−1] �	� πω[b, b+n+k−1]�

a 
= b� ��� ������������
	� 
� πω ����� πω[a, a + n − 1] = πω[b, b + n − 1] �	� �
� ����

0 ≤ i ≤ n− 1� ����� �� �
�� j �
 ���� �
�� ω[a+ i] �	� ω[b+ i] ���� Cj �� � ������ ���	

πd(ω)[2a, 2a + 2n − 1] = πd(ω)[2b, 2b + 2n − 1]�


���� ��� p = πω[a, a + n + k − 1] �	
 q = πω[b, b + n + k − 1]� a 
= b� ���� p �	
 q �� �	

��� ����������� ��
 ���� 0 ≤ i ≤ n− 1� Lk(p)i = Lk(q)i �	
 ω[a + i] �	
 ω[b + i] ��!� Cj

�� � �
��� ��
 ���� j� �� p′2i = q′2i �	
 p′2i+1 = q′2i+1 "� �
��������	 5.3.2� �	
 p′ = q′�

��������	 
���� ��� ω �� �� ���	�� ��
��� 
� p = πω[a, a + n + k − 1] �	� q = πω[a, a +

n + k − 1] ��� ������������
	� 
� πω ����� 
	� 
� ��� �
��
��	� �
	����
	� �� ����

��� ω[a, a + n − 1] 
= ω[b, b + n − 1]

��� Lk(p) 
= Lk(q)

#$



���� p′ 
= q′�

����� ��� ����� ω[a, a + n− 1] 
= ω[b, b + n− 1]� ���� ���	� �
 �� 0 ≤ i ≤ n− 1 
� �����


������ ��

 �� ����	������ ωa+i = 0 ��� ωb+i = 1� ���
 d(ω)[2a + 2i, 2a + 2i + 1] = 00

��� d(ω)[2b + 2i, 2b + 2i + 1] = 11 
� p′2i < p′2i+1 ��� q′2i > q′2i+1� ��� p′ 
= q′�

��� ����� Lk(p) 
= Lk(q)� ���� ���	� �	� 0 ≤ i, j ≤ n − 1� i 
= j� 
� ����� 
������

��

 �� ����	������ Lk(p)i < Lk(p)j ��� Lk(q)i > Lk(q)j� 
� ω[a + i] < ω[a + j] ���

ω[b + i] > ω[b + j]� ���
 d(ω)[2a + 2i] < d(ω)[2a + 2j] ��� d(ω)[2b + 2i] > d(ω)[2b + 2j]


� p′2i < p′2j ��� q′2i > q′2j� ��� p′ 
= q′�

��� � 
����	�������� p = πω[a, a + n + k − 1]� ��� ��� p′ = πd(ω)[2a, 2a + 2n − 1]�

��� ��	�
 �� p′ ��� �� ������ �
��� ��� ������ ����� �� �	���
����� 5.3.2� ��� q =

πω[b, b +n+ k− 1]� b 
= a� �� � 
����	�������� �� πω ��� ��� q′ = πd(ω)[2b, 2b+ 2n− 1] �


�� �	���
����� 5.3.2� ��� �����
��� ����� 
��

 ���� �� p = q 
� ���
 p′ = q′� ��� ���

�����	
� �� ���
 �
 ��� ����

�	��� �	��� ��� �� ������ ��	� �
 �
��� ��� ���� �� p′ �� �����

� ��� �	�� ��� 
�� �� 
����	��������
 �� πω �� ��� 
�� �� 
����	��������
 �� πd(ω)� ���

���
 ��� 
��� �� 
���!������ �� �	���
����� 5.3.2�

	
��� �
�
� �� p = q� ���� p′ = q′�

����� �����
� ���� p = q� �� pi = qi ��� ���
 Lk(p)i = Lk(q)i ��	 ���� 0 ≤ i ≤ n − 1�

����� p = q� p ��� q ���� ��� 
��� ��	�� 
� ω[a, a + n + k − 1] = ω[b, b + n + k − 1] ���

��	 ���� 0 ≤ i ≤ n− 1 �� ω[a + i] ��
 Cj �
 � �	���� ��	 
��� j� ���� ω[b + i] ��
 Cj �
 �

�	��� �
 
���� ���� �� �	���
����� 5.3.2 �� 
����� �� ����	 ���� ��	 ���� 0 ≤ i ≤ 2n − 1


� ���� p′i = q′i� ��� ���
 p′ = q′�

��������� �
�
� 	�� ω 
� �� 
����
 �
���� �� πω[a, a + n + k − 1] = πω[b, b + n + k − 1]

��� ���� a 
= b� ���� πd(ω)[2a, 2a + 2n − 1] = πd(ω)[2b, 2b + 2n − 1]�

���
 ���	� �
 � 
���!������ �������� �	�� ��� 
�� �� 
����	��������
 �� πω �� ���


�� �� 
����	��������
 �� πd(ω)� ��� p = πω[a, a + n + k − 1]� ��� ����� δ(p) = p′ =

πd(ω)[2a, 2a + 2n − 1] �
��� ��� ��	���� �� �	���
����� 5.3.2� ���
 
� ���� ��� ���

δ : Permω(n + k) �→ Permd(ω)(2n)

����� ����	
�� δ(p) 
��� � �����

"
 �� ������� 5.2.2� ����� � 
����	�������� p 
� ��� �	���� δ(p) �� �
��� � ������ ���

����� �	����� �� ������� 5.2.2 �
�� �	���	���
 �� ��� ����!#�	
� ��	���
�� ������ ���

�������	 ��
�	���� �� ����� 5.2.2� $� ��� ����� 	��	�
������ ��� �������	 �� δ� ���

%&



���������� �� �	� 
���
��� ��� d ��

 �� �����
���
 ��
 �	� ��	����� 
�������
 �� �����

5.3.1 ��
 ����������� 5.3.2 ��

 �� ���
�

�� ��

 ����� ��������� �	� ���
� �� ����� �� �����
�� �� �	�� �����
� �� ��

 ���

� �������������� p �� πT ��
 ��
 δ(p)� �	�� �� ��
��
��� δ(p) �� ��� ���������
 �� �	�

Cj �
������ �� �	� ���� �� �	� �	�������� ���
 �	��� ��

 ��  �� �	��� �
�����! ����
�

C0 = 00! C1 = 01! C2 = 10! C3 = 11! ���	 k = 2�

��� u = T [9, 15] = 0010110 �	��	 �� � ������ �� 
����	 "! �� ��

 �����
�� �	�

��������������

p = πT [9, 17] = (2 4 8 5 9 7 3 6 1)

�� 
����	 #� �	� ���� �� p �� T [9, 16] = 00101101! ��
 L2(p) = πT [9, 17] = (1 3 6 4 7 5 2)�

$��� �	� ���� �� p �� ��� γ0 = {0}! γ1 = {1, 3, 6}! γ2 = {2, 5}! ��
 γ3 = {4}� �	��

S0 = 1! S1 = 4! S2 = 6! ��
 S3 = 7� ��� p′ = δ(p) = πT [18, 31]! �� �� ����������� 5.2.3

p′ = (1 2 4 7 12 10 5 8 14 13 11 9 3 6).

�	� ���
� �� ��

 ������ ��

 	��� % ��
����� �� �	�� �����
� �	��� ��

 �� ��

�

������
 ��
��� �� �	� 
��� �� �	� ���
� 
������ �	�  Cj �
������ �� �	� ���� ��
��� ��

�	� ���
� �� 
��� �

 �	� ��
��� �� �	� �������������� L2(p)! ������� k = 2! ���� 
���� ��

���������

�� ��

 �

 � 
���
� 	���&����
 
��� '��� ������ �	� 
���� ��
�� �	��	 ���������
� ��

� ( �� u! ��
 � ����
� 	���&����
 
��� ������� �	� ��
��� �	��	 ���������
 �� 
�)�����

Cj �
������ �	��� ��

 �� S0 ���� �	���� ���	�� u �	��	 	��� C0 �� � ����� �� �	� ����

	���&����
 
��� ��

 �� �
���
 ����� �	� ������ S0� �	�� �	��� ��

 �� S1 − S0 ����

�	���� ���	�� u �	��	 	��� C1 �� � �����! �� �	� ���� 	���&����
 
��� ��

 �� �
���
 �����

S1� *������� �� �	�� ���	��� ��
 �
��� � 	���&����
 
��� ����� Sj ��� ���	 j� �	� 
���
�

	���&����
 
��� ��

 �� �
���
 ����� Sk0−1! ������� �� L2(p)i ≤ Sk0−1 �	�� ui = 0! ��
 ��

L2(p)i > Sk0−1 �	�� ui = 1� �� �	�� �����
�! �� �
��� � 	���&����
 
��� ����� S0 = 1 ��


S2 = 6! ��
 �	� 
���
� 	���&����
 
��� ����� S1 = 4! ��� $����� (�

�� ��

 �

 �� �	� ���
� �� �	� Ci �
������ �� ����� ���	 � ( �� �	� ��� ��� �� �	�

�����
 ��
���! ��
 �	�� ���������� �� ( ��� �	� ��

����� ��
���� �������� �� ( ����
 ��

����	 �	� ���� 	���&����
 
���� �	� ���� ������ ��

 �� �� �	� ��� �� �	� �	��
 ��
���!

��
 �������� �� ( ��� �	� ��

����� ���� ����
 �� ����	 �	� ���� 	���&����
 
���� �� �	��

�����
� �	��� �� ��
� ��� �
����� �� γ0! ��� $����� +�

#+
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−→
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�
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��
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���� �

	
� ��
� ������ ���� �� �� �
� ��� �� �
� ������ ������ ��� �
� C1 ������ ��� ��������

�� � ��� �
� ��������� ���� ����� �� ����
 �
� ��
� 
��� ����� ����! 	
� ��
� ������ ����

�� �� �
� ��� �� �
� �
��� ������ ��� �
� C1 ����� ��� �������� �� � ��� �
� ���������

���� ����� �� ����
 �
� ��
� 
��� ����� ����! "� �
�� �������� �� �
�� ���
��� ��� �
�

��������� Cj ������� �
��
 ����� ���
 � �� �� ��� �
� ������� ���#� �
� ������ 
��� �����

����! $� �
�� �
����� �
��� ��� � ������� %������ C0 ��� C1& ���#� �
� ������ 
��� �����

����� ��� '����� �!

	
� ������� ����� �
� ������ ���� ���������� �� ������� �
��
 ����� ���
 � �� �� �
�

#����� �� �
� �
��� ��� ���� �� ���� �
�� �
� #����� �� �
� ������ ���! '�� �
��� �������

�� ����� �� �
� ��� ��� �� �
� �
��� ������ ��� �
�� ��#� �� �
� ������ ���� �
��
 ��

� ����
� ��(������� ���� �
� ���#� �����! )��������� �� �
�� ���
��� �� ��� �
� ����� ��

'����� �!

�� � � �
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� � �

� � �
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�
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���� �
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,�� �
�� �� 
�#� �
� ��������� ����� �� '����� � �� ��� ��� 
�� δ ���� ����� �
�

����������� p! "� 
�#� L2(p)1 = 3� �� p′2 = 4 ��� p′3 = 7! '��� �
� ����� �� '����� ��

�
�� �� -�� �
� ��� ���
 � � �� �
� -��� ������ �� ��� �
� ��
� �������� �� �
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� ��� �� ��	
 	
 ���
��� ��� �����	�� ��

�	��� 	� ����� 5.3.1 ��� �����
	�	�� 5.3.2�

���
 �� 
����� p′ ���� ��� ����� �� ��� ��� ��� ��	
� ��
 ��� ����� L2(p)i 	� ��� ��
�


������ ��� ���� p′2i 	
 ��� ����� 	� ��� 
�
��� 
����� ��� p′2i+1 	
 ��� ����� 	� ��� ��	��


������ ��

L2(p)0 = 1 =⇒ p′0 = 1 p′1 = 2

L2(p)1 = 3 =⇒ p′2 = 4 p′3 = 7

L2(p)2 = 6 =⇒ p′4 = 12 p′5 = 10

���

L2(p)6 = 2 =⇒ p′12 = 3 p′13 = 6

��	
� 	
 ����	�� ���	��� �� �� ��� 
��� �
 p′ �	
��� ������

����� �����	
�� ��
	�
�	
��


��� ��� 
����������	��
 �� πd(ω) �	�� �� ��� 	�� � ����� δ �� ������� 
����������	���

��� n > 2Nk ��� a �� ������� ������
� ���� n ��� a 
�� �� �	���� ���� �� ���� ���

��� ��� 
����������	�� πd(ω)[a, a + n − 1]� ����� ��	
� ������� ������
 b ��� m 
� ����

��� �� � 
�
�
 ����!

"� πd(ω)[a, a + n] = πd(ω)[2b, 2b + 2m]� ���� 
����	� ��
	�	�� �	�� ��� ��� ���

#� πd(ω)[a, a + n] = πd(ω)[2b, 2b + 2m − 1]� ���� 
����	� ��
	�	�� �	�� ���� ��� ���

$� πd(ω)[a, a + n] = πd(ω)[2b + 1, 2b + 2m]� ��� 
����	� ��
	�	�� �	�� ���� ��� ���

�� πd(ω)[a, a + n] = πd(ω)[2b + 1, 2b + 2m − 1]� ��� 
����	� ��
	�	�� �	�� ��� ��� ���

%��
	��� ��� 
����������	��
 πd(ω)[2c, 2c + n] ��� πd(ω)[2d + 1, 2d + n + 1]� �	��

n > 2Nk� ��� 
����������	�� πd(ω)[2c, 2c + n] �	�� ���� ���� d(ω)[2c, 2c + n − 1]� ���

πd(ω)[2d + 1, 2d + n + 1] �	�� ���� ���� d(ω)[2d + 1, 2d + n]� �	�
� ��� ��� �� �� ���
�

��
���
 	
 �� ���
� 2Nk� ���
� ��
���
 ��
� 
����	� ���� & ��� "� 
� d(ω)[2c, 2c + n − 1] 
=
d(ω)[2d + 1, 2d + n]� ��� ���
 πd(ω)[2c, 2c + n] 
= πd(ω)[2d + 1, 2d + n + 1] ��
��
� ���� ��

��� ���� ��� 
��� ����� ���
 �� 
�� ����' �� ��� 
�� Permd(ω)(n) 	��� ��� 
��

�
 ��


����������	��
� ������ ��� 
����������	��
 ���� 
���� �� �� ���� ��
	�	�� �� �� ���

��
	�	��� �� 
�� ���� Permd(ω)
ev (n) 	
 ��� 
�� �� 
����������	��
 p �� ��� �� n 
� ����

p = πd(ω)[2b, 2b + n− 1] ��� 
��� b� ��� ���� Perm
d(ω)
odd (n) 	
 ��� 
�� �� 
����������	��
 p

�� ��� �� n 
� ���� p = πd(ω)[2b + 1, 2b + n] ��� 
��� b� ���


Permd(ω)(n) = Permd(ω)
ev (n) ∪ Perm

d(ω)
odd (n),

(�



�����

Permd(ω)
ev (n) ∩ Perm

d(ω)
odd (n) = ∅.

���� �	� n ≥ Nk
 Permd(ω)
ev (2n) �� ��� ��� 	� 
�� ���������
��	�� 	� ������ 2n ��
�����


� 
� ���� �	����	�� �	 �	� πd(ω)[2a, 2a + 2n − 1]
 �� �
�� ��� ���������
��	� p =

πω[a, a + n + k − 1]
 
�� δ(p) = p′ = πd(ω)[2a, 2a + 2n − 1]� ���� ��� �
�

δ : Permω(n + k) �→ Permd(ω)
ev (2n)

�� 
 ���������� �
��

�	� p = πω[a, a + n + k − 1]
 �� �
� ���� ����� ����� 
�����	�
� �
�� �� �		���� 
�

��� ����
 �����
 
�� ������ ���������	�� 	� δ(p) = p′� ����� �
�� 
��

δL : Permω(n + k) �→ Permd(ω)
ev (2n − 1)

δR : Permω(n + k) �→ Perm
d(ω)
odd (2n − 1)

δM : Permω(n + k) �→ Perm
d(ω)
odd (2n − 2)


�� 
�� ������ ��

δL(p) = L(δ(p)) = L(p′)

δR(p) = R(δ(p)) = R(p′)

δM(p) = M(δ(p)) = M(p′)

�� �
� �� ��
���� ������� ��
� ����� ����� �
�� 
�� ����������� �	 ��� 
� ��
���� 	�

����
 �	������ ��� �
� δL
 
�� ��� πd(ω)[2b, 2b + 2n − 2] �� 
 ���������
��	� 	� πd(ω) ��

Permd(ω)
ev (2n− 1)� ���� �	� ��� ���������
��	� p = πω[b, b + n + k − 1]
 δL(p) = L(p′) =

πd(ω)[2b, 2b+2n− 2] �	 δL �� �����������  �����
� 
������� ���� ��	� ��
� δR 
�� δM 
��


��	 �����������

����� ����� ��� n ≥ Nk�

τd(ω)(2n − 1) ≤ 2(τω(n + k))

τd(ω)(2n) ≤ τω(n + k) + τω(n + k + 1)

	
��� !�� n ≥ Nk� "� �
��#

∣

∣

∣
Permd(ω)

ev (2n − 1)
∣

∣

∣
≤ |Permω(n + k)|

∣

∣

∣
Perm

d(ω)
odd (2n − 1)

∣

∣

∣
≤ |Permω(n + k)|

∣

∣

∣
Permd(ω)

ev (2n)
∣

∣

∣
≤ |Permω(n + k)|

∣

∣

∣
Perm

d(ω)
odd (2n)

∣

∣

∣
≤ |Permω(n + k + 1)|

$%



����� ��� �	
� δ� δL� δR� 	�� δM 	
� 	�� ��
�������� ���� �� �	�� ��� ��������� �����	�������

τd(ω)(2n − 1) =
∣

∣

∣
Permd(ω)(2n − 1)

∣

∣

∣
=

∣

∣

∣
Permd(ω)

ev (2n − 1)
∣

∣

∣
+

∣

∣

∣
Perm

d(ω)
odd (2n − 1)

∣

∣

∣

≤ |Permω(n + k)| + |Permω(n + k)| = 2(τω(n + k))

τd(ω)(2n) =
∣

∣

∣
Permd(ω)(2n)

∣

∣

∣
=

∣

∣

∣
Permd(ω)

ev (2n)
∣

∣

∣
+

∣

∣

∣
Perm

d(ω)
odd (2n)

∣

∣

∣

≤ |Permω(n + k)| + |Permω(n + k + 1)| = τω(n + k) + τω(n + k + 1)

��� �	
� δ� δL� δR� 	�� δM �	� ��� ��� 	
� ��� ������	
���� ��������� �	
�� �� ���

����� �������
 ��� ��������� ��	�
��� ��
 ���� ��	�
�� �� ���� ��� ��� �������
�� ��
�

T � �� ��� �� !������ 5.2� 	�� ���
�
���	����� �� πT � ��� �� ���� 
�
���	���� 	�����	���

���� T � ���
� ���� �� " ��	���� �� Cj ��
�� ��
 ��� �������
�� ��
� #�	���� C0 = 00�

C1 = 01� C2 = 10� 	�� C3 = 11$� 	�� 	�� �	���
 �� ������ n ≥ 9 ���� ����	�� �	�� �� �����

" ��	����� ��� ��������� ��	�
�� ���� ��� ���
�
���	����� �� ������ %� ���� n = 7 	��

k = 2� �� &��
 ��� ��	�
�� ���
�
���	����� ���
�� '�	�
��� ��&� ���� #	� �� (�
���	
�

5.3.3$ �	� �� ����� ��
 ���
�
���	����� �� πT �� ������ 2r + 1 ��
 	�� r ≥ 3�

p = πT [0, 8] = (4 9 7 2 6 1 3 8 5)

q = πT [12, 20] = (5 9 7 2 6 1 3 8 4).

!� p 
= q 	�� ���� �� ����� ���
�
���	����� �	�� ��
� T [0, 7] = T [12, 19] = 01101001�

)�� p′ = δ(p) = πd(T )[0, 13] 	�� q′ = δ(q) = πd(T )[24, 37]� ���� �� *
�
������� 5.3.2 ��

����

p′ = (5 8 14 13 12 10 3 6 11 9 1 2 4 7) = q′.

!� δ(p) = δ(q) ����� ��	�� �� δL(p) = δL(q)� δR(p) = δR(q)� 	�� δM(p) = δM(q)� ����

����� " �	
� 	
� ��� ��������� �� ����
	� 	�� ��� �	���� �� )���	 5.3.7 	
� ���� 	� �

�


������ +� δ �� 	� ��������� �	
 �� ��
���� δR 	�� δL 	
� ���� ���������� 	� ����� �� ���

��������� ����	�

����� ����� ��� ��� ����	�
	� ��	
����� ��������� ���
 ω� ��� p� q� p′� ��
 q′ �� ��

������ ����

��� p′ = q′ 	
 ��
 ���� 	
 R(p′) = R(q′)�

��� p′ = q′ 	
 ��
 ���� 	
 L(p′) = L(q′)�

%,



����� ��� p = πω[a, a + n + k − 1]� q = πω[b, b + n + k − 1]� p′ = δ(p)� ��� q′ = δ(q)�

	
� �
�
 
� �
��� ����� �� �

��� �� ����� �
�� �� p′ = q′ �
�� ���
 
� R(p′) = R(q′) ���

L(p′) = L(q′)� ���
 ������ �
�� n > Nk�

���
 �
�� ����� u = ω[a, a+n−1] ��� v = ω[b, b+n−1]� d(u) = d(ω)[2a, 2a+2n−1]

��� d(v) = d(ω)[2b, 2b + 2n − 1] �
 �
� ���
 0 ≤ i ≤ n − 1 �� 
���

d(u)2i = d(u)2i+1 = ui ��� d(v)2i = d(v)2i+1 = vi

�� ���� ��� �
� �
��
���� �
����
�

Uj = { i | 0 ≤ i ≤ n − 1 ��� ω[a + i] 
�� Cj �� � ������ }

Vj = { i | 0 ≤ i ≤ n − 1 ��� ω[b + i] 
�� Cj �� � ������ }

��� ��� �
 �
� �����
 
� u ��� v �� ��
� |Uj| ≥ 1 ��� |Vj| ≥ 1 �
� ���
 j�

��� ����
�� p′ 
= q′� ��� ������ R(p′) = R(q′)� �� ���� ���� �
� �
��
���� �����

��
�� R(p′) ��� R(q′) ���
�� �� ��
�����

�	�
� �
�
� �� R(p′) = R(q′) ���� d(u) = d(v)�

����� ����
�� R(p′) = R(q′)� 	
� ���
 0 ≤ i ≤ 2n − 3� R(p′)i < R(p′)i+1 �� ��� 
���

�� R(q′)i < R(q′)i+1 ��� �
�� d(u)i+1 = d(v)i+1� ����� d(u)0 = d(u)1 ��� d(v)0 = d(v)1�

�� ��� d(u)0 = d(u)1 = d(v)1 = d(v)0�  � � ������� ���
�
� �� ��� d(u)2n−1 = d(u)2n−2 =

d(v)2n−2 = d(v)2n−1� !
�� d(u) = d(v) ��� u = v�

	
� ���
 ���� 
� ���� ������� i 
= j �
��� 0 ≤ i, j ≤ 2n − 2�

R(p′)i < R(p′)j ⇐⇒ R(q′)i < R(q′)j

��� �
��

p′i+1 < p′j+1 ⇐⇒ q′i+1 < q′j+1.

����� p′ 
= q′ �
��� ���� �� �
�� 1 ≤ i ≤ 2n − 1 �
� ���

�� �
�� 
� �����������

p′0 < p′i ��� q′0 > q′i.

!
��� �� �� α ∈ {0, 1} �
 d(u)1 = d(v)1 = α� ��� �
 d(u)0 = d(v)0 = α�  � d(u)i =

d(v)i 
= α �� 
��� p′0 < p′i �� ��� 
��� �� q′0 < q′i� �
��
 �
��� �� � �
���������
�� �


d(u)i = d(v)i = α�

���� �
�� ����
�� 1 ≤ i ≤ 2n − 2 ��� ������ �
�� p′0 < p′i ��� q′0 > q′i�  � d(u)i+1 =

d(v)i+1 
= α �� 
��� d(u)[0, 1] = αα ��� d(u)[i, i+1] = αβ� �
 p′0 < p′i �� ��� 
��� �� q′0 < q′i�

"#



����� �� � ���	
����	���� �� d(u)i+1 = d(v)i+1 = α
 ���� d(u)[i, i+1] = d(v)[i, i+1] = αα

���

p′0 < p′i =⇒ p′1 < p′i+1 =⇒ R(p′)0 < R(p′)i

q′0 > q′i =⇒ q′1 > q′i+1 =⇒ R(q′)0 > R(q′)i

�� ����� 5.1.1 ����� ���	
����	� 	�� ������	���
 ���
���
� R(p′) 
= R(q′)


���� ���� ������� i = 2n−1 �� 	�� ���� i �� 	��	 p′0 < p′i ��� q′0 > q′i
 �� �� ����� ��

���� d(u)[0, 1] = d(v)[0, 1] = αα� �� d(u)2n−1 = d(v)2n−1 = α ��� d(u)[2n − 2, 2n − 1] =

d(v)[2n − 2, 2n − 1] = αα
 ���� p′0 < p′2n−1 ��� q′0 > q′2n−1 �����

p′2n−1 − 1 = R(p′)2n−2 = R(q′)2n−2 = q′2n−1.

��
 ���� 1 ≤ j ≤ 2n − 2 �� ���� 	�� ���������

p′0 < p′j ⇐⇒ q′0 < q′j

R(p′)j−1 = p′j ⇐⇒ R(q′)j−1 = q′j,

��� 	��� p′j = q′j ��
 ���� 1 ≤ j ≤ 2n − 2� ����� R(p′)j = R(q′)j ��� p′0 > p′j �������

R(p′)j−1 = p′j
 �� ���� p′0 
= q′0 ��� p′2n−1 
= q′2n−1
 ����� p′2n−1 = q′2n−1 + 1� �	 ���	 ��

p′0 = p′2n−1 − 1 ��� q′0 = q′2n−1 + 1.

��	 1 ≤ x ≤ 2n �� 	��	 p′0 = q′2n−1 = x ��� q′0 = p′2n−1 = x + 1
 ���� ��	��
 p′0 < p′2n−2

�
 p′0 > p′2n−2


���� ������ ������� p′0 < p′2n−2 	��� p′1 < p′2n−1 ��� p0 < pn−1
 �������� q′0 < q′2n−2�

q′1 < q′2n−1� ��� q0 < qn−1
 ����

q′1 < q′2n−1 < q′0 < q′2n−2

��� �� ����� 5.3.1 �� ���� α = 1 ��� 	��
� �� � j �� 	��	 ��	� ω[b] ��� ω[b + n − 1]

���� Cj �� � �
���
 ����� ��	� ω[b] ��� ω[b + n − 1] ���� Cj �� � �
��� ��� q0 < qn−1�

	��
� �� ���� m ≥ 1 �� 	��	

q′0 = x + 1 q′1 = x − m q′2n−2 = x + 1 + m q′2n−1 = x.

��
 	��� 	� ����
 q0 ���	 �� ���� 	��� ��� �	��
 ����	� �� v ����� ���� Cj �� � �
���� ���

qn−1 ���	 �� �
��	�
 	��� ��� �	��
 ����	� �� v ����� ���� Cj �� � �
���


���� Cj �� � �
��� �� ω[a]� ����� u = v
 ����� ω[a + n − 1] ���� ������ ��	� �  ���

p0 < pn−1� 	�� �
��
 �� p′0� p′1� p′2n−2� ��� p′2n−2 ���	 �� �� ������� �� ����� 5.3.1

p′1 < p′0 < p′2n−1 < p′2n−2.

!"



�� �� ���� ω[a] ��� Cj �� � 	
��� �
� ��
 i > j ω[a + n − 1] ��� Ci �� � 	
���� ��

i > j + 1� ���
� ���� �� ���� l �� ���� ω[a + l] �
� ω[b + l] ���� ���� Cj+1 �� � 	
���

����� �� ������� ��
���
�� �
 u �
� v� ���� �� ����� ���� pl < pn−1 �
� ql > qn−1� ��

R(p′)2l−1 < R(p′)2n−3 �
� R(q′)2l−1 > R(q′)2n−3 ����� ����� �� � ��
�
�������
� ���
���
�

i = j + 1�

��
�� p′i = q′i ��
 ���� 1 ≤ i ≤ 2n − 2� �� �
��

p′0 = x p′1 = x − m p′2n−2 = x + 1 + m p′2n−1 = x + 1.

��
 ���� �� ����
 p0 ���� �� �
����
 ���
 ��� ����
 ������ �� u ����� ���� Cj �� � 	
����

�
� pn−1 ���� �� ���� ���
 ��� ����
 ������ �� u ����� ���� Cj+1 �� � 	
���� ����� �


��� ��
��
�����
 �� p′ �
� q′ �
��  
�	������
 5.3.2� ���
� ���� �� m ������ �� u ����

���� Cj �� � 	
���� �
� m ������ �� u ����� ���� Cj+1 �� � 	
���� ��
�� ��� ��
� Cj+1

����
� �
 ��� ��
� u� ���
� �� �� ����� �
� l �� ���� ω[a + l] ��� Cj+1 �� � 	
��� �����

�� ������� ��
���
�� �
 u� ���� ���� ω[a + l] �
� ω[a + n − 1] ���� Cj+1 �� � 	
����

ω[a + n − 1] < ω[a + l]� �� p′2(a+l)+1 ≥ x + 2 �
� m ���� �� �
����
 ���
 !�

��
�� m > 1� ���
� �� ���� i �� ���� qn−1 = qi + 1 �
� ���� ω[b+ i] ��� Cj �� � 	
���

�
� q′2i+1 = x − 1� �
 � ������
 ������
� ���
� �� ���� î �� ���� p0 = pî + 1 �
� ����

ω[a + î] ��� Cj �� � 	
��� �
� p′
2̂i

= x− 1� ���� q′2i+1 = x− 1 = p′
2̂i
� �
� �� p′2i+1 
= q′2i+1

�� ���� �� p′
2̂i

= q′

2̂i
����� ����� � ��
�
�������
�

���� ������� ��		��� p′0 > p′2n−2 ���
 p′1 > p′2n−1 �
� p0 > pn−1� "������� q′0 > q′2n−2�

q′1 > q′2n−1� �
� q0 > qn−1� ����

p′2n−2 < p′0 < p′2n−1 < p′1.

�
� �� "���� 5.3.1 �� �
�� α = 0 �
� ���
� �� � j �� ���� ���� ω[a] �
� ω[a + n − 1]

���� Cj �� � 	
���� ��
�� ���� ω[a] �
� ω[a + n − 1] ���� Cj �� � 	
��� �
� p0 > pn−1�

���
� �� ���� m ≥ 1 �� ����

p′0 = x p′1 = x + 1 + m p′2n−2 = x − m p′2n−1 = x + 1.

��
 ���� �� ����
 p0 ���� �� �
����
 ���
 ��� ����
 ������ �� u ����� ���� Cj �� � 	
����

�
� pn−1 ���� �� ���� ���
 ��� ����
 ������ �� u ����� ���� Cj �� � 	
����

���� Cj �� � 	
��� �� ω[b]� ��
�� u = v� ��
�� ω[b + n − 1] ���� ����
� ���� � # �
�

q0 > qn−1� ��� �
��
 �� q′0� q′1� q′2n−2� �
� q′2n−2 ���� �� �� ������� �� "���� 5.3.1

q′2n−2 < q′2n−1 < q′0 < q′1.

�� �� ���� ω[b] ��� Cj �� � 	
��� �
� ��
 i < j ω[b + n − 1] ��� Ci �� � 	
���� ��

i < j − 1� ���
� ���� �� ���� l �� ���� ω[a + l] �
� ω[b + l] ���� ���� Cj−1 �� � 	
���

$$



����� �� ����		
 ��������
 �� u ��
 v� ���� �� ���	
 ���� pl < pn−1 ��
 ql > qn−1� ��

R(p′)2l−1 < R(p′)2n−3 ��
 R(q′)2l−1 > R(q′)2n−3 ����� ���	
 �� � ������
������� ���������

i = j − 1�

����� p′i = q′i ��� ���� 1 ≤ i ≤ 2n − 2� �� ����

q′0 = x + 1 q′1 = x + 1 + m q′2n−2 = x − m q′2n−1 = x.

��� ���� �� ����� q0 ���� �� 	��� ���� �		 ����� ������ �� v ����� ���� Cj �� � ������

��
 qn−1 ���� �� ������� ���� �		 ����� ������ �� v ����� ���� Cj−1 �� � ������ ����


�� ��� ������������ �� p′ ��
 q′ ���� ����������� 5.3.2� ����� ��		 �� m ������ �� v ����

���� Cj �� � ������ ��
 m ������ �� v ����� ���� Cj−1 �� � ������ ����� ��� ���
 Cj−1

������ �� ��� ���
 v� ����� �� �� 	���� ��� l �� ���� ω[b + l] ��� Cj−1 �� � ����� �����

�� ����		
 ��������
 �� v� ���� ���� ω[b + l] ��
 ω[b + n − 1] ���� Cj−1 �� � ������

ω[b + n − 1] > ω[b + l]� �� q′2(a+l) ≤ x − 1 ��
 m ���� �� ������� ����  �

����� m > 1� ����� �� ���� i �� ���� pi = pn−1 + 1 ��
 ���� ω[a + i] ��� Cj �� �

����� ��
 p′2i+1 = x + 2� !� � ����	�� �������� ����� �� ���� î �� ���� qî = q0 + 1 ��
 ����

ω[b + î] ��� Cj �� � ����� ��
 q′
2̂i

= x + 2� ���� p′2i+1 = x + 2 = q′
2̂i
� ��
 �� p′2i 
= q′2i ��

��		 �� p′
2̂i+1


= q′
2̂i+1

����� ����� � ������
�������

!� ������ ���� (a.2.i) �� (a.2.ii) �� ��
 � ������
������� �� R(p′) 
= R(q′)� ���������

p′ = q′ �� ��
 ��	
 �� R(p′) = R(q′)�

��� ������� p′ 
= q′� ��
 ������ L(p′) = L(q′)� ��� ���� ���� �� ���	 ������� i 
= j

����� 0 ≤ i, j ≤ 2n − 2�

L(p′)i < L(p′)j ⇐⇒ L(q′)i < L(q′)j

��
 ����

p′i < p′j ⇐⇒ q′i < q′j.

!� �������	�� ��� ���� ���� �� ���	 ������� i 
= j ����� 0 ≤ i, j ≤ n − 1�

p′2i < p′2j ⇐⇒ q′2i < q′2j.

�� �� ���

p′2i < p′2j =⇒ pi < pj =⇒ Lk(p)i < Lk(p)j

q′2i < q′2j =⇒ qi < qj =⇒ Lk(q)i < Lk(q)j

��
 ���� Lk(p) = Lk(q)�

"� ��		 ���
 ��� ��		����� �	��� ����� L(p′) ��
 L(q′) ������ �� ������
�

����� 	
�
�
 �� L(p′) = L(q′) ���� d(u) = d(v)�

 ##



����� ������� L(p′) = L(q′) ��	 ����
� d(u) 
= d(v)� ���
� Lk(p) = Lk(q) �� ����

ω[a, a + n − 2] = ω[b, b + n − 2] ��	 �� d(ω)[2a, 2a + 2n − 3] = d(ω)[2b, 2b + 2n − 3]�

���� d(ω)[2a + 2n− 2, 2a + 2n− 1] 
= d(ω)[2b + 2n− 2, 2b + 2n− 1]� ��	 �� un−1 
= vn−1�

��
��� ���� |u|0 �� ��� ��
��� �� �

�����
�� �� ��� ������ 0 �� ��� ���	 u� ������� ����

�� ����������� ��� un−1 = 0 ��	 vn−1 = 1� ��	 �� |u|0 = |v|0 + 1� �� ���� ����

p′2n−2 < p′2n−1 ��	 q′2n−2 > q′2n−1

��	 ��

p′2n−2 = L(p′)2n−2 = L(q′)2n−2 = q′2n−2 − 1.

��� ��
� 0 ≤ i ≤ n − 2� �� ui = vi = 0 ���� qn−1 > qi� ��	 �� pn−1 > pi ��
����

Lk(p) = Lk(q)� �������� �� ui = vi = 1 ���� pn−1 < pi� ��	 �� qn−1 < qi ��
����

Lk(p) = Lk(q)� ��������� ω[a + n − 1] ��� 01 �� � ��� ! ��	 ω[b + n − 1] ��� 10 �� �

��� !� �� ��� ���� ��� 0 ≤ i ≤ n − 3 "�� ���� i < n − 2 ��
���� un−1 = 0# �� ����

u[i, i + 1] = v[i, i + 1] = 01� ���
� ui = vi = 0� ��	 pn−1 > pi� ω[a + n − 1] 
�� ��� ����

00 �� � ��� !� $ ��
���� ����
��� ���� ���� ω[b + n − 1] 
�� ��� ���� 11 �� � ��� !�

���� ����� ��� �!�
��� |v|0 
��� j �� ���� qn−1 > qj� ���� Lk(p)n−1 = Lk(q)n−1 =

|v|0 + 1 = |u|0� %� &���������� 5.3.2 �� ���

p′2n−1 = Lk(p)n−1 + |u|0 = 2 |u|0 = 2 |v|0 + 2

q′2n−1 = Lk(q)n−1 + |v|0 = 2 |v|0 + 1

��! �� 0 ≤ i ≤ n− 3 �� ���� u[i, i + 1] = v[i, i + 1] = 01 ��	 �� 0 ≤ î ≤ n− 3 �� ����

u[̂i, î + 1] = v[̂i, î + 1] = 10� ���
� ω[a + i] ��	 ω[a + n − 1] ���� ���� 01 �� � ��� ! ��	

pn−1 > pi� �� ����

p′2n−2 < p′2i−1 ≤ 2 |v|0 + 1

�� ��

� 5.3.1� ���
� ω[b + î] ��	 ω[b + n − 1] ���� ���� 10 �� � ��� ! ��	 qn−1 < qi�

�� ����

q′2n−2 > q′
2̂i−1

≥ 2 |v|0 + 2

�� ��

� 5.3.1� ���������

p′2n−2 < 2 |v|0 + 1 = 2 |v|0 + 2 − 1 < q′2n−2 − 1

��	 �� ���� � 
�����	�
���� �� p′2n−2 = q′2n−2 − 1� ��������� d(u) = d(v) ��	 u = v�

���
� p′ 
= q′ ����� 
��� �� ��
� 0 ≤ i ≤ 2n − 2 ��� ������� ���� �� �����������

p′2n−1 < p′i ��	 q′2n−1 > q′i.

����� �� �� α ∈ {0, 1} �� d(u)2n−2 = d(v)2n−2 = α� �� d(u)[2n − 2, 2n − 1] = d(v)[2n −
2, 2n − 1] = αα� '� d(u)i = d(v)i 
= α �� ���� p′2n−1 < p′i �� ��	 ���� �� q′2n−1 < q′i� ���
�

()(



����� �� � 	�
����
	�
�
� �� d(u)i = d(v)i = α� �� ������ �� 
���� ���� i 
= 2n − 2�

��	���� d(u)2n−2 = d(v)2n−2 = α �� p′2n−2 < p′2n−1 
� �
� �
�� 
� q′2n−2 < q′2n−1�

���� ���� ������� ��� 1 ≤ i ≤ 2n − 2 �� ���� p′2n−1 < p′i �
� q′2n−1 > q′i�

�� d(u)i−1 = d(v)i−1 = α �� ���� d(u)[2n− 2, 2n− 1] = αα �
� d(u)[i− 1, i] = αα� ��

p′2n−1 < p′i =⇒ p′2n−2 < p′i−1

q′2n−1 > q′i =⇒ q′2n−1 > q′i−1

��
	� 	�
����
	�� ��� �������
�
 L(p′) = L(q′)� �� d(u)i−1 = d(v)i−1 
= α� ��� d(u)i−1 =

d(v)i−1 = β� ���� d(u)[i− 1, i + 1] = βαα �
� i 
� �
 ���
 
������ �� ������ ���
 ��

�

i �� �
�� ��� 2c� ��� �� �
�� 	�
�
��� ���
 α = 0 �
� ���
 α = 1�

���� ����	� ������� α = 0� ���
 �� �
�� d(u)[2n−2, 2n−1] = d(v)[2n−2, 2n−1] =

00� �
� d(u)[2c−1, 2c+1] = d(u)[2c−1, 2c+1] = 100� �� p′2n−2 < p′2n−1 �
� q′2n−2 < q′2n−1�

�
� �

	� L(p′) = L(q′) �� ���

p′2n−2 = L(p′)2n−2 = L(q′)2n−2 = q′2n−2,

�� p′2n−2 = q′2n−2�

�

	� p′2n−1 < p′2c �
� d(u)[2n − 2, 2n − 1] = 00 �� ����

p′2n−2 < p′2n−1 < p′2c < p′2c+1.

���� �� ����� 5.3.1� �� �
�� ����� ��� i < j �� ω[a + n − 1] ��� Ci �� � ����� �
�

ω[a + c] ��� Cj �� � ������ �

	� ω[b + n − 1] ���� ���

� �
��  �
� q′2n−1 > q′2c� ���

����� �� q′2c� q′2c+1� q′2n−2� �
� q′2n−2 ���� �� �� ������� �� ����� 5.3.1

q′2n−2 < q′2c < q′2n−1 < q′2c+1.

�� �� ���� ���� ω[a + n− 1] �
� ω[a + c] ���� Cj �� � ������ �� j > i + 1� ����� �
�� ��

���� l �� ���� ω[a + l] �
� ω[b + l] ��	� ���� Ci+1 �� � ����� ��
	� 
� ������� 	�
��

��



 u �
� v� ���� �� ����� ���� pl < pn−1 �
� ql > qn−1 �
� Lk(p) 
= Lk(q)� ���������

j = i + 1�

�

	� ω[a + n − 1] ��� Ci �� � ����� ��� ��	� l ∈ Ui+1 �� �
�� pn−1 < pl� �
� ��

qn−1 < ql �

	� Lk(p) = Lk(q)� �
���
��� �

	� ω[b + n − 1] ��� Ci+1 �� � ������ ��� ��	�

l ∈ Vi �� �
�� qn−1 > ql �
� �� pn−1 > pl� ���� pn−1 
� ��� �������� �� ��� �		����
	��

�� Ci �
� qn−1 
� ��� ����� �� ��� �		����
	�� �� Ci+1� �� Lk(p)n−1 = Lk(q)n−1 �
� �� ���

Lk(p)n−1 = |U0| + · · · + |Ui|
Lk(q)n−1 = |V0| + · · · + |Vi| + 1.

! "



��� �� �����	�
�	� ��� 	�� ��
� �� U0� . . .� Ui ��� ����	�� 	� 	�� ��
� �� V0� . . .� Vi�

����� u = v� ��� 	���� ����� ���� � �� � ����� 	���� �� ���� m ≥ 1 �� 	��	 10m �� �

���� �� ��	� u ��� v� ���� ��� ���� 0 ≤ h ≤ n − m − 1� 	���� �� ���� j �� ω[a + h]

��� ω[b + h] ���� Cj �� � ������ �� h ∈ Uj ��� h ∈ Vj� ��������� 	��� ����� �� 	�	��� 

���	����� ��	��� u ��� v� ������	���� � ������� ω[a + n − m − 1] ��� ω[b + n − m − 1]

��
�� ��	� 	�� ����� 10� !�� n − m ≤ h ≤ n − 1 �� ����

n − m ∈ Ui−m+1, n − m + 1 ∈ Ui−m+2, · · · n − 1 ∈ Ui

n − m ∈ Vi−m+2, n − m + 1 ∈ Vi−m+3, · · · n − 1 ∈ Vi+1.

!�� �������� �� m = 1 �� ���� n − 1 ∈ Ui ��� n − 1 ∈ Vi+1� ��

|Ui| = |Vi| + 1 |Ui+1| = |Vi+1| − 1

��� |Uj| = |Vj| ��� ��� �	��� j� ����� |Vi| ≥ 1 �� ��� |Ui| ≥ 2�

"� m = 2 �� ���� n − 2 ∈ Ui−1 ��� n − 2 ∈ Vi# n − 1 ∈ Ui ��� n − 1 ∈ Vi+1� ��

|Ui−1| = |Vi−1| + 1 |Ui| = |Vi| |Ui+1| = |Vi+1| − 1

��� |Uj| = |Vj| ��� ��� �	��� j�

���� ��� m ≥ 1�

|Ui−m+1| = |Vi−m+1| + 1 |Ui+1| = |Vi+1| − 1

��� |Uj| = |Vj| ��� ��� �	��� j� ����� |Vi−m+1| ≥ 1 �� ��� |Ui−m+1| ≥ 2� $��� ����������

�� Ci−m+1 ����� �� ���	����� �� u ���� ���� Ci �� � ����� ��� ����� n − 1 ∈ Ui �� ����

|Ui| ≥ |Ui−m+1| ≥ 2� ���� � %������	��� 5.3.2

p′2n−2 = Lk(p)n−1 + |U0| + · · · + |Ui−1| = 2(|U0| + · · · + |Ui−1|) + |Ui|
q′2n−2 = Lk(q)n−1 + |V0| + · · · + |Vi−1| + |Vi| = 2(|V0| + · · · + |Vi−1| + |Vi|) + 1

= 2(|U0| + · · · + |Ui−1| + |Ui| − 1) + 1 = 2(|U0| + · · · + |Ui−1|) + |Ui| + |Ui| − 1

≥ p′2n−2 + 2 − 1 = p′2n−2 + 1

��� �� ��� p′2n−2 < q′2n−2� ��������� �� ���� � ���	�����	���� ��� L(p′) = L(q′)�

���� ������	 ������� α = 1� ���� ��
����	 �� ������� 	� 	�� ��
����	 ���� ��

&��� (b.1.i)� ���� �� '��� d(u)[2n − 2, 2n − 1] = d(v)[2n − 2, 2n − 1] = 11� ���

d(u)[2c− 1, 2c + 1] = d(u)[2c− 1, 2c + 1] = 011� �� p′2n−2 > p′2n−1 ��� q′2n−2 > q′2n−1� ���

����� L(p′) = L(q′) �� ���

p′2n−2 − 1 = L(p′)2n−2 = L(q′)2n−2 = q′2n−2 − 1,

(�)



�� p′2n−2 = q′2n−2�

����� q′2n−1 > q′2c 	�
 d(v)[2n − 2, 2n − 1] = 11 �� �	
�

q′2c+1 < q′2c < q′2n−1 < q′2n−2

���� �� ����	 5.3.1� �� ���� ����� 	�� i < j �� ω[b + n − 1] �	� Cj 	� 	 ����� 	�


ω[b + c] �	� Ci 	� 	 ������ ����� ω[b + n − 1] 	��� ������ ���� � 	�
 p′2n−1 < p′2c� ���

��
�� �� p′2c� p
′
2c+1� p

′
2n−2� 	�
 p′2n−2 ���� �� 	� ������� �� ����	 5.3.1

p′2c+1 < p′2n−1 < p′2c < p′2n−2

�� �� �	
� ���� ω[a + n − 1] 	�
 ω[a + c] �	
� Ci 	� 	 ������ �� j > i + 1� ����� ���� ��

���� l �� ��	� ω[a + l] 	�
 ω[b + l] �	�� �	
� Ci+1 	� 	 ����� ����� �� ���	��� ����	���


�� u 	�
 v� ���� �� ����
 �	
� pl > pn−1 	�
 ql < qn−1 	�
 Lk(p) 
= Lk(q)� ���������

j = i + 1�

����� ω[a + n − 1] �	� Ci 	� 	 ����� ��� �	�� l ∈ Ui+1 �� ���� pn−1 < pl� 	�
 ��

qn−1 < ql ����� Lk(p) = Lk(q)� ��������� ����� ω[b + n − 1] �	� Ci+1 	� 	 ������ ��� �	��

l ∈ Vi �� ���� qn−1 > ql 	�
 �� pn−1 > pl� ���� pn−1 �� ��� ���	���� �� 	�� �����������

�� Ci 	�
 qn−1 �� ��� ��	�� �� 	�� ����������� �� Ci+1� �� Lk(p)n−1 = Lk(q)n−1 	�
 �� ���

Lk(p)n−1 = |U0| + · · · + |Ui|
Lk(q)n−1 = |V0| + · · · + |Vi| + 1.

 �� �� ��
�����	�� ��� ��� ��!� �� U0� . . .� Ui 	�� ���	��
 �� ��� ��!� �� V0� . . .� Vi�

����� u = v� 	�
 ����� ���
� �	
� � 	� 	 ��"�� ����� �� ���� m ≥ 1 �� ��	� 01m �� 	

��"� �� ���� u 	�
 v� ���� ��� �	�� 0 ≤ h ≤ n − m − 1� ����� �� ���� j �� ω[a + h]

	�
 ω[b + h] �	
� Cj 	� 	 ������ �� h ∈ Uj 	�
 h ∈ Vj� #����
��� ���� ����� �� ���	���

����	���
 ������ u 	�
 v� ��������
���� ���	��� ω[a + n − m − 1] 	�
 ω[b + n − m − 1]

����� ���� ��� ��	�� 01�$�� n − m ≤ h ≤ n − 1 �� �	
�

n − m ∈ Ui+m−1, n − m + 1 ∈ Ui+m−2, · · · n − 1 ∈ Ui

n − m ∈ Vi+m, n − m + 1 ∈ Vi+m−1, · · · n − 1 ∈ Vi+1.

$�� ��	����� �� m = 1 �� �	
� n − 1 ∈ Ui 	�
 n − 1 ∈ Vi+1� ��

|Vi+1| = |Ui+1| + 1 |Vi| = |Ui| − 1

	�
 |Uj| = |Vj| ��� 	�� ����� j� ����� |Ui+1| ≥ 1 �� ��� |Vi+1| ≥ 2�

�� m = 2 �� �	
� n − 2 ∈ Ui+1 	�
 n − 2 ∈ Vi+2% n − 1 ∈ Ui 	�
 n − 1 ∈ Vi+1� ��

|Vi+2| = |Ui+2| + 1 |Vi+1| = |Ui+1| |Vi| = |Ui| − 1

�&'



��� |Uj| = |Vj| ��� ��� ��	
� j�

�	
� ��� m ≥ 1�

|Vi+m| = |Ui+m| + 1 |Vi| = |Ui| − 1

��� |Uj| = |Vj| ��� ��� ��	
� j� ����
 |Ui+m| ≥ 1 �
 �

 |Vi+m| ≥ 2� ���	 ���
��
��
 ��

Ci+m �	��	 �� �������
� �� v ���� 	��
 Ci+1 �� � �
��� ��� ����
 n − 1 ∈ Vi+1 �
 	��


|Vi+1| ≥ |Vi+m| ≥ 2� �	
� �� ����������� 5.3.2

p′2n−2 = Lk(p)n−1 + |U0| + · · · + |Ui−1| + |Ui| = 2(|U0| + · · · + |Ui−1| + |Ui|)
q′2n−2 = Lk(p)n−1 + |V0| + · · · + |Vi| + |Vi+1| = 2(|V0| + · · · + |Vi−1| + |Vi|) + |Vi+1| + 1

= 2(|U0| + · · · + |Ui−1| + |Ui| − 1) + |Vi+1| + 1 = 2(|U0| + · · · + |Ui−1|) + |Vi+1| − 1

≥ p′2n−2 + 2 − 1 = p′2n−2 + 1

��� �
 �

 p′2n−2 < q′2n−2� �	
�
���
 �
 	��
 � �������������� ��� L(p′) = L(q′)�

���� ���� �
����
 i = 0 �� �	
 ���� i �� �	�� p′2n−1 < p′i ��� q′2n−1 > q′i� �� �� ����


�
 	��
 d(u)[0, 1] = d(v)[0, 1] = αα� ��� d(u)[2n−2, 2n−1] = d(v)[2n−2, 2n−1] = αα�

�	
� p′2n−1 < p′0 ��� q′2n−1 > q′0 �����

p′0 = L(p′)0 = L(q′)0 = q′0 − 1.

��� 
��	 1 ≤ j ≤ 2n − 2 �
 ���� �	
 ���������

p′2n−1 < p′j ⇐⇒ q′2n−1 < q′j

L(p′)j = p′j ⇐⇒ L(q′)j = q′j,

��� �	
� p′j = q′j ��� 
��	 1 ≤ j ≤ 2n − 2� �
��
�
 L(p′)j = L(q′)j� �� ���� p′0 
= q′0 ���

p′2n−1 
= q′2n−1� ����
 q′0 = p′0 + 1� �� �
�� �


p′2n−1 = p′0 − 1 ��� q′2n−1 = q′0 + 1.

 
� 1 ≤ x ≤ 2n �� �	�� p′2n−1 = q′0 = x ��� q′2n−1 = p′0 = x + 1� �	
�� �� �� !��
 (a.2)�

�
 "�� � ������������� �� �	
 ������
����� �� p′ ��� q′�

�	
�
���
 p′ = q′ �� ��� ���� �� L(p′) = L(q′)�

���� �	
 ��
���
� �
���� �� �	
 ��� δ �� ��#
����
�

p = q ⇐⇒ p′ = q′ ⇐⇒ L(p′) = L(q′)

p = q ⇐⇒ p′ = q′ ⇐⇒ R(p′) = R(q′).
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��������� ���� δ 	
 	����
	��� δR ��� δL ��� ��
� 	����
	�� �
 ����� � 
�����	�� ���
 	



�� ��� δ ��	�� 	����
	�� ���
 ��
 	���� δM 	
 	����
	��� �
 �	�� �� 
���� ��� 
�� �����

���
� ���� T � 
���� ��� ��
�
 �� �	

	��
 
�������
�
	��
 p ��� q ����� δ(p) 
= δ(q) ��


δ(p)M = δM(q)� ��� ������	�� 
��
	��
 ���� �	
� 
��� �	�����
 ����
 ��� �� �	�� 
���

���� δ ��� δM ��� 	����
	��� ��
 
��
� �����
 �	�� �
� 
���	�� ������
	�
 �� 
�� ����


���
	������

����� ����	
�
�
� �
������
� 
� d(s)

�� 
�	
 
��
	�� �� �	�� 	���

	��
� 
�� �����
�
	�� �������	
� ��  
���	�� ����
 �����


�� �����	�� ���� !� ��� ������ ����  ��
	�� 2.4.2 
��� �� 
�� �"�	�����
 ��#�	
	��


��  
���	�� ����
� ��� ���

 ��  
���	�� ����
 ��� 
�� ����	��	� �	���� ����
 �	
�

�	�	��� ���
�� �������	
��  � �� 	�#�	
� ���� s 	
 �  
���	�� ���� 	� ��� ���� n ≥ 0� s

��
 ����
�� n + 1 �	

	��
 ���
��
 �� ����
� n� �� ρs(n) = n + 1 $
�� ���� ���
�� �� ����
�

n = 0 ��	�� 
�� ���
������%� �� �"�	�����
 ��#�	
	�� ���  
���	�� ����
 	
 
��
 
���

��� 
�� ���

 �� ����	��	� �������� �	���� ����
�

&	�

 �� �	�� 
��� ���� 
�� ��� δ 	
 ����	�� 
� �����
�
	��
 ���� �  
���	�� �����

δ 	
 	����
	�� ��� 
��
 � �	���
	��� ���� �� 
��� 
�� ���
 δR� δL� ��� δM ��� 	����
	�� �


���� ��� 
��
 ��
� �	���
	��
� &	�

 �� ���' �
 
�� �����
�
	�� �������	
� ��  
���	��

����
� (����� ���� ������� 5.1.7� 
��
 	� s 	
 �  
���	�� ���� 
��� τs(n) = n ��� ����

n ≥ 1� �� s 	
 �  
���	�� ����� 
��� d(s) 	
 ��
  
���	��� ��� ���� d(s) �	�� ���
�	�

��
� 00 ��� 11 �
 ���
��
 ��� 	
 ��
 ��������� ���
 �� '��� τd(s)(n) > n ��� 
��� n ≥ 3�

&	� �  
���	�� ���� s ���� {0, 1}�  	��� s 	
 ��������� 
���� 	
 
��� k > 0 
� 
��


��� a, b ∈ {0, 1}� �	
� a 
= b� ����� a 	
 �������� �� �	
��� k �� k−1 b)
�  � ���
���
	�� a)


�	�� ���' �	'� �	
��� abka �� abk−1a� &�� ������� ���
	��� 
�� &	������	 ����� t� �����

t = 01001010010010100101 . . .

�� t� ���
���
	�� 1)
 ���' �	'� �	
��� 1001 �� 101� ��� 	� 000 �� 11 ���� ���
��
 
��� t

����� ��
 �� ���������

*�
 d(s) �� 
�� 	���� �� s ����� 
�� �����	�� ���� *�
 πs �� 
�� 	�#�	
� �����
�
	��

�

��	�
�� 
� s� ��� πd(s) �� 
�� 	�#�	
� �����
�
	�� �

��	�
�� 
� d(s)� !� �	�� ���

�������
� 
�� �����
�
	�� �������	
� �� d(s)� +� *���� 5.1.4 �� ��� �

��� 
���� 	
 �

��
���� ������ k > 1 
� 
��
 ���� 1 	
 �������� �� �	
��� 0k1 �� 0k−11� �����
� d(s) ���

d(s) = d(s) ���� 
�� 
��� �����
�
	�� �������	
�� ����� �	�� �� k + 1 ���

�
 �� ���
��


,-.



�� s� ����� �	


C0 = 0k

C1 = 0k−11

���

Ck−1 = 01

Ck = 10

��	 
��� i ∈ N� s[i] = sisi+1 · · · ��

 ���
 
����
� ��
 ��
 ����
 �
���
� �� ��	�� �� �

�	
��� ����
 ���	���� ��	�� �	
 �����	�
� 	
��		
�� �[��]�� ��
	
 �� �� N ∈ N �� ����


��� �����	 �� s �� 

���� n ≥ N ��

 ������� 
��� �� C0� C1� . . .� Ck�

 
� u = s[a, a + n− 1] ��� v = s[b, b + n− 1]� a 
= b� �
 �����	� �� s �� 

���� n ≥ N �

�� Cj �� � �����	 �� ���� u ��� v ��	 
��� 0 ≤ j ≤ k� ��	 0 ≤ j ≤ k �
��


Uj = { i | 0 ≤ i ≤ n − 1 ��� s[a + i] ��� Cj �� � �	
��� }

Vj = { i | 0 ≤ i ≤ n − 1 ��� s[b + i] ��� Cj �� � �	
��� }

��� |U0| + |U1| + · · · + |Uk| = |V0| + |V1| + · · · + |Vk| = n� ����
 |u| = |v| ≥ N �
 !���

��	 
��� j ��
	
 �� �� ����		
��
 �� Cj �� ���� u ��� v �� |Uj| ≥ 1 ��� |Vj| ≥ 1�  
�

p = πs[a, a+n+k−1] ��� q = πs[b, b+n+k−1] �
 ����
	��������� �� πs� "�
� �
��


����
	��������� δ(p) = p′ = πd(s)[2a, 2a + 2n − 1] ��� δ(q) = q′ = πd(s)[2b, 2b + 2n − 1]

�� �� #	��������� 5.3.2� "�
 ��

����� 

��� ����
	�� ��
 	

��������� �� p ��� q �� p′

��� q′�

����� ������ ��� ��� ����	
�� 
��� s� ��� p� q� p′� ��� q′ �� �� ������ ���� p = q 
�

��� ���� 
� p′ = q′�

	
��� $� p = q� ��
� �� ��

��� �	��  
��� 5.3.5 ���� p′ = q′�

"�
� ������
 ���� p 
= q� "��� p ��� q ���
 � ��%
	
�� ��	� ��  
��� 5.1.6� "���

��
	
 �� �� 0 ≤ i ≤ n + k − 2 �� ����� ������� 
��� �� �
�
	�
���� pi < pi+1 ��� qi > qi+1�

&
 ��

 
��! �� ��
 

��� i ��
	
 ���� ����
�� ��� �� ��

 �
 ����

� �� ��� ���
�� ��	��

��
� 0 ≤ i ≤ n − 1� ��� ��
� ��
� n ≤ i ≤ n + k − 2�


��� �� ������
 0 ≤ i ≤ n − 1 �� ��
 

��� i ��
	
 pi < pi+1 ��� qi > qi+1� "�
�

p′ 
= q′ ��

��� �	�� '�	�

�	� 5.3.4�


��� �� ������
 n ≤ i ≤ n+k−2 �� ��
 

��� i ��
	
 pi < pi+1 ��� qi > qi+1� "���

�
 !��� u = s[a, a + n− 1] = s[b, b + n− 1] = v� ��� �� Lk(p) = Lk(q) ��  
��� 5.1.6�

$� un−1 = vn−1 = 1� ��
� ���� u ��� v �	
 ��

��
� �� 0k−1 �� s[a, a + n + k − 2] =

s[b, b+n+k−2] = u0k−1 ��� p = q ����	�������� ��
 ����������� "��� un−1 = vn−1 = 0�

�()



��� ������� m = i − n + 1

s[a] = u0m1 · · ·
s[b] = u0m−11 · · · .

	
� l = i − n − k + 1� s[a + l] 
�� C0 �� � ����� ��� s[b + l] 
�� C1 �� � ������ �����

Lk(p) = Lk(q) ��� |V0| ≥ 1� �� ��
�
����
� 5.3.2 �� 
���

p′2l = Lk(p)l

q′2l = Lk(q)l + |V0| = Lk(p)l + |V0| ≥ Lk(p)l + 1,

�
 p′2l < q′2l� ��� p′ 
= q′�

�
����
�� p = q �� ��� 
��� �� p = q�

�
�� �
� ���

δ : Perms(n + k) �→ Permd(s)
ev (2n)

�� ��������� �
�� ������� �
 ���������
�� ���
������ ���
 � �������� �
��� ��� �� �
����

�
�� ����������  
�� !���� 5.3.11 �� ���� ���
 !���� 5.3.8 �� ��� �
� ����

δL : Permω(n + k) �→ Permd(ω)
ev (2n − 1)

δR : Permω(n + k) �→ Perm
d(ω)
odd (2n − 1)

��� ���
 ���������� ��� �
�� ��� �������
��� �
 �
�� n ≥ N

∣

∣

∣
Permd(s)

ev (2n)
∣

∣

∣
= |Perms(n + k)| .

∣

∣

∣
Permd(s)

ev (2n − 1)
∣

∣

∣
= |Perms(n + k)|

∣

∣

∣
Perm

d(s)
odd (2n − 1)

∣

∣

∣
= |Perms(n + k)| .

 � ���� �
� �

� �
� ��� δM �� ���
 ��������� �
�� ������� �
 ���������
�� ���
������

���
 � �������� �
���

����� �����	 ��� ��� ����	
�� 
��� s� ��� p� q� p′� ��� q′ �� �� ������ ���� p′ = q′


� ��� ���� 
� M(p′) = M(q′)�


���
 "� �

��� �� ����� �
�� �� p′ = q′ �
�� M(p′) = M(q′)�

#
�� �
�� ����� d(u) = d(s)[2a, 2a + 2n− 1] ��� d(v) = d(s)[2b, 2b + 2n− 1]� �
� ���


0 ≤ i ≤ n − 1

d(u)2i = d(u)2i+1 = ui ��� d(v)2i = d(v)2i+1 = vi.

 � ���� ���� �
� �
��
���� ����� ��
�� M(p′) ��� M(q′) ���
�� �� ��
�����

$%&



����� ����	� �� M(p′) = M(q′) ���� d(u) = d(v)�


���
 ������� M(p′) = M(q′)� ��	 0 ≤ i ≤ 2n − 3
 d(u)i = d(v)i �� 
���� 5.3.9� ����

�������� d(u) 
= d(v) �� ��� � ����	�������� �� 
���� 5.3.10
 �� d(u) = d(v)� ���	���	�

�� M(p′) = M(q′) ���� d(u) = d(v)
 ��� u = v�

������� p′ 
= q′
 ��� ������ M(p′) = M(q′)� ��	 ���� ���	 �� 	��� �����	� i 
= j

���	� 0 ≤ i, j ≤ 2n − 3


M(p′)i < M(p′)j ⇐⇒ M(q′)i < M(q′)j

��� ����

p′i+1 < p′j+1 ⇐⇒ q′i+1 < q′j+1.

���� �� ���� d(u) = d(v) ��� u = v
 �� Lk(p) = Lk(q)�

�	�� ����� 5.3.8 �� ���� R(p′) 
= R(q′) ��� L(p′) 
= L(q′) ������� p′ 
= q′
 ���

R(L(p′)) = M(p′) = M(q′) = R(L(q′)).

���� ���	� �� �� 1 ≤ i ≤ 2n−2 �� ���� L(p′)0 < L(p′)i ��� L(q′)0 > L(q′)i� �� �� �����

5.3.8 
��� (a.1)
 �� 1 ≤ i ≤ 2n − 3 �� ���� � ����	��������� ���� �� ��� ������ ����

i = 2n − 2 �� ��� ���� i �� ���� L(p′)0 < L(p′)i ��� L(q′)0 > L(q′)i� ����

L(p′)0 < L(p′)2n−2 =⇒ p′0 < p′2n−2 =⇒ p0 < pn−1 =⇒ Lk(p)0 < Lk(p)n−1

L(q′)0 > L(q′)2n−2 =⇒ q′0 > q′2n−2 =⇒ q0 > qn−1 =⇒ Lk(q)0 > Lk(q)n−1,

��� Lk(p) 
= Lk(q)
 ��� �� �� ����� 5.1.6 �� ��� u 
= v ��� d(u) 
= d(v) ����� �� �

����	�������� �� ��� ����������� ���	���	� M(p′) 
= M(q′)�

���	���	� p′ = q′ �� ��� ���� �� M(p′) = M(q′)�

���� �� ���
 ��	 � ���	���� ��	� s


p = q ⇐⇒ δ(p) = δ(q) ⇐⇒ δM(p) = δM(q)

��� ���� ��� ���

δM : Perms(n + k) �→ Perm
d(s)
odd (2n − 2)

�� ���� �� ������
 ��� ���� �� � �� ������� �� ���� n ≥ N

∣

∣

∣
Perm

d(s)
odd (2n − 2)

∣

∣

∣
= |Perms(n + k)| .

��� ��������� ����	�� ���� ���� ��� ��	�������� ������!��� �� � ���	���� ��	��

"#$



������� ��	�
� ��� s �� � ����	
�� �
�� 
��� A� ����� �
� a, b ∈ A� a 
= b� �����

��� ���
��� 
� �
���� k 
� k − 1 a�� ������� ���� b� �
�� k > 1� ����� 
� �� N �
 ����

���� ����
� 
� s 
� ������ �� ����� N �
�� �
���
� ���� 
� ak� ak−1b� � � � � ab� b� �
� ����

n ≥ 2N ��� ���	����

� �
	����
�� 
� d(s) 
�

τd(s)(n) = n + 2k + 1

����
 ��� s �� � ����	
�� �
�� �� 
� ��� ���
����
�� ��� ��� n ≥ 2N � ���� ����� 
�

m ≥ N �
 ���� �
���� n = 2m 
� n = 2m − 1� ��� ������ τs(n) = n �
� ���� n ≥ 1� �
���

s 
� ����	
��� ���� 
�

δ : Perms(m + k) �→ Permd(s)
ev (2m)

δL : Perms(m + k) �→ Permd(s)
ev (2m − 1)

δR : Perms(m + k) �→ Perm
d(s)
odd (2m − 1)

δM : Perms(m + k + 1) �→ Perm
d(s)
odd (2m)

��� �
����

��� ��� �


∣

∣

∣
Permd(s)

ev (2m − 1)
∣

∣

∣
= |Perms(m + k)|

∣

∣

∣
Perm

d(s)
odd (2m − 1)

∣

∣

∣
= |Perms(m + k)|

∣

∣

∣
Permd(s)

ev (2m)
∣

∣

∣
= |Perms(m + k)|

∣

∣

∣
Perm

d(s)
odd (2m)

∣

∣

∣
= |Perms(m + k + 1)| .

����

τd(s)(2m − 1) =
∣

∣

∣
Permd(s)(2m − 1)

∣

∣

∣
=

∣

∣

∣
Permd(s)

ev (2m − 1)
∣

∣

∣
+

∣

∣

∣
Perm

d(s)
odd (2m − 1)

∣

∣

∣

= (m + k) + (m + k) = (2m − 1) + 2k + 1

τd(s)(2m) =
∣

∣

∣
Permd(s)(2m)

∣

∣

∣
=

∣

∣

∣
Permd(s)

ev (2m)
∣

∣

∣
+

∣

∣

∣
Perm

d(s)
odd (2m)

∣

∣

∣

= (m + k) + (m + k + 1) = 2m + 2k + 1

������
�� �
� �
���� n = 2m − 1 
� n = 2m�

τd(s)(n) = n + 2k + 1.

���



����� �����	
	��
 ��������	� �� d(T )

�� ���� �����	� 
� 
��� �������
��� ��� ���������	� �	�������� 	� d(T )� ��� ���
� 	� ���

������	��� 
	��� T � ����� ��� �	�����
 ���� d� ������ ��	� �����	� 5.2� ��� ������	���


	�� T = 011010011001 · · · �� ��� ���� �	��� 	� ��� ������	��� �	������ µT : 0 �→ 01�

1 �→ 10�

��� ���������	� 	� ��� ���������	� �	�������� 	� d(T ) 
��� ��� ��� �	����� �	� ���

����	� �	�������� 	� T �  
���� ��� ����	� �	�������� �� !�	
� "[##, $#]% ��� 
� 
��� ���

��� �	����� ���������� �� �� &���!�

����������� 	
�
�	 "[##]% ��� n ≥ 3� ��� �	
����
 ρT (n) �
 ����
 ��

ρT (n) =

⎧

⎨

⎩

6 · 2r−1 + 4p 0 < p ≤ 2r−1

8 · 2r−1 + 2p 2r−1 < p ≤ 2r

����� r �
� p ��� 	
��	��� �������
�� �� ��� ��	����


n = 2r + p + 1, 0 < p ≤ 2r

'� ���	 ���� ���� ��	������� ��	� �����	� 5.2� 
���� 
� �	
 ������� ���	��� 5.2.8

������ ���� ������������	�� 	� πT ���� ��� ���� �	�� �� ��� 	��� �� ���� ��� � �	�����

������� ����� (�	�	����	� 5.2.12 ����������� ����� 	� ������������	� ���
��� ��� ����

�	� �	����������� ������ ��� )���� 5.2.14 
���� ������ �	
 ���� �	����������� �����

	� ���� # 	� * ��� ����� �	� ���� ���
�� n� +������ ���	��� 5.2.16 
���� ��� ���������	�

�	�������� ������	��

��� �	��	
��
 ��	�	����	� �� � �������	� 	� (�	�	����	� 5.2.7�

����������� 	
�
�
 �	���
� p = πT [a, a + n] �
� q = πT [b, b + n] ��� � ��������
����

���� �� ���� k ≥ 1�

��� L(p) �
� L(q) ��� � ��������
���� ���� �� ���� k − 1�

��� R(p) �
� R(q) ��� � ��������
���� ���� �� ���� k − 1�

��� M(p) �
� M(q) ��� � ��������
���� ���� �� ���� k − 2�

����� )�� p = πT [a, a + n] ��� q = πT [b, b + n] �� � �	����������� ���� 	� ���� k ≥ 1�

��� ��
����� ��	� (�	�	����	� 5.2.7� ���� (c)� 
��� ��	
 �� p ��� q ��� � �	�����

������� ���� 	� ���� k� ���� L(p) ��� L(q) ��� � �	����������� ���� 	� ���� k − 1� ��

� ������� �����	� (�	�	����	� 5.2.7� ���� (d)� ������� R(p) ��� R(q) ��� � �	��������

���� ���� 	� ���� k − 1� ��� (�	�	����	� 5.2.7� ���� (e)� ������� M(p) ��� M(q) ��� �

�	����������� ���� 	� ���� k − 2�

###



��� �� ��������	 �
	 �	�
������� ��
��	���� �� d(T ) �	 �		� �� ��	����� �
	 �����	�

�� ������� �� T ���
 ������ �� �
	 ��
	 �	��	�� ����	 T �� ��	�������		� ��� �
�� ���	���		�

�	 ��� ��	����� �
	 4 �����	� �� ������� �� T � �
��
 ��	

C0 = 00, C1 = 01, C2 = 10, C3 = 11

��� 	��
 i ∈ N� T [i] = TiTi+1 · · · ���� 
��	 	������ ��	 �� �
	 ����	 �����	� �� ����� �� �

��	��� ����	 �
	 �
�	�����	 ���� �� ������
�� �	����	��  [!]"� �
	�	 �� �� N ∈ N �� �
��

	��
 ������ �� T �� �	�#�
 n ≥ N ���� ������� 	��
 �� C0� C1� C2� ��� C3� $� �� �	�����

�	���	� �
�� ��� ������ �� �	�#�
 n ≥ 9 ���� ������� 	��
 �� �
	�	 % �����	� �� ����� �� �

�������

&	� u = T [a, a + n − 1] ��� v = T [b, b + n − 1]� a 
= b� �	 ������� �� T �� �	�#�


n ≥ 9� �� Cj �� � ������ �� ���
 u ��� v ��� 	��
 0 ≤ j ≤ 3� &	� p = πT [a, a + n + 1] ���

q = πs[b, b + n + 1] �	 ����	�
�������� �� πT � �
	� �	��	 ����	�
�������� δ(p) = p′ =

πd(s)[2a, 2a + 2n − 1] ��� δ(q) = q′ = πd(s)[2b, 2b + 2n − 1] �� �� '���������� 5.3.2� ���


k = 2� �
	 ��������# �	

� ����	��� �
	 �	�������
�� �� p ��� q �� p′ ��� q′�

����� �����	 ��� p ��� q �� �	�
���	���
��� �� ������ n + 2 �� πT � �
�� n ≥ 9� ���

��� p′ = δ(p) ��� q′ = δ(p)�

��� �� n /∈ {2r − 1, 2r | r ≥ 3 }� p = q 
� ��� ���� 
� p′ = q′�

��� �� n ∈ {2r − 1, 2r | r ≥ 3 }� p ��� q ���� ��� ���� ���� 
� ��� ���� 
� p′ = q′�


���
 &	� p = πT [a, a + n + 1] ��� q = πs[b, b + n + 1]� a 
= b� �	 ����	�
�������� �� πT

�� �	�#�
 n + 2� ���
 n ≥ 9� ��� �	� u = T [a, a + n − 1] ��� v = T [b, b + n − 1]� ����	

�
	 �	�#�
 �� u ��� v �� �� �	��� (� 	��
 �� C0� C1� C2� ��� C3 ������ �� ���
 �� u ���

v� �
	� �	� p′ = δ(p) = πd(s)[2a, 2a + 2n − 1] ��� q′ = δ(q) = πd(s)[2b, 2b + 2n − 1] �� ��

'���������� 5.3.2�

��� ������	 n /∈ {2r − 1, 2r | r ≥ 3 }� $� p = q �
	� p′ = q′ �� &	

� 5.3.5�

������	 p 
= q� �
	� 	��
	� p ��� q 
��	 �
	 ��
	 ���
� �� �
	� �� ��� 
��	 �
	

��
	 ���
� �
	�	 ���	� ���� �	 
����	� ���	�	��	�����

���� ����� ������	 p ��� q 
��	 �
	 ��
	 ���
� ����	 n /∈ {2r − 1, 2r | r ≥ 3 }�
p ��� q ��	 � ��
��	
	����� ���� �� ���	 k ≥ 3� �� �
	��	
 5.2.8� )� '����������

5.3.16� L2(p) ��� L2(q) ��	 � ��
��	
	����� ���� �� ���	 k − 2� �
	�	 k − 2 ≥ 1� ��� ��

L2(p) 
= L2(q)� �
	�	���	 p′ 
= q′� �� *�������� 5.3.4�

++!



���� ����� ������� p ��	 q 	� ��
 ���� 
�� ��
� ���
� ���� 
���� �� �� 0 ≤ i ≤ n

�� 
��
� ��
���
 ���� �� ��������
�� pi < pi+1 ��	 qi > qi+1� �� 
�� ��� i = n �� 
�� ����

i �� 
��
 pi < pi+1 ��	 qi > qi+1� ������� �� 
���� �� �� 0 ≤ i ≤ n − 1 �� pi < pi+1 ��	

qi > qi+1 
��� u 
= v� ��	 p′ 
= q′ �� ��������� 5.3.4� �� 
�� ���� ��� L2(p) = L2(q)�

������� �� L2(p) 
= L2(q) 
��� p′ 
= q′ �� ��������� 5.3.4� ���� u = v ��	 pn < pn+1 ��	

qn > qn+1�

��� 0 ≤ j ≤ 3 ��


Uj = { i | 0 ≤ i ≤ n − 1 ��	 T [a + i] ��� Cj �� � ������ }

Vj = { i | 0 ≤ i ≤ n − 1 ��	 T [b + i] ��� Cj �� � ������ }

��	 |U0|+ |U1|+ |U2|+ |U3| = |V0|+ |V1|+ |V2|+ |V3| = n� ����� u = v ��	 |u| = |v| ≥ 9

�� ���� ��� ���� j 
���� �� �� 0 ≤ i ≤ n− 2 �� 
��
 i ∈ Uj ��	 i ∈ Vj� 
��� |Uj| ≥ 1 ��	

|Vj| ≥ 1� ����� u = v ��	 pn < pn+1 ��	 qn > qn+1 
���� �� �� α ∈ {0, 1} �� 
��


T [a + n − 1, a + n] = α0

T [b + n − 1, b + n] = α1

�� ��
���

|U0| 
= |V0| |U1| 
= |V1| |U2| = |V2| |U3| = |V3|

��

|U0| = |V0| |U1| = |V1| |U2| 
= |V2| |U3| 
= |V3| .

 � α = 0 
��� |U0| 
= |V0| ��	 |U1| 
= |V1|� ��	 �� !������
��� 5.3.2

p′2n−2 = L2(p)n−1

q′2n−2 = L2(q)n−1 + |V0| ≥ L2(p)n−1 + 1 > p′2n−2.

 � α = 1 
��� |U2| 
= |V2| ��	 |U3| 
= |V3|� ��	 �� !������
��� 5.3.2

p′2n−1 = L2(p)n−1 + |U0| + |U1|
q′2n−1 = L2(q)n−1 + |V0| + |V1| + |V2| ≥ L2(p)n−1 + |U0| + |U1| + 1 > p′2n−1.

��������� �� ��
��� ���� (a.1) �� (a.2)� p′ 
= q′�

��������� �� p ��	 q ��� ������
�
�
���� �� πT �� ����
� n + 2� ��
� n 
= 2r − 1 �� 2r

��� ��� r ≥ 3� p = q �� ��	 ���� �� p′ = q′�

�	� ������� n ∈ {2r − 1, 2r | r ≥ 3 }�  � p ��	 q 	� ��
 ���� 
�� ��
� ���
� 
���� ��

�� 0 ≤ i ≤ n �� 
��
� ��
���
 ���� �� ��������
�� pi < pi+1 ��	 qi > qi+1 ��	 p 
= q� ����

p ��	 q ��� �� �� ���� (a.2)� ��	 p′ 
= q′�

""#



������� p ��	 q 
��� �
� ��
� ���
� �� ��� ���
 0 ≤ i ≤ n − 1� �
��� �� ��
� j

�� �
�� ���
 T [a + i] ��	 T [b + i] 
��� Cj �� � ������ �� ��� ��� p 
= q� ������� ��

p = q �
�� p′ = q′ �� ��

� 5.3.5� �� �
����
 5.2.8 ��	 ����������� 5.2.12� p ��	 q

��� � ��
���
������ ���� �� ���� 1 �� 2 ��	 L2(p) = L2(q) �� ����������� 5.3.16� �� ��

��������� 5.3.3� p′ = q′�

�
������� �� p ��	 q ��� ������
�������� �� πT �� �����
 n + 2�  ��
 n = 2r − 1 �� 2r

��� ��
� r ≥ 3� p ��	 q 
��� �
� ��
� ���
 �� ��	 ���� �� p′ = q′�

�
��� ��� n ≥ 9� �
� 
���

δ : PermT (n + 2) �→ Permd(T )
ev (2n)

δL : PermT (n + 2) �→ Permd(T )
ev (2n − 1)

δR : PermT (n + 2) �→ Perm
d(T )
odd (2n − 1)

 
�� ������	 �� ���
�������� ���������	  ��
 �
� �
��!"����  ��	 ��� ��#������  
��

n /∈ {2r − 1, 2r | r ≥ 3 } $��  
�� �
��� ��� �� ��
���
������ ����� �� ���� % �� &'� ��
∣

∣

∣
Permd(T )

ev (2n)
∣

∣

∣
=

∣

∣PermT (n + 2)
∣

∣

∣

∣

∣
Permd(T )

ev (2n − 1)
∣

∣

∣
=

∣

∣PermT (n + 2)
∣

∣

∣

∣

∣
Perm

d(T )
odd (2n − 1)

∣

∣

∣
=

∣

∣PermT (n + 2)
∣

∣ .

�
�� n ∈ {2r −1, 2r | r ≥ 3 } �
� 
��� δ� δR� ��	 δL ��� ���#������� ��� ��� ��#������

������� ��
���
������ ����� �� ���� % �� &  ��� ���� �
� ��
� ������
������� ��	��

δ� (� �
�� ����� �� p ��	 q ��� ������
�������� �� πT �� �����
 n + 2�  
��� p 
�� ���


u′ ��	 q 
�� ���
 v′� |u′| = |v′| = n + 1� δ(p) = δ(q) �� ��	 ���� �� u′ = v′� ��)� ���

 � ��� δL(p) = δL(q) ��	 δR(p) = δR(q) �� ��	 ���� �� u′ = v′� �
�� �
� ��
��� ��

������
�������� �� πd(T ) ��� �
��� �����
� ��� 	����
���	 �� �
� ��
��� �� ������� �� T �

��
∣

∣

∣
Permd(T )

ev (2n)
∣

∣

∣
= |FT (n + 1)| .

∣

∣

∣
Permd(T )

ev (2n − 1)
∣

∣

∣
= |FT (n + 1)|

∣

∣

∣
Perm

d(T )
odd (2n − 1)

∣

∣

∣
= |FT (n + 1)| .

�
� ����� ��� ��

� �
� �  
�� �
� 
�� δM �� ��#������  
�� ������	 �� ���
���!

����� ���������	  ��
 �
� �
��!"����  ��	�

����� �����	 ��� ��� ����	
���� ���
 T � ��� p� q� p′� ��
 q′ �� �� ������ ����

��� �� n 
= 2r − 1� 2r� �� 2r + 1 ��� ��� r ≥ 3� p′ = q′ �� ��
 ���� �� M(p′) = M(q′)�

%%*



��� �� n = 2r − 1� 2r� �� 2r + 1 ��� 	�
� r ≥ 3� p �
� q ���� ��� 	�
� ���
 �� �
� �
��

�� M(p′) = M(q′)�

����� �� ������ 	
 ��
�
 ��
 
���

 ���
 ���� �� p′ = q′ ��
� M(p′) = M(q′)�

���
 ���� ����
 d(u) = d(s)[2a, 2a + 2n− 1] ��� d(v) = d(s)[2b, 2b + 2n− 1]� ��
 
���

0 ≤ i ≤ n − 1

d(u)2i = d(u)2i+1 = ui ��� d(v)2i = d(v)2i+1 = vi.

�� M(p′) = M(q′) ��
� d(u) = d(v)� 	� ����� 5.3.13� ��� �� u = v�

�
 ���� ����� ��
 ��
 ��������

Uj = { i | 0 ≤ i ≤ n − 1 ��� T [a + i] ��� Cj �� � �

��� }

Vj = { i | 0 ≤ i ≤ n − 1 ��� T [b + i] ��� Cj �� � �

��� }
��� ��
 �� ��
 �
���� �� u ��� v �
 ���� |Uj| ≥ 1 ��� |Vj| ≥ 1 ��
 
��� j�

��� �
� n 
= 2r − 1� 2r� �
 2r + 1 ��
 ��� r ≥ 3� ��� p = πT [a, a + n + 1] ���

q = πT [b, b + n + 1] 	
 ��	�

��������� �� πT �� �
���� n + 2 ≥ 11� ��
� p′ = δ(p) ���

q′ = δ(q) 	�  
��������� 5.3.2�

!�����
 p′ 
= q′� ��� �����
 M(p′) = M(q′)� "�
 
��� ���
 �� 

�� ���	

� i 
= j

��


 0 ≤ i, j ≤ 2n − 3�

M(p′)i < M(p′)j ⇐⇒ M(q′)i < M(q′)j

��� ����

p′i+1 < p′j+1 ⇐⇒ q′i+1 < q′j+1.

���� �
 ���� d(u) = d(v) ��� u = v� ��


 �� �� α ∈ {0, 1} �� ���� d(u)1 = d(v)1 = α�

��� �� d(u)[0, 1] = d(v)[0, 1] = αα� #� �� �
��� 5.3.8 �
 ��$
 d(u)[2n − 2, 2n − 1] =

d(v)[2n − 2, 2n − 1] = αα�

���	� !�����
 p ��� q ��$
 ��
 ���
 ��
�� %� ��
�

� 5.2.8 ���  
���������

5.2.12� p ��� q �

 � �����
�
���
� ���
 �� ���
 k ≥ 4� %�  
��������� 5.3.16� L2(p)

��� L2(q) �

 � �����
�
���
� ���
 �� ���
 k − 2 ≥ 2� ����� ������� ���� �� �
�

������

L2(p)k−2−1 +1 = L2(p)n−1 ��� L2(q)n−1 +1 = L2(q)k−2−1� ���� L2(p)k−3 < L2(p)n−1 ���

L2(q)k−3 > L2(q)n−1� �� p′2k−6 < p′2n−2 ��� q′2k−6 > q′2n−2� ���� M(p′)2k−5 < M(p′)2n−3

��� M(q′)2k−5 > M(q′)2n−3 �� M(p′) 
= M(q′) ����� �� � ����
���������

���
� !�����
 p ��� q �� ��� ��$
 ��
 ���
 ��
�� "
�� �
��� 5.3.8 �
 ����

R(p′) 
= R(q′) ��� L(p′) 
= L(q′) 	
����
 p′ 
= q′� 	��

R(L(p′)) = M(p′) = M(q′) = R(L(q′)).

&&'



���� ����� �� 	
 1 ≤ i ≤ 2n−2 �� ��	� L(p′)0 < L(p′)i 	
� L(q′)0 > L(q′)i
 �� �
 ����	

5.3.8 �	�� (a.1)� �� 1 ≤ i ≤ 2n − 3 �� �	�� 	 ��
��	������

 ���� �� �	
 	����� ��	�

i = 2n − 2 �� ��� �
�� i �� ��	� L(p′)0 < L(p′)i 	
� L(q′)0 > L(q′)i
 ����

L(p′)0 < L(p′)2n−2 =⇒ p′0 < p′2n−2 =⇒ p0 < p2n−1 =⇒ L2(p)0 < L2(p)n−1

L(q′)0 > L(q′)2n−2 =⇒ q′0 > q′2n−2 =⇒ q0 > q2n−1 =⇒ L2(q)0 > L2(q)n−1

�� L2(p) 
= L2(q)� 	
� u = v
 ����� �� ������� 5.2.8 	
� ����������
 5.2.12� L2(p)

	
� L2(q) 	�� 	 ��������
�	�� �	�� �� ���� k ≥ 2
 ����� ������� ���� �� ��
��	�����

L2(p)k−1 < L2(p)n−1 	
� L2(q)k−1 > L2(q)n−1� �� p′2k−2 < p′2n−2 	
� q′2k−2 > q′2n−2


���� M(p′)2k−1 < M(p′)2n−3 	
� M(q′)2k−1 > M(q′)2n−3 �� M(p′) 
= M(q′) ����� �� 	

��
��	������



��������� �� n 
= 2r−1� 2r� �� 2r+1 ��� 	
� r ≥ 3� p′ = q′ �� 	
� �
�� �� M(p′) = M(q′)


��� ��� n = 2r − 1� 2r� �� 2r + 1 ��� ���� r ≥ 3� 	
� p = πT [a, a + n + 1] 	
�

q = πT [b, b + n + 1] �� ���������	���
� �� πT �� ��
��� n + 2 ≥ 11
 ���
 p′ = δ(p) 	
�

q′ = δ(q) 	� �
 ����������
 5.3.2


����� ������� p 	
� q �	�� ��� �	�� ����
 �� ��� �	�� 0 ≤ i ≤ n�

pi < pi+1 ⇐⇒ qi < qi+1.

�� �� �
�� ��� �	�� i� T [a + i] 	
� T [b + i] ���� �	�� ��� �	�� Cj 	� 	 ���� � ��

i ∈ Uj ⇐⇒ i ∈ Vj

	
� �� |Uj| = |Vj| ��� �	�� j


!� p = q� ���
 p′ = q′ 	
� M(p′) = M(q′)� �� �� �	
 �	� p 
= q
 !� n = 2r−1 �� 2r ���


p′ = q′ �� ����	 5.3.17 	
� M(p′) = M(q′)� �� �� �	
 �	� n = 2r + 1 ��� ���� r ≥ 3


���� p 	
� q 	�� 	 ��������
�	�� �	�� �� ���� " �� ������� 5.2.8 	
� ����������


5.2.12� 	
� L2(p) 	
� L2(q) 	�� 	 ��������
�	�� �	�� �� ���� # �� ����������
 5.3.16


��� ������� ���� �� ��
��	����� ����� �� ���� 1 ≤ x ≤ n− 1 �� ��	� L2(p)0 = L2(q)n−1 = x

	
� L2(p)n−1 = L2(q)0 = x + 1� 	
� ��� �	�� 1 ≤ i ≤ n − 2 L2(p)i = L2(q)i


��
�� p 	
� q 	�� 	 ��������
�	�� �	�� �� ���� " �� �
�� T [a, a + 1] = T [a + n −
1, a + n]� ���� �� �
�� T [b, b + 1] = T [b + n − 1, b + n] = T [a, a + 1] ���	��� u = v
 ��

����� �� 	 j �� ��	� �	�� �� T [a]� T [a + n − 1]� T [b]� 	
� T [b + n − 1] �	�� �	�� Cj 	� 	

���� 
 �� �� ����������
 5.3.2� ����� 	�� ���� y 	
� z �� ��	�

p′0 = y q′0 = y + 1

p′1 = z q′1 = z + 1

p′2n−2 = y + 1 q′2n−2 = y

p′2n−1 = z + 1 q′2n−1 = z

##$



��� ��� ���	 2 ≤ i ≤ 2n− 3
 p′i = q′i� �	� ����� �� y ��� z 
��� �� ���	�� y < y + 1 < z <

z + 1 ��� Ta = Tb = 0� �� z < z + 1 < y < y + 1 ��� Ta = Tb = 1�� �� y < y + 1 < z < z + 1


�	�� M(p′)0 = z − 1 = M(q′)0 ��� M(p′)2n−2 = y = M(q′)2n−2� �� z < z + 1 < y < y + 1


�	�� M(p′)0 = z = M(q′)0 ��� M(p′)2n−2 = y − 1 = M(q′)2n−2� �� ���	�� ���� 
� 	���


��� 2 ≤ i ≤ 2n − 3


p′i < y ⇐⇒ q′i < y + 1 ��� p′i < z + 1 ⇐⇒ q′i < z

�� M(p′)i−1 = M(q′)i−1� �	������� M(p′) = M(q′)�

�	������� �� p ��� q 	��� �	� ���� ���� �	�� M(p′) = M(q′)�

����� ������� p ��� q �� ��� 	��� �	� ���� ����
 ��� ������ M(p′) = M(q′)� �� p

��� q �� ��� 	��� �	� ���� ����
 �	��� �� �� 0 ≤ i ≤ n �� �	��
 
��	��� ���� �� ����������


pi < pi+1 ��� qi > qi+1 ��� p 
= q� �� ����� 5.3.17
 p′ 
= q′� �	�� �� �� ���� (a.2) 
�

 �� � ������������� �� �	� ����������
 �� M(p′) 
= M(q′)�

�	������� p ��� q 	��� �	� ���� ���� �� ��� ���� �� M(p′) = M(q′)�

�	��
 ��� n ≥ 9
 �	� ���

δM : PermT (n + 2) �→ Perm
d(T )
odd (2n − 2)


	�� ������� �� ������������ ���������� 
��	 �	� �	��!"���� 
��� ��� ��#������ 
	��

n 
= 2r − 1
 2r
 �� 2r +1 ��� ��� r ≥ 3 ��� 
	�� �	��� ��� �� ������������� ����� �� ����

$
 %
 �� &�
 ��
∣

∣

∣
Perm

d(T )
odd (2n − 2)

∣

∣

∣
=

∣

∣PermT (n + 2)
∣

∣ .

'	�� n = 2r − 1
 2r
 �� 2r + 1 ��� ���� r ≥ 3 �	� ��� δM �� ���#������
 ��� ���

��#������� �� �	�� ����
 �� p ��� q ��� ��������������� �� πT �� �����	 n + 2
 
	��� p 	��

���� u ��� q 	�� ���� v
 |u| = |v| = n + 1
 δM(p) = δM(q) �� ��� ���� �� u = v� �	�� �	�

������ �� ��������������� �� πd(T ) �� �����	 2n − 2 
	��	 ����� �� �� ��� �������� ���

���������� �� �	� ������ �� ������� �� T �� �����	 n + 1
 ��
∣

∣

∣
Perm

d(T )
odd (2n − 2)

∣

∣

∣
= |FT (n + 1)| .

'� ��� ��
 ����� �� ��������� �	� ����������� ������(��� �� d(T )�

���	
�� ��
��� ��� ��� ����	
���� ���
 T � ��� n ≥ 9�

��� �� n = 2r� ����

τd(T )(2n − 1) = 2r+2 + 2r+1

τd(T )(2n) = 2r+2 + 2r+1 + 4

$$)



��� �� n = 2r + p ��� ��	
 0 < p ≤ 2r − 1� �

�

τd(T )(2n − 1) = 2r+3 + 4p

τd(T )(2n) = 2r+3 + 4p + 2

����� ��� n ≥ 9�

��� �����	� n = 2r� �� 2n = 2(2r) = 2(2r + 1) − 2
 ��
 ���� ����� 5.3.17 ��


����� 5.3.18 ���� �� ��� ���	

δ : PermT (n + 2) �→ Permd(T )
ev (2n)

δL : PermT (n + 2) �→ Permd(T )
ev (2n − 1)

δR : PermT (n + 2) �→ Perm
d(T )
odd (2n − 1)

δM : PermT (n + 3) �→ Perm
d(T )
odd (2n)

��� ��� ����������

�� n+1 = 2r +1 = 2r−1 +2r−1 +1
 ��
 n+2 = 2r +2 = 2r +1+1� �� �� �����	�����

5.3.15

τd(T )(2n − 1) =
∣

∣

∣
Permd(T )

ev (2n − 1)
∣

∣

∣
+

∣

∣

∣
Perm

d(T )
odd (2n − 1)

∣

∣

∣
= |FT (n + 1)| + |FT (n + 1)|

= 8(2r−2) + 2(2r−1) + 8(2r−2) + 2(2r−1) = 2r+2 + 2r+1

τd(T )(2n) =
∣

∣

∣
Permd(T )

ev (2n)
∣

∣

∣
+

∣

∣

∣
Perm

d(T )
odd (2n)

∣

∣

∣
= |FT (n + 1)| + |FT (n + 2)|

= 8(2r−2) + 2(2r−1) + 6(2r−1) + 4(1) = 2r+2 + 2r+1 + 4

��� �����	� n = 2r +p� ����� ���� �� � ��	�	 �� ���	�
��� ���	� ���� 0 < p ≤ 2r −3


���� ���� p = 2r − 2
 ��
 ������ ���� p = 2r − 1�

��	
� �����	� 0 < p ≤ 2r − 3� �� 2n = 2(2r + p) = 2(2r + p + 1) − 2
 ��
 ����

����� 5.3.17 ��
 ����� 5.3.18 ���� �� ��� ���	

δ : PermT (n + 2) �→ Permd(T )
ev (2n)

δL : PermT (n + 2) �→ Permd(T )
ev (2n − 1)

δR : PermT (n + 2) �→ Perm
d(T )
odd (2n − 1)

  !



δM : PermT (n + 3) �→ Perm
d(T )
odd (2n)

��� �������	�
 ��� ��
� ��� �������	��

�� n + 2 = 2r + p + 2
 ��� n + 3 = 2r + p + 3� �� �� ������� 5.2.16

τd(T )(2n − 1) =
∣

∣

∣
Permd(T )

ev (2n − 1)
∣

∣

∣
+

∣

∣

∣
Perm

d(T )
odd (2n − 1)

∣

∣

∣

=
∣

∣PermT (n + 2)
∣

∣ +
∣

∣PermT (n + 2)
∣

∣ = 2 · 2(2r + p + 2 − 2)

= 2r+2 + 4p

τd(T )(2n) =
∣

∣

∣
Permd(T )

ev (2n)
∣

∣

∣
+

∣

∣

∣
Perm

d(T )
odd (2n)

∣

∣

∣
=

∣

∣PermT (n + 2)
∣

∣ +
∣

∣PermT (n + 3)
∣

∣

= 2(2r + p + 2 − 2) + 2(2r + p + 3 − 2) = 2r+2 + 4p + 2

����� �
����� p = 2r − 2
 �� n = 2r + 2r − 2 = 2r+1 − 2� ���� ����� 5.3.17 ����

�� ��� ����

δ : PermT (n + 2) �→ Permd(T )
ev (2n)

δL : PermT (n + 2) �→ Permd(T )
ev (2n − 1)

δR : PermT (n + 2) �→ Perm
d(T )
odd (2n − 1)

��� �������	�
 ��� ��
� ��� �������	�� ���� �� ��	� 2n = 2(2r+1 − 2) = 2(2r+1 − 1) − 2

��� �� ����� 5.3.18 ��� ���

δM : PermT (n + 3) �→ Perm
d(T )
odd (2n)

�� ��� �������	��

�� n + 2 = 2r+1 = 2r + 2r = 2r + (2r − 1) + 1� �� �� ����������� 5.3.15 ��� �������

5.2.16

τd(T )(2n − 1) =
∣

∣

∣
Permd(T )

ev (2n − 1)
∣

∣

∣
+

∣

∣

∣
Perm

d(T )
odd (2n − 1)

∣

∣

∣

=
∣

∣PermT (n + 2)
∣

∣ +
∣

∣PermT (n + 2)
∣

∣ = 2(2r+1 + 2r − 2) + 2(2r+1 + 2r − 2)

= 2r+3 + 2r+2 − 8 = 2r+3 + 4(2r − 2)

τd(T )(2n) =
∣

∣

∣
Permd(T )

ev (2n)
∣

∣

∣
+

∣

∣

∣
Perm

d(T )
odd (2n)

∣

∣

∣
=

∣

∣PermT (n + 2)
∣

∣ + |FT (n + 2)|

= 2(2r+1 + 2r − 2) + 8(2r−1) + 2(2r − 1) = 2r+3 + 2r+2 − 6

= 2r+3 + 4(2r − 2) + 2

���



����� ������� p = 2r − 1� �� n = 2r + 2r − 1 = 2r+1 − 1� �� 2n = 2(2r+1 − 1) =

2(2r+1) − 2� 	
� �
�� ����	 5.3.17 	
� ����	 5.3.18 �	�� �� ��� �	��

δ : PermT (n + 2) �→ Permd(T )
ev (2n)

δL : PermT (n + 2) �→ Permd(T )
ev (2n − 1)

δR : PermT (n + 2) �→ Perm
d(T )
odd (2n − 1)

δM : PermT (n + 3) �→ Perm
d(T )
odd (2n)

	
� 
�� �
��������

�� n + 1 = 2r+1 = 2r + (2r − 1) + 1� 	
� n + 2 = 2r+1 + 1 = 2r + 2r + 1� �� ��

�
��������
 5.3.15

τd(T )(2n − 1) =
∣

∣

∣
Permd(T )

ev (2n − 1)
∣

∣

∣
+

∣

∣

∣
Perm

d(T )
odd (2n − 1)

∣

∣

∣
= |FT (n + 1)| + |FT (n + 1)|

= 8(2r−1) + 2(2r − 1) + 8(2r−1) + 2(2r − 1) = 2r+3 + 2r+2 − 4

= 2r+3 + 4(2r − 1)

τd(T )(2n) =
∣

∣

∣
Permd(T )

ev (2n)
∣

∣

∣
+

∣

∣

∣
Perm

d(T )
odd (2n)

∣

∣

∣
= |FT (n + 1)| + |FT (n + 2)|

= 8(2r−1) + 2(2r − 1) + 8(2r−1) + 2(2r) = 2r+3 + 2r+2 − 2

= 2r+3 + 4(2r − 1) + 2
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���
������� ��� �� ��� ��
����� �� 
�� N ��
���
� "
��	��� |ϕ(a)| = N ��
 �	�� a ∈ A#
���
� �	� �� �������	���
� ���� ���� 	 �	����	���
� �� �	� �� �������� ����
��
� 	
 ���

��
 ���
� ��
 ��� ��
���	���
 ���������� �� 	 !��� ���
� �� 	 ��
����� �	��� �
 �
��

��� ��
������ ��� �� �� �
���	
 	� ��� ���� �� ���� �
���
� �� ���
 ���� ���� �� ���������

$
����
 
���	
�� ��
�����
 �� �� ��	
� ���� 	 ��
����� ϕ �
 A 	
� ����
��
� ���

��
���	���
 ���������� �� ϕ(ω)� ��
 ���� 	��
����� ��
	
� ��
� ω� $���
 ��� �
������	�

���
 �� ��
���	���
 ���������� 	
� ��� ������
� �	�� ��
 	
 	
���
	
� ��
����� ϕ ��

�	� 
�� �� �������� �� ����
��
� ��� ��
���	���
 ���������� �� ϕ(ω) �	��� �
�� �
 ϕ�

%&'



����� �� � �	��� 
� �
�
������ ��		 �� M� �
 ���� �� ϕ ∈ M ��� 
��������
� �
�
	�����


� ϕ(ω) ��� �� ��	��	���� ���������	� �
� ��� �
�� ω� ��� �
��	��� ��
 �� �
� �� ���

�	��� M� ��� ��� �	��� M �� �
� ��
�� ������� ������		� ��� �������� ��
 �a �→ a� ���

��� �
�
	����� ��
 �0 �→ 1; 1 �→ 0� ��� �
�� �� M� � ������	 ������
� ��� ��� ����� ���


���� �
�
����� �� M�

�� ���� ����� 
� 
��������
� �
�
	������ ��� ���� �
��� ��� ���� 
� �
������ ���
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� ���
��������
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� ��� ���
��������
�� ����� ����� ��
� �� �
���
��� �
��� ����� ��� ���� 

����	�

������
�� �� ���� ����� ��� 
�� ������
� ������ 
��� #���� � 
��������
� ��
�
 G� �����

��� ������� 	����� 
� ��� 
��������
� �� G �� n� �� ����� � �
�� ω �
 ����

G = { Permω(i) | i ≤ n }?

$���� ����� ��� 
��������
�� ����� ��		 �
� 
���� �� � ������ �
��� ����� �
�	� �� �
��

�
�����
�� �
 ��

�� 
� G� ��� ���� �
�����
�� �
�	� 	��� �
 � 

����	� �������
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�������� �

�	
����	
�
���� �� πT

��� ������	�
�
�
�� ��� 
���� �
�	 �
� ���

�� 
� ����
� � 
��
��� � ��� ��
�� ���
��

0 : (12) 1 : (21)

01 : (132) (231) 00 : (123)

10 : (312) (213) 11 : (321)

010 : (2413) (1324) 001 : (1243) 100 : (3124)

101 : (4231) (3142) 011 : (2431) 110 : (4312)

0011 : (23541) (13542) 0010 : (12435) 1010 : (52413)

0110 : (25413) (35412) 0100 : (24135) 1011 : (42531)

1001 : (41253) (31254) 0101 : (14253) 1101 : (54231)

1100 : (53124) (43125)

00110 : (246513) (136524) 00101 : (125364) 10010 : (412536)

01100 : (364125) (254136) 01001 : (251364) 10100 : (524136)

10011 : (523641) (413652) 01011 : (253641) 10110 : (526413)

11001 : (641253) (531264) 01101 : (365241) 11010 : (652413)

���



011001 : (3751264) (2641375) 001011 : (1364752) 100101 : (4126375)

100110 : (6247513) (5137624) 001100 : (2475136) 101001 : (6251374)

001101 : (2476351) 101100 : (5264137)

010010 : (2513647) 101101 : (6375241)

010011 : (3624751) 110010 : (6412537)

010110 : (2637514) 110011 : (6413752)

011010 : (4762513) 110100 : (7524136)

0010110 : (13748625) 0110010 : (37512648) 1010011 : (73624851)

0011001 : (24861375) 0110011 : (37514862) 1011001 : (62741385)

0011010 : (25873614) 0110100 : (48625137) 1011010 : (74862513)

0100101 : (25137486) 1001011 : (51374862) 1100101 : (74126385)

0100110 : (37258614) 1001100 : (62485137) 1100110 : (75138624)

0101100 : (26375148) 1001101 : (62487351) 1101001 : (86251374)

0101101 : (37486251) 1010010 : (62513748)

00101101 : (248597361) (148597362) 00101100 : (137486259)

01001011 : (361485972) (261485973) 00110010 : (248613759)

01011010 : (485972613) (385972614) 00110100 : (259736148)

01101001 : (497261385) (597261384) 01001100 : (372596148)

10010110 : (613849725) (513849726) 01011001 : (273851496)

10100101 : (725138496) (625138497) 01100101 : (385127496)

10110100 : (849625137) (749625138) 01100110 : (386149725)

11010010 : (962513748) (862513749) 10011001 : (724961385)

10011010 : (725983614)

10100110 : (837259614)

10110011 : (738514962)

11001011 : (851374962)

11001101 : (862497351)

11010011 : (973624851)

���
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